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Basic Results and Concepts 

1. GENERAL INFORMATION 
1. Greek Letters Used 
a alpha e theta 
P beta <pphi 
ygamma \jI psi 
o delta ~ xi 
E epsilon 11 eta 
i iota szeta 

'A lambda 
2. Some Notations 
E belongs to uunion 
n intersection => implies 
¢:> implies and implied 
by 

3. Unit Prefixes Used 
Multiples and Prefixes 
Submultiples 
103 kilo 
102 hecto 
10 deca 
10-1 deci* 
10-2 centi* 
10-3 milli 
10-6 micro 

K kappa 't tau 
jlmu X chi 
vnu (0 Qmega 
n pi rcap. gamma 
prho fl cap. delta 
cr sigma L cap. sigma 

Ii!: doesnot belong to 
/ such that 

Symbols 

k 
h 
da 
d 
c 
m 
jl 

* The prefixes 'deci' and 'centi' are only used with the metre, e.g., Centimeter is a 
recognized unit of length but Centigram is not a recognized unit of mass. 
4. Useful Data 
e = 2.7183 1/ e = 0.3679 
n = 3.1416 l/n = 0.3183 
J2 = 1.4142 .J3 = 1.732 

loge2 = 0.6931 
loge10 = 2.3026 
1 rad. = 57017'45" 

viii 

loge 3 = 1.0986 
log10e = 0.4343 
10 = 0.0174 rad. 

a
Typewritten Text
iii



5 S t . ,ys ems 0 fU ·t nl s 
Quantity F.PS. System CGS. System M.K.S. System 
Length foot (ft) centimetre (cm) metre (m) 
Mass pound (lb) gram (gm) kilogram (kg) 
Time second (sec) second (sec) second (sec) 
Force lb. wt. dyne newton (nt) 

6. Conversion Factors 
1 ft. = 30.48 cm = 0.3048 m 1m = 100 cm = 3.2804 ft. 
1 ft2 = 0.0929 m2 1 acre = 4840 yd2 = 4046.77 m2 

lftJ= 0.0283 m 3 1 m3 = 35.32 ftJ 
1 m/ sec = 3.2804 ft/ sec. 1 mile /h = 1.609 km/h. 
II. ALGEBRA 
1. Quadratic Equation: ax2 + bx + c = 0 has roots 

-b + f(b2 
- 4ac) - b - f(b2 

- 4ac) a = V , ~ = __ ---'-V ___ _ 
2a 2a 

b c 
a. + ~ = - -, a~ = -. 

a a 
Roots are equal if b2 - 4ac = 0 
Roots are real and distinct if b2 - 4ac > 0 
Roots are imaginary if b2 - 4ac < 0 
2. Progressions 
(i) Numbers a, a + d, a + 2d ...... are said to be in Arithmetic Progression (A.P.) 

-- n--
Its nth term Tn = a + n- 1 d and sum Sn = - (2a+ n - 1 d) 

2 
(ii) Numbers a, ar, ar2, ...... are said to be in Geometric Progression (G.P.) 

1 a(l - rn) a 
Its nth term T = arn- and sum S = S = -- (r < 1) 

n n 1-r' 00 1-r 

(iii) Numbers l/a, l/(a + d), l/(a + 2d), .... are said to be in Harmonic Progression 
(H.P.) (i.e., a sequence is said to be in H.P. if its reciprocals are in A.P. Its nth term 

Tn = 1/ (a + n - 1 d). ) 

(iv) If a and b be two numbers then their 

Arithmetic mean = .!. (a + b), Geometric mean = ..{ab, Harmonic mean = 2ab/(a 
2 

+ b) 
(v) Natural numbers are 1,2,3 ... ,n. 

1:n = n(n + 1) 1:n2 = n(n + 1) (2n + 1) 1:n3 = {n(n
2
+ 1)}2 

2 ' 6' 

ix 
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(vi) Stirling's approximation. When n is large n ! - J21tn . nn e-n. 
3. Permutations and Combinations 

n p = n ! . nC = n ! = n Pr 

r (n _ r)!' r r ! (n - r) ! r ! 

ne = ne ,ne = 1 = ne 
n-r ron 

4. Binomial Theorem 
(i) When n is a positive integer 
(1 + x)n = 1 + nCl X + nC2X2 + nC3x3 + ....... + nCnxn. 
(ii) When n is a negative integer or a fraction 

(1 + xt = 1 + nx + n(n - 1) x2 + n(n - 1) (n - 2) x3 + ..... ~. 
1.2 1.2.3 

5. Indices 
(i) am . an = am+n 

(ii) (am)n = amn 

(iii) a-n = 1/an 

(iv) n J; (i.e., nth root of a) = a1
/ n. 

6. Logarithms 
(i) Natural logarithm log x has base e and is inverse of ex. 
Common logarithm IOglOX = M log x where M = logloe = 0.4343. 
(ii) loga 1= Oi logaO = - ~(a > 1) i loga a = 1. 
(iii) log (mn) = log m + logn i log (min) = log m -log ni log (mn) = n log m. 
III. GEOMETRY 
1. Coordinates of a point: Cartesian (x ,y) and polar (r ,8). 
Then x = r cos 8, Y = r sin 8 

or r=~(x2 +y2), 8=tan-1 (~} 
Y 

p 

r 
y 

x x 

x 
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Distance between two points 

(Xl' Y 1) and (X2 ,Y 2) = J"'""[ (-X-2 -_-x-l-)2-+-(Y-2-_-Y-l-)2-:O-] 

Points of division of the line joining (Xl, Yl) and (X2' Y2) in the ration ml : m2 is 

(
IDIX2 +ID2Xl , IDIY2 +ID2Yl) 

IDl + ID2 IDl + ID2 

In a triangle having vertices (Xl, Yl), (X2, Y2) and (X3, Y3) 

1 Xl Yl 1 
(i) area = - x2 Y 2 1. 

2 x3 Y3 1 

(ii) Centroid (point of intersection of medians) is 

( 
Xl + X2 + X3 Y 1 + Y 2 + Y 3 ) 

3 ' 3 

(iii) Incentre (point of intersection of the internal bisectors of the angles) is 

( 
aXl + bX2 + cx3 , ay 1 + by 2 + cy 3 ) 

a+b+c a+b+c 

where a, b, c are the lengths of the sides of the triangle. 
(iv) Circumcentre is the point of intersection of the right bisectors of the sides of 
the triangle. 
(v) Orthocentre is the point of intersection of the perpendiculars drawn from the 
vertices to the opposite sides of the triangle. 
2. Straight Line 

(i) Slope of the line joining the points (Xl, Yl) and (X2' Y2) = Y2 - Yl 
X2 - Xl 

Sl fth 1· b o· a. coeff,of X ope a e me ax + Y + c = IS - -l.e., - --....:.--
b coeff,of Y 

(ii) Equation of a line: 
(a) having slope m and cutting an intercept can y-axis is Y = mx + c. 

(b) cutting intercepts a and b from the axes is ~ + Y... = 1. 
a b 

(c) passing through (Xl, Yl) and having slope m is Y - yl = m(x - Xl) 
(d) Passing through (Xl, Y2) and making an La with the X - axis is 
x- Xl _ Y - Yl _ 
--- -r 
cos e sin e 

(e) through the point of intersection of the lines alx + btY + Cl = 0 and a2X + b2y + 
C2 = 0 is alX + blY + Cl + k (a2x + b2y + C2) = 0 

(iii) Angle between two lines having slopes ml and m2 is tan-l IDl - ID2 
1- IDIID2 

xi 
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Two lines are parallel if ml = m2 
Two lines are perpendicular if mlm2 = -1 
Any line parallel to the line ax + by + c = 0 is ax + by + k = 0 
Any line perpendicular to ax + by + c = 0 is bx - ay + k = 0 
(iv) Length of the perpendicular from (Xl, Yl)of the line ax + by + c = O. is 
aXl + bYl + C 

~(a2 +b2) . 
y 

o 
3. Circle 
(i) Equation of the circle having centre (h, k) and radius r is 
(x - hF + (y - kF = r2 

x 

(ii) Equation x2 + y2 + 2gx + 2fy + c = 0 represents a circle having centre (-g, -f) 

and radius = ~(g2 + f2 - c). 

(iii) Equation of the tangent at the point (Xl, Yl) to the circle x2 + y2 = a2 is XXl + yyl 
= a2• 

(iv) Condition for the line y = mx + c to touch the circle 

X2 + y2 = a2 is c = a ~(1 + m 2). 

(v) Length of the tangent from the point (Xl, Yl) to the circle 

X2 + y2 + 2gx + 2fy + C = 0 is ~(xi - yi + 2gxl + 2fyl + c). 

4. Parabola 
(i) Standard equation of the parabola is y2 = 4ax. 
Its parametric equations are X = at2 , y = 2at. 
Latus - rectum LL' = 4a, Focus is S (a,O) 
Directrix ZM is x + a = O. 

xii 
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y 

M P (XII Yl) 
0 
II 
ce 
+ 
X 

Z A 

(ii) Focal distance of any point P (Xl, YI ) on the parabola 
y2 = 4ax is SP = Xl + a 
(iii) Equation of the tangent at (Xl' YI) to the parabola 
y2 = 4ax is YYI = 2a (x + Xl) 

(iv) Condition for the line y = mx + c to touch the parabola 
y2 = 4ax is c = a/m. 

X 

(v) Equation of the normal to the parabola y2 = 4ax in terms of its slope m is 
y = mx - 2am - am3. 

5. Ellipse 
(i) Standard equation of the ellipse is 
x2 y2 
-+-=1 
a2 b2 . 

M ········· .. · .. C ........ · .. 

y M' 

B P (x, y) 

. .... S' 
r---~--~--------~----~------+--;~X 
Z A S 

(-ae,O) 

L' 

C A' Z' 

B' 

xiii 

a
Typewritten Text
viii



Its parametric equations are 
x = a cos 8, y = b sin 8. 

Eccentricity e = ~(1- b2 j a2
) . 

Latus - rectum LSL' = 2b2/a. 
Foci S (- ae, 0) and S' (ae, 0) 
Directrices ZM (x = - a/ e) and Z'M' (x = a/ e.) 
(ii) Sum of the focal distances of any point on the ellipse is equal to the major axis 
i.e., 
SP + S'P = 2a. 
(iii) Equation of the tangent at the point (Xl' Yl) to the ellipse 
x2 y2 xx yy 
-+-=lis-l +_1 =1 
a2 b2 a2 b2 . 
(iv) Condition for the line y = mx + c to touch the ellipse 
x2 y2 r~---:c-
-+ - =1 is c = ~(a2m2 + b2). 
a2 b2 

6. Hyperbola 
(i) Standard equation of the hyperbola is 
x2 y2 
- - - =1. 
a2 b2 

Its parametric equations are 
x = a sec 8, y = b tan 8. 

Eccentricity e = ~r(l--t-· -b-2 -j-a-2-), 

Latus - rectum 15L' = 2b2/ a. 

y 

M' 

Z' C 

Directrices ZM (x = a/e) and Z'M' (x = - a/e). 

M 

Z 
:S 

(ii) Equation of the tangent at the point (Xl' Yl) to the hyperbola 

xiv 
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2 2 
~ _ L = 1 is xX1 _ yy 1 = 1. 
a2 b2 a2 b2 

(iii) Condition for the line y = mx + c to touch the hyperbola 
x2 y2 , ___ _ 
-- - = 1 is c = ~(a2m2 _ b2) 
a2 b2 

. x2 y2 X Y X Y 
(IV) Asymptotes of the hyperbola - - - = 1 are - + - = 0 and - - - o. 

a2 b2 a b a b 
(v) Equation of the rectangular hyperbola with asymptotes as axes is xy = c2. Its 
parametric equations are x = ct, Y = c/ t. 
7. Nature of the a Conic 
The equation ax2 + 2hxy + by2 + 2gx + 2fy + c = 0 represents 

a h g 
(i) a pair of lines, if h b f (=~) = 0 

g f c 

(ii) a circle, if a = b, h = 0, ~ 7; 0 
(iii) a parabola, if ab - h2 = O,c ~ 7; 0 
(iv) an ellipse, if ab - h2 > 0, ~ 7; 0 

. (v) a hyperbola, if ab-h2 < 0, ~ 7; 0 
and a rectangular hyperbola if in addition, a + b = O. 
8. Volumes and Surface Areas 
Solid Volume Curved Surface 

Area 
Cubelside a) a3 4a2 

Cuboid (length I, lbh 2 (1 + b)h 
breadth b, height 
h) 
Sphere (radius r) 4 _ nr3 -

3 
Cylinder (base nr2h 2nrh 
radius r, height 
h) 
Cone 1 

-nr2h 
nrl 

3 

where slant height 1 is given by 1 = ~(r2 + h2). 

xv 

Total Surface 
Area 
6a2 

2 (lb + bh + hI) 

4m2 

2m (r + h) 

nr (r + 1) 
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IV. TRIGONOMETRY 
1. 
90 = a a 30 
sin 9 a 1/2 

cos 9 1 J3 -
2 

tan 9 a 1/J3 

45 

1/12 

1/12 

1 

60 90 180 

J3 1 a 
-

2 
1/2 a -1 

J3 00 a 
2. Any t-ratio of (n. 900 ± 9) = ± same ratio of 9, when n is even. 
= ± co - ratio of 9, when n is odd. 

270 360 
-1 a 

a 1 

-00 a 

The sign + or - is to be decided from the quadrant in which n. 900 ± 9 lies. 
1 

e.g., sin 5700 = sin (6 x 900 + 300) = -sin 300 = - 2"' 
tan 3150 = tan (3 x 900 + 450) = - cot 450 = - 1. 
3. sin (A ± B) = sin A cos B ± cos A sin B 
cos (A + B) = cos A cos B ± sin A sin B 
sin 2A = 2sinA cosA = 2 tan A/(1 + tan2 A) 

2 . 2 . 2 2 1 - tan2 A 
cos 2A = cos A - sm A = 1 - 2 sm A = 2 cos A-I = . 

tanA±tanB 2 tan A 
4. tan (A ± B) = ; tan 2A = 2' 

1 + tanAtanB 1 - tan A 

5. sin A cos B = ..!. [sin (A + B) + sin (A - B)] 
2 

cos A sin B = ..!. [sin (A + B) - sin (A - B)] 
2 
1 

coa A cos B = - [cos (A + B) + cos (A - B)] 
2 

sin A sin B = ..!. [cos (A - B) - cos (A + B)]. 
2 

6 . C . D 2 . C+D C-D . SIn + sIn = sIn -- cos --
2 2 

C+D C-D 
sin C - sin D = 2 cos -- sin --

2 2 
C+D C-D 

cos C + cos D = 2 cos -- cos --
2 2 

C+D C-D 
cos C - cos D = - 2 sin -- sin --

2 2 
7. a sin x + b cos x = r sin (x + 9) 

xvi 

1 + tan2 A 
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a cos x + b sin x = r cos (x - a) 

where a = r cos, a, b = r sina so that r = ~(a2 + b2), a = tan-1 (~) 
8. In any ~ABC: 
(i) al sin A = bl sin B = cl sin C (sine formula) 

b2 + c2 _ a2 
(ii) cos A = . (cosine formula) 

2bc 
(iii) a = b cos C + C cos B (Projection formula) 

(iv) Area of ~ABC = .! be sin A = ~s(s - a) (s - b) (s - c) 
2 

1 
where s = -(a + b + c). 

2 
9. Series 

2 3 
(i) Exponential Series: ex = 1 + ~ + ~ + ~+ ...... 00 

I! 2! 3! 

(ii) sin x, cos x, sin hx, cos hx series 

. x3 x5 

smx = x - - + - - ...... 00, 
3! 5! 

x2 X4 
cos X = 1 - - + - - ...... 00 

2! 4 !. 

. x3 xS 

sm h x = x + - + - + ...... 00, 
3! 5! 

x2 X4 
coshx=l+ -+ -+ ..... 00 

2! 4! 
(iii) Log series 

x2 x3 

log (1 + x) = x - -+ - - ..... 00, 
2 3 

(iv) Gregory series 

[ 
x2 x

3 
) log (1 - x) = - x + 2" + "'3 + .... 00 

~ ~ _ 1 l+x ~ ~ 
tan -1 X = X - - + - - ..... 00, tan h 1 X = - log --= x + - + - + .... 00. 

3 5 2 I-x 3 5 

10. (i) Complex number: z = x + iy = r (cos a + i sin a) = rei9 

(ii) Euler's theorem: cos a + i sin a = ei6 

(iii) Demoivre's theorem: (cos a + isin a)n = cos na + i sin n a. 
eX _ e-x eX + e-x 

11. (i) Hyperbolic functions: sin h x = ; cos h x = ; 
2 2 

sin h x cos h x 1 1 
tan h x = . cot h x = ; sec h x = . cosec h x = --

cosh x ' sin h x cos h x ' sin hx 
(ii) Relations between hyperbolic and trigonometric functions: 
sin ix = i sin h x ; cos h x = cos h x ; tan ix = i tan h x. 
(iii) Inverse hyperbolic functions; 
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sin h-1x = log[x + f;.271 J; COSh-IX = log[x + ~X2 -1]; tan h-1 x = ..!. log 1+ x . 
2 1 - x 

V.CALCULUS 
1. Standard limits: 

(i) Lt .xn - an = nan- 1 I 

x ~a x- a 

n any rational number 
(iii) Lt (1 + x)l/X = e 

x~o 

aX - 1 
(v) Lt -- = log ea. 

x~o x 

2. Differentiation 
. d dv du 

(1) - (uv) = u - + v -
dx dx dx 

du du dy . 
- = -. - (cham Rule) 
dx dy dx 

(ii) ~(eX) = eX 
dx 

d 
- (loge x) = 1jx 
dx 

("') d (. ) . 111 dx sIn x = cos x 

d 
- (tan x) = sec2 x 
dx 
d 

- (sec x) = sec x tan x 
dx 

(iv) ~ (sin-IX) = 1 
dx ~(1 _ x2) 

d -1 1 - (tan x)=--
dx 1 + x2 

d _ 1 
- (sec Ix) = ---;r==== 
dx x~(x2 _ 1) 

(v) ~ (sin h x) = cos h x 
dx 

(ii) Lt sin x = 1 
x~o x 

(iv) Lt xlix = 1 
X~ 00 

~ (u) = v duj dx - udvjdx 
dx v v 2 

~ (ax+bt =n(ax+bt-1 .a 
dx 

d 
t<aX) = aX logea 

d 1 
dx 

(logax) = --­
x log a 

~ (cos x) = - sin x 
dx 
d 

- (cot x) = - cosec2x 
dx 
d 

- (cosec x) = - cosec x cot x. 
dx 
d 1 -1 - (cos- x) = -;==== 
dx ~(1 _ x2) 

d -1 -1 - (cot x)=--
dx 1 + x2 

d -1 - (cosec-Ix) = --;==:=== 
dx x~(X2 -1) 

~ (cos h x) = sin h x 
dx 

d d 
- (tan h x) = sech2 x - (cot h x) = -cosec h2 x. 
dx dx 
(vi) Dn (ax + b)m = m (m -1) (m - 2) ...... (m - n + 1) (ax + b)m - n . an 
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Dn log (ax + b) = (- 1) n-1 (n - 1) ! an/(ax + b)n 
Dn (ernx) = mnemx Dn (arnx) = mn (loga)n. arnx 

Dn [Sin (ax ~ b)] = (a2 + b2)n/2 eax [sin(bX + c + n tan-
1 

b / a) ]. 
cos{bx c) cos(bx+c+ntan-1b/a) 

(vii) Leibnitz theorem: (UV)n 
= Un + nC1Un-1V1+ nC2Un-2V2 + ..... + nCrUn_rVr + ..... + nCnVn. 
3. Integration 

n+1 

(i) fx
n 

dx = : + 1 (n -:/=- 1) f~ dx = loge x 

fex dx = eX fax dx = aX /logea 

(ii) fSin x dx = - cos x fcos x dx = sin x 

ftan x dx = - log cos x fcot x dx = log sin x 

fsec x dx = log(sec x + tan x) = log tan (1 + %) 

fcosec x dx = log(cosec x - cot x ) = log tan (%) 
fsec 2 x dx = tanx 

( ... ) J dx 1 -1 X 111 = - tan 
a2 + x2 a a 

J dx 1 I a+ x 
a2 _ x2 = 2a og a - x 

J dx 1 I x-a 
=- og--

x2 _ a2 2a a + x 

J 
x~(x2_a2) a2 x x a2 x+~(x2_a2) 

~(x2 _ a2) dx = + - cosh-1 -. = - ~(X2 _ a2) - - log -~--"'-
2 2 a 2 2 a 

(v) feax sin bx dx = 2 e
ax 

2 (a sin bx - b cos bx) 
J a +b 

xix 
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reax cos bx dx = 2 e
ax 

2 (a cos bx + b sin bx) 
J a + b 

(vi) fSin h x dx = cos h x fcos h x dx = sin h x 

f tan h x dx = log cos h x f cot h x dx = log sin h x 

fsec h 2 x dx = tan h x fcosech2 x dx = - cot h x. 

(vii) £/2 sinn x dx = r/2 
cosn x dx 

(n - 1) (n - 3)(n - 5) .... (1t I if. ) = X -, on y n IS even 
n(n - 2)(n - 4) 2 

£/2 . m n d (m - 1) (m - 3) .... x (n - 1) (n - 3) .... 
SIn x cos x x = -'----...:..--'-----'-----'.----''-'----'--

(m + n) (m + n - 2) (m + n - 4) .... 

x (% ' only if both m and n are even ) 

(viii) r f (x) dx = r f(a - x) dx 

fa f(x) dx = 2 r f(x) dx, if f (x) is an even function. 

= 0, if f(x) is an odd function. 

12a 
f(x) dx = 2 r f(x) dx, if f(2a - x) = f(x) 

= 0, if f(2a - x) = - f(x). 
VI C d' t t oor ma e sys ems 

Polar coordinates Cylindrical 
(r,8) coordinates (p, ~ , z) 

Coordinate x = r cos 8 x = p cos <I> 

transforrna tions y = r sin 8 y = p sin <I> 

z=z 
Jacobian 8(x, y) 8(x, y, z) 

=r =p 
8(r, 8) 8(p, ~, z) 

(Arc -length)2 (ds)2 = (dr)2 + r2 (dS)2= (d p)2 + p2 
(d8)2 (d<l>)2 + (dZ)2 
dx dy= rd8 dr 

Volurne- element dV= p d pd<l> dz 

xx 

Spherical polar 
coordinates (r, 8, <1» 

x = r sin8 cos <I> 

y = r sin 8 sin <I> 

z = r cos 8 

8(x, y, z) 2· 8 =r sm 
8(r, 8,<1» 

(ds)2 = (dr)2 + r2 
(d8)2 + (r sin 8)2 

(d<l>)2 
dV = r2 sin 8 dr d8 

d<l> 
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UNIT-I 
Differential Equations 



INTRODUCTION 

Chapter 1 

Basic Concepts of 
Differential Equations 

Differential equations are of fundamental importance in engineering mathematics 
because many physical laws and relations appear mathematically in the form of 
such equations. The mathematical formulation of many problems in science, 
engineering, Economics, sociology, physiology, Biology, Finance and 
management, give rise to differential equations. For example, the problem of 
motion of a satellite, the flow of current in an electric circuit, the growth of a 
population, the changes in price of commodities, decay of radioactive substance, 
cooling of a body etc. lead to differential equations. Each of the above problems 
are characterised by some laws which involve the rate of change of one or more 
quantities, with respect to the other quantities. The laws characterising these 
problems when expressed mathematically, become equations involving 
derivatives and such equations are called differential equations. 

DEFINITION 

. Any relation between known functions and an unknown function is called a 
differential equation if it involves the differential coefficient (or coefficients) of 
the unknown function. 

It is usual to denote the unknown function by y. Finding the unknown function is 
called solving or integrating the differential equation. The solution or integral of 
the differential equation is also called its primitive, because the differential 
equation can be regarded as a relation derived from it. 

Equations such as 

(i) (1) 

(ii) (2) 
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(iii) (3) 

(iv) 
au au au 

x- + y - + Z - =xyz 
Ox 8y oz (4) 

(v) (5) 

(vi) (6) 

Which involve differential coefficients are called the differential equations. 

Differential equations which involve only one independent variable are called 
ordinary differential equations. Equations (i) (ii), (iii) and (vi) are of this type. 

Differential equations which involve two or more independent variables are 
called partial differential equations. Equations (iv) and (v) are of this type 

The order of a differential Equation. The order of a differential equation is the 
order of the highest derivative involving in the equation. 

The Degree of a differential Equation. The degree of a differential equation is 
the degree of the highest order derivative involving in the equation, When the 
equation is free from radicals and fractional powers. 

For example- The differential equations 

dy + xy = a (1) 
dx 

d2 d' J +x-I. =2 
dx2 dx 

(2) 

( ddYx)2 + eX = sinxy (3) 

(V.P.T.V.2009) 

d2y = [1 + (dy )5]1/3 
dx2 dx 

(4) 

4 
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The equation (1) is of the first order and first degree. Equation (2) is of second 
order and first degree. Equation (3) is of third order and fourth degree. Equation 
(4) is of second order and third degree 

Formation of A Differential Equation 

Example 1. Find the differential equation of the family of circles of radius r whose 
centre lies on the x axis. (LA.S. 1993, 95, 96) 

Solution. The equation of the circle with radius r and centre on x axis is 

(x _ a)2 + y2 = r2 

Differentiating (1) with respect to x, we get 

2 (x - a) + 2y dy = 0 
dx 

Eliminating 'a' between (1) and (2), we get 

(-y :~ J + y2 = r2 

or 

Which is the required differential equation. 

(1) 

Example 2. Find the differential equation of the family of parabolas with foci at 
the origin and axis along the x-axis. (LA.S.1994) 

Solution. The equation of the parabolas with foci at the origin and axis along the 
x axis is given by 

~2 2 x+2a x +y =--
N 

y 

p(x,y) o 
1I1------+--.".~-

~ 
+ 
x (-a,D) 

---+-a".----+-=--f------+ X 

2a 

5 
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or 
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x2 + y2 = x2 + 4ax + 4a2 

y2 = 4a (x + a) 

Differentiating with respect to x, we get 

2y dy = 4a 
dx 

=> Y dy = 2a 
dx 

Eliminating a between (1) and (2), we get 

y2 = 2y dy [x + ..!. y dY] 
dx 2 dx 

or 
( )

2 
dy dy 

Y - +2x--y=0 
dx dx 

which is the required differential equation. 

(1) 

(2) 

Example 3. Determine the differential equation whose set of independent 
solution is {ex, xex, X2 ex} 

Solution. Here we have 

y = Clex + C2 x eX + C3 X2 eX 

Differentiating both sides of (1) w.r.t "x" we get 

y' = Clex + C2 x eX + C2 ex + C3 x2 ex + C32x eX 

=> y' - y = C2 eX + 2 C3X eX 

Again differentiating both sides, we get 

y" - y' = C2 eX + 2 C3 x ex + 2 C3 ex 

y" - y' = y' - y + 2 C3 eX 

y" - 2y' + Y = 2C3 eX 

Again differentiating (3), we get 

y"' - 2y" + y' = 2 C3 ex 

using (2) 

y"' - 2y" + y' = y" - 2y' + Y using (3) 

6 

(U.P.T.V. 2002) 

(1) 

(2) 

(3) 
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yilt _ 3y" + 3yt - Y = 0 

or 
d3y d2y dy 
dx3 - 3 dx2 + 3 dx - Y = 0 

is the required differential equation 

EXERCISE 

1. Form the differential equation of simple harmonic motion given by 
x = A cos (nt + a) 

d2x 
Ans. - + n 2x = 0 

dt2 

2. Obtains the differential equation of all circles of radius a and centre (h, k) and 
hence prove that the radius of curvature of a circle at any point is constant. 

3 Sh th A B' I' f d
2
v 2 dv 0 . ow at v= - + Isasoutiono - + - - = 

r dr2 r dr 

4. Show that Ax2 + By2 = 1 is the solution of x {y d
2

y + (dy )2} = Y dy 
dx2 dx dx 

5. By eliminating the constants a and b obtain differential equation of which 
xy = aeX + be-x + x2 is a constant. 

Objective Type of Questions 

Each question possesses four alternative answers, but only one answer is correct 
tick mark the correct one. 

1. Degree and order of the differential equation 2 (dy )3 + 4 = [d
2y )3/2 are 

dx dx2 

respectively. 

(a) order 2, degree 3 

(c) order 3, degree 2 

Ans. (a) 

. (b) 

(d) 

7 

order 1, degree 3 

order 3, degree 1 
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2. The degree of the differential equation [y + x ( ~;-J f' ~ ~ is given by 
(a) 2 (b) 3 

Ans. (c) 

(c) 4 (d) 1 

(R.AS.1993) 

[ 
2]4/3 

3. The order of the differential equation 1 + (::r ) ~ ::;- is given by 

(a) 1 (b) 2 

Ans. (c) 

(c) 3 (d) 4 

(R.AS.1993) 

4. If x = A cos (mt - a) then the differential equation satisfying this relation is 

dx 2 d 2x (a) - = 1-x (b) - = _a2x 
dt dt2 

dx 2 
(d) - =-m x 

dt 

5. The equation y dy = x represents a family of 
dx 

(a) Circles 

( c) parabolas 

Ans. (b) 

8 

(b) hyperbola 

(d) ellipses 

(LAS. 1993) 

(V.P.P.C.S.1995) 



Chapter 2 

.Differential Equations of First Order 
and First Degree 

INTRODUCTION 

An equation of the form F (x, y, :~) = 0 in which x is the independent variable 

and dy appears with first degree is called a first order and first degree 
dx 

differential equation. It can also be written in the form : = f (x, y) or in the 

form Mdx + Ndy = 0, where M and N are functions of x and y. Generally, it is 
difficult to solve the first order differential equations and in some cases they may 
ndt possess any solution. There are certain standard types of first order, first 
degree equations. In this chapter we shall discuss the methods of solving them .. 

V ARIABLES SEPARABLE 

. If the equation is of the form fl (x) dx = h (y) dy then, its solution, by integration 

is Ifl (x)dx = f f2 (y) dy + C 

where C is an arbitrary constant. 

Example 1. Solve dy =ex-y +x2 e-Y 
dx 

Solution. The given equation is 

dy = eX - Y + x2 e-Y 

dx 

or eY dy = (ex + X2) dx 

3 

Integrating, eY = eX + ~ + c, where C is an arbitrary constant is the required 
3 

solution. 

Example 2. Solve (y - x :~) = a (y2 + :~) 

9 
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Solution. The given equation is 

or 

or 

or 

or 

or 

y _ x dy = ay2 + a dy 
dx dx 

(a + x) dy = (y _ ay2) 
dx 

dy dx 
Y _ ay2 a+x 

dy dx 
Y _ ay2 a+x 

dy __ d_x_ 
y(l - ay) x+a 

[
a 1] d dx I" . I fr . -- + - y = --, reso vmg mto partia actions. 

1 - ay y x + a 

Integrating, [-log (1 - ay) + log y] = log (x + a) + log C 

where C is an arbitrary constant 

or log (-y-) = log {C (x + a)} 
1- ay 

or -y- =C(x+ a) 
1- ay 

or y = C (x + a) (1 - ay) is the required solution. 

. Example 2. Solve (x + y)2 :~ = a2 

Solution. Let x + y = v 

then from (1) on differentiating with respect to x, we have 

1 + dy = dv 
dx dx 

or dy = (dV -1) 
dx dx 

Substituting these values from (1) and (2) in the given equation, we get 

10 
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or 

or 
v 2 

2 2 dv = dx 
a +v 

or 

or [1- a ] dv = dx 
a2 + v2 

Integrating, 

v - a2 ; tan-I (;) = x + C 

where c is an arbitrary constant 

or v - a tan-I (via) = x + c 

or (x + y) - a tan {(x + Y)/a} = x + c, from (1) 

or y - a tan-I {(x + y)/a} = C 

Method of Solving Homogeneous Differential Equation 

It is a differential equation of the form 

dy _ ~ (x, y) -- , 
dx \jI (x, y) (1) 

where ~ (x, y) and \jI (x, y) are homogeneous functions of x and y at the same 
degree, n (say) 

Such equation can be solved by putting y = vx 

where dy = v + x dy 
dx dx 

Now the given differential equation is 

dy = ~ (x, y) = xn ~ (y Ix) 
dx \jI (x, y) xn \jI (y I x) 

11 

(2) 
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dy = ~ (Y/x) = f (r), say 
dx IjI (y Ix) x 

or 

Substituting the values of y and dy from, (1) and (2) in (3), 
dx 

we have 

or 

or 

dv 
v + x - = fey) 

dx 

dv 
x - = f (v) - v 

dx 

dv dx --
fey) - v x 

The variables has now been separated and its solution is 

f dv = log x + c where c is an arbitrary constant. 
fey) - v 

After integration v should be replaced by (y Ix) to get the required solution. 

Example 4. Solve x dy - Y dx = ~(X2 + y2) dx 

Solution. The given equation can be rewritten as 

x dy _ Y = ~(X2 + y2) 
dx 

or x (v + x ::) -vx = ~(X2 + v2x2, puttingy=vx 

or 

or 

(3) 

Integrating, log {v + ~ (v2 + 1)} = log x + log c, where c is an arbitrary constant 

or 

or 

{v + ~ (v2 + 1)} = Cx 

[y+~(y2 +x2)]/x=CX 

12 

.: v=y/x 



Differential Equations of First Order and First Degree 

or 

Example 5. Solve (1 + ex/y) dx + eX/Y [1 - (x/y)] dy = 0 

Solution. The given equation may be rewritten as 

(V.P.P.C.S. 1999) 

e X
/ Y (1 _ ~) + (1 + e X

/ Y) dx = 0 
Y dy 

or e
V 

(l-v)+(l+e
V

) (v+y :~) =0 

. dx dv 
putting x = vy or - = v + Y -

dy dy 

or dv 
eV - veV + v + veV + (1 + ev) y - = 0 

dy 

or 
dv 

(v + ev) + (1+ ev) y - = 0 
dy 

or (1 + e V) dv + dy = 0 
v+ eV y 

Integrating, log (v + ev) + log y = log C, when C is an arbitrary constant 

or 

or 

or 

or 

log {(v + ev) y} = log C 

(v + ev) y = C 

[~ + e
X
/Y ]y = C, putting v = x/y 

(x + y ex/y) = C 

Equations Reducible to Homogeneous Form. 

dy ax + by + C 
Consider the equation - = ----'---

dx a' x + b'y + C' 

where a:b * a':b' 

(1) 

If C and C' are both zero, the equation is homogenous and can be solved by the 
method of homogeneous equation. If C a~d C' are not both zero, we change the 
variables so that constant terms are no longer present, by the substitutions x = X 
+ hand y = Y + k Where hand k are constants yet to be chosen. (2) 

13 
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. From (2) dx = dX and dy = dY 

dY a (X + h) + b (Y + k) + C 
and so (1) reduces to - = --'----'---'---'---

dX a' (X + h) + b' (Y + k) + C 

or 
_dY_ _ aX + bY + (ah + bk + c) 

a ' X + b' Y + (a' h + b' k + C) dX 
(3) 

Now, choose hand k such that 

ah + bk + c = 0 and a'h + b'k + c' = 0 (4) 

Then (3) reduces to dY = aX + bY , which is homogeneous and can be solved 
dX a'X + b'Y 

by the substitution Y = vx. Replacing X and Y in the solution so obtained by x-h 
and y-k [from (3)] respectively 

We can get the required solution is terms of x and y, the original variables. 

A Special Case When a:b = a':b' 

In this case we cannot solve the equations given by (4) above and the differential 
equation is of the form 

dy = ax + by + C 
dx kax + kby + C 

In this case the differential equation is solve by putting 

v = ax + by 

Differentiating both sides of (6) with respect to x, we get 

dv = a + b dy or dy = ! (dV _ a) 
dx dx dx b dx 

:. The equation (5) reduces to 

! (dV _ a) = v+C ,or dv = a + b(v+C) 
b dx kv + C dx kv+C 

(5) 

(6) 

The variables, are now separable, and we can determine v in terms of x. 
Replacing v by ax + by in this solution, we can obtain the final solution. 

Example 6. Solve (2x + y - 3) dy = (x + 2y - 3) dx 

dy x + 2y-3 
Solution. The given differential equation is - = ---=--

dx 2x + Y - 3 
(1) 

14 
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pu tting x = X + hand y = Y + k 

dY (X + h) + 2 (Y + k) -3 
the equation (1) reduce to - = -"----'----------'--

dX 2 (X + h) + (Y + k) -3 

or 
dY = X + 2Y + (h + 2K - 3) 

dX 2X + Y + (2h + K - 3) 

Choose hand k such that 

h + 2k - 3 = 0 and 2h + k - 3 = 0 

Solving the equations (4) we have h = 1 = k 

:. From (2) x = X + 1 and y = Y + 1 

or X = x - 1 and Y = Y - 1 

dY X + 2Y 
Also (3) reduce to - = ---

dX 2X+ Y 

. dv X + 2v X 
Putting Y = vX v + X - = --­

, dX 2X + vX 

or v + X dv = 1 + 2v 
dX 2+ v 

or X dv = 1 + 2v _ v = 1 + 2v - 2v - v2 

dX 2+v 2+v 

or 2 + v dv = dX 
1_v2 X 

or [~ _1_ + ~ _1_] dv= dX 
21+v 21-v X 

2+v 

(2) 

(3) 

(4) 

(5) 

Integrating, ~ log (1 + v) - ~ log (1 - v) = log X + log C, where C is an arbitrary 
2 2 

constant 

or 

or 

log [ 1 + V3] = 2log (CX) = log (CX)2 
(1- v) 

1 + v = (CX)2 
(1 - V)3 

15 
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x + Y =C2 

(X _ y)3 

(x -1) + (y -1) = C2 from (5) 
{(x -1) - (y _1)}3 

or x + y - 2 = C2 
(x _ y)3 

Example 7. Solve (2x + 2y + 3) dy - (x + y + 1) dx = 0 

S I t · Th' .. dy x + Y + 1 o u Ion. e gIVen equation IS - = ---=---

put x + y + 1 = v 

. Differentiating 

dx 2x + 2y + 3 

1 + dy = dv or dy = dv _ 1 
dx dx dx dx 

dv v 
Therefore (1) reduce to - -,1 = --

dx 2v + 1 

or 

or 

or 

dv 3v + 1 ----
dx 2v+1 

2v + 1 dv = dx 
3v+1 

(2 1) - + dv= dx 
3 3 (3v + 1) 

Integrating, ~ v + ..!. log (3v + 1) = x + c, where C is an arbitrary constant 
3 9 

or 

or 

or 

6v + log (3v + 1) = 9x + CI, where Cl = 9C 

6 (x + Y + 1) + log (3x + 3y + 4) = 9x + CI 

6y - 3x + log (3x + 3y + 4) = C2 where C2 = CI + 6 

16 
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Linear Differential Equations 

A differential equation of the form dy + Py = Q 
dx 

where P and Q are constants or functions of x alone (and not of y) is called a 
linear differential equation of the first order in y 

its integrating factor = elp dx 

Multiplying both sides of (1) by this integrating factor (I.F.) and then integrating 
we get 

y. elPdx = C + J Q. elPdx dx, where C is an arbitrary constant, is the complete 

solution of (1) 

Example 8. Solve dy + 2y tan x = sin x, given that y = 0 when x = rt/3. 
dx 

(U.P.P.C.S. 2003) 

Solution. Here P = 2 tan x and Q = sin x 

... Integrating factor = elpdx = el2tan x dx 

= e210g sec x 

Multiplying the given equation by sec2x, we get 

sec2x (~~ + 2y tan x) = sin x sec
2
x 

d 
or '- (y sec2x) = sec x tan x 

dx 

Integrating both sides with respect to x, we get 

y sec2 x = C + J sec x tan x dx, where C is an arbitrary constant 

or ysec2x=C+secx 

it is given that when x = rtj3, y = 0 

2 rt rt 
... from (1) 0 x sec - = C + sec -

3 3 

17 
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or 0=C+2 
7t 

:. sec - == 2 
3 

:. from (1) the required solution is 

y sec2 x = - 2 + sec x 

or y = -2 cos2x + cos X 

Example 9. Solve (1 + y2) dx + (x - elan-ly) dy = 0 

Solution. The given equation can be written as 

-1 dx x elan y 
-+--=--
dy 1 + y2 1 + y2 

J~dy 
Therefore the integrating factor = e 1 + Y 

-I = elan y 

(Bihar P.C.S. 2002, LA.S. 2006) 

Multiplying both sides of (1) by the integrating factor and integrating, we have 
-1 

1 se lan 
y 1 x. elan- y = C + -- x elan- y dy 

1+/ 

where C is an arbitrary costant 

or 

or 

x e tan-
I 

y = C + fe21 dt, where t = tan-1 y 

1 
= C + - e2t 

2 

-I 1 2 t -1 x. elan y = C + - e an y 
2 

Example 10. Solve dy + Y cos x = 1:. sin 2x (LA.S. 2004) 
dx 2 

Solution. Here P = cos x and Q = 1:. sin 2x = sin x cos x 
2 

:. Integrating factor = efPdx = efcos x dx = esin x 

Multiplying the given equation by the integrating factor esin x and integrating 
with respect to x, we get 

18 
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y. esin x = C + JeSin x sin x cos x dx, where C is an arbitrary constant. 

or y. esin x = C + Jet t dt, where t = sin x 

= C + t. et - et 

= C + esinx (sin x -1) 

or y. esin x = C + esin x (sin x - 1) 

Equations Reducible to the Linear Form. 

The equation 

(1) 

Where P and Q are constants or functions of x alone and n is a constant other 
than zero or unity is called the extended form of linear equation or Bernoulli's 
Equation. 

This type of equation can be reduced to the linear form on dividing by yn and 

. 1 1 putting --n:T equa to v 
y 

Dividing (1) by yn, we get ~ dy + p. ~l = Q 
yn dx yn 

1 
Put -- = v or y-n + 1 = V 

yn-l 

Differentiating both sides with respect to x, get 

or 

-n dy dv 
(-n+1) y dx = dx 

~ dy = _1_ dv 
yn dx 1 - n dx 

Making these substitutions in (2), we have 

1 dv 
- +Pv=Q 

(1 - n) dx 

or 
dv 
- + P (1 - n) v = Q (1 - n) 
dx 

19 
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which is linear in v and can be solve by method of linear differential equation. 

Example 11. Solve dy + x sin 2y = x3 cos2y 
dx 

Solution. Dividing both sides of the given equation by cos2y 

we get 

sec2y dy + x (2 tan y) = x3 

dx 

. 2 dy dv 
puttingtany=vor sec y - =-

dx dx 

the above equation reduces to dv + 2xv = x3 

dx 

which is a linear equation. whose integrating factor 

(V.P.P.C.S.1994) 

(1) 

Multiplying both sides of (1) by the integrating factor and integrating, we have 

v. e
x2 

= C + Jx3 e
x2 

dx, where C is an arbitrary constant 

or 

or 

or 

or 

2 1 J 2 2 v. eX = C +"2 x eX 2x dx 

= C + ~ It et dt, where t = x2 

= C + ~ (t e
t 

- Jet dt) 

2 1 
eX tan y = C + - et (t -1) 

2 

X2 1 2 2 
e tan y = C + - eX (x -1) 

2 

2 tan y = 2 Ce-
x2 

+ (x2 -1) 

20 
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dz z Z 2 
Example 2. Solve - + - log z = 2" (log z) 

dx x x 

(LA.S. 2001, u.P.P.CS., 1999) 

Solution. Dividing both sides of the given equation by z (log Z)2, we get 

1 dz 1 1 1 
---7" -- + - - -
z (log Z)2 dx (log z) x x2 

1 1 dz dv 
putting -- =vor- ---- -- --, 

log z z (log Z)2 dx dx 
the above equation reduces to 

dv v 1 
-- + - =-

dx X x2 

or dv 1 1 hi h· 1· .. d h· . f - - - v = -2"' w c IS mear equation m v an w ose mtegrating actor 
dx x x 

-f'! dx -1 = e x = e-1og x = e10g x 

1 
x 

Proceeding is the usual way, the solution of above equation is 

or 

v! =c- f~ ! dx 
X x2 

X 

1 1 ---=c+­
x (log z) 2x2 

Example 13. Solve y sin 2x dx - (1 + y2 + cos2x) dy = 0 

Solution. The given equation can be rewritten as 

y sin 2x dx - cos2x = 1 + l 
dy 

or 
. dx 1 2 1 + y2 

sm 2x - - - cos x = --
dy Y Y 

putting -cos2x = v or -2 cos x (-sinx) dx = dv 

or sin 2x dx = dv 

21 
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the equation (1) reduce to 

dv 1 1 + y2 
-+-v=--
dy Y Y 

Which is linear in v with y as independent variable 

J~ dy 
. Its integrating factor = e Y = e10g 

Y = Y 

Multiplying both sides of (2) by Y and integrating, we get 

vy = C + f(1 + y2) dy, where C is constant of integration 

or 

1 
Y cos2 X + C + Y + - y3 = 0 

3 
or 

Example 14. Solve x (dy / dx) + Y = y2log x 

(2) 

(U.P.P.C.S. 1995) 

Solution. The given equation can be written as 

1 dy 1 1 1 
- - + - - = - log X 
y2 dx x Y x 

(1) 

. 1 
putting - - = v 

y 
~ dy = dv in (1), we get 
y2 dx dx 

or 

dv 1 1 
- - - v= -logx 
dx x x 

(2) 

which is in the standand form of the linear equation and integrating factor 

-p dx =e- 1og 
x 1 

e x =-
x 

Multiplying both sides of (2) by the integrating factor and integrating, we get 

v. ! = C + f--\- log x dx where C is an arbitrary constant 
x x 

or ~ = C + ft e- t dt, putting t = log x 

22 
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or 

or 
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= c - (t + 1) e-t = C - (1 + log x) e- log x 

- ~ = C - (1 + log x) (.!) .: v = - .! 
xy x Y 

1 = (1 + log x) Y - C xy 

Example 15. Solve x (dy / dx) + Y log Y = x yex 

(I.A.S. 2003, M.P.P.C.S.1996) 

Solution. Dividing both sides of the given equation by y, we get 

x dy 
- - + (log y) = x eX 
y dx 

1 dy 1 X 
- - + - (log y) = e 
y dx x 

or 

putting v = log Y 

or 
dv 1 dy . 
- = - -, the above equation reduce to 
dx y dx 

dv 1 x 
- + - v=e 
dx x 

which is a linear equation in v 

f.!. dx 
Its integrating factor = e x = elog x = x 

(1) 

Multiplying both sides of (1) by the integrating factor x and integrating, we have 

v. x = C + fx eX dx, where C is an arbitrary constant 

or v. x = C + x eX - fl. eX dx 

or (log y) x = C + x eX - ex 

. Exact Differential Equations 

A differential equation which can be obtained by direct differentiation of some 
function of x and y is called exact differential equation, consider the equation 

Mdx + Ndy = 0 is exact 

23 
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where M and N are the functions of x and y. 

Solution of a exact differential equation is 

fMdx + fNdy =c 
Regarding only those 
yasa termsofN 
constant not containing x 

Example 16. Solve 

{y (1 + ;) + cos y} dx + (x + log x - x sin y) dy = 0 

Solution. Here M = Y (1 + ~) cos y and N = x + log x - x sin Y 

aM (1 1). d aN 1 1 . :. ay = + -; - sm y an ax = + -; - sm y 

aM aN h th· " =:> - = -, ence e gIven equation IS exact ay ax 

Regarding y as constant, fMdx = f{y (1 + ;) + cos y} dx 

= y R 1 + ~) dx + cos Y fdx 

= Y (x + log x) + (cos y) x 

Also no new term is obtained by integrating N with respect to y. 

:. From (I), the required solution is 

y (x + log x) + x cos x = C, where C is an arbitrary constant 

Example 17. Verify that the equation 

(I.A.S. 1993) 

(1) 

(X4 - 2xy2 + y4) dx - (2x2y - 4xy3 + sin y) dy = 0 is exact and solve it 

(V.P.P.C.S. 1996) 

Solution. Here M = X4 - 2xy2 + y4, N = - 2x2 Y + 4xy3 - sin Y 
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aM 3 aN 3 :. - = -4xy + 4y and - = -4xy + 4y 
By ax 

aM aN h th· .. :. - = -, ence e gIven equation IS exact 
By ax 

Regarding y as constant, fMdx = f(x 4 
- 2xy2 + y4) dx 

(1) 

Integrating N with respect to y, we get 

f(-2x2y + 4 xy3 - sin y) dy = _x2y2 + xy4 + cos Y 

omitting from this the term -x2y2and xytwhich are already occuring in (1) we get 
cosy 

:. From (1) and (2) the required solution is 

where C is an arbitrary constant 

Rules for finding integrating factor 

A differential equation of the type Mdx + Ndy = 0 which is not exact can be made 
exact by multiplying the equation by some function of x and y, which is called an 
integrating factor. 

A few methods (without proof) are given below for finding the integrating factor 
in certain cases. 

Method I. Integrating factor found by inspection. 

In the case of some differential equation the integrating factor can be found by 
inspection. A few exact differentials are given below which would help students 
(if they commit these to memory) in finding the integrating factors. 

(a) d (r ~ = x dy - Y dx (b) d (~) = Y dx - x dy 
xj x2 Y y2 

(c) d (xy) = x dy + Y dx (d) d [X2) = 2yx dx - x
2 

dy 
Y y2 
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(e) d (y') ~ 2xy dy - y' dx 
X x2 (f) d (y' ) ~ 2x'y dy - 2xy' dx 

x2 X4 

(g) tan - -d [ -1 x) _ Y dx - x dy 
y x2 + y2 

(h) tan --d ( -1 y) _ x dy - Y dx 
X x2 + y2 

(i) d (! log (x2 + y2») = x dx + Y dy 
2 x2 + y2 

G) d [ _~ ) = x dy + Y dx 
xy x2y2 

(k) d log [ ~ ) = Y dx - x dy (1) d log ( r) = x dy - Y dx 
Y xy x xy 

(m) d ( ~ ) ~ ye' dx - e' dy 
y y2 

Example 18. Solve (1 + xy) Y dx + (1 - xy) x dy = 0 

(LA.S. 1992, M.P.P.C.S. 1974) 

Solution. The given eqution can be written as 

(y dx + x dy) + (xy2 dx - x2y dy) = 0 

or d (yx) + xy2 dx - x2y dy = 0 

Dividing both sides of this equation by x2y2, we get 

d (yx) + ! dx _ ! dy = 0 
x2y2 X Y 

or 
1 1 1 

- dz + - dx - - dy = 0, where z = xy 
z2 X Y 

Integrating, -! + log x -log Y = C, where C is an arbitrary constant 
z 

or 

or 

- ~ + log x -log Y = C, putting z = xy 
xy 

1 
log (xjy) = C + -

xy 

Example 19. Solve (xy2 + 2x2 y3) dx + (X2 Y - x3y2) dy = 0 

. Solution. The given equation can be rewritten as 
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or 

or 

or 
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xy2 (1 + 2xy) dx + x2y (1 - xy) dy = 0 

Y (1+ 2xy) dx + x (1 - xy) dy = 0 

(y dx + x dy) + 2xy2 dx - x2y dy = 0 

d (xy) + 2xy2 dx - x2y dy = 0 

Dividing both sides of this equation by x2y2, we get 

d (xy) 2 1 
-- + - dx - - dy = 0 
x2 y2 X Y 

or (:2) dz+ (z/x) dx- (1/y) dy=O, wherez=xy 

Integrating, - .!. + 210g x - log Y = C, where C is an arbitrary constant 
z 

or - (Xy) + log (xX) = C, putting z = xy 

or log ( XX) = C + (Xy) 

Example 20. Solve y sin 2x dx = (1 + y2 + cos2x) dy 

Solution. The given equation can be written as 

2y sin x cos x dx - cos2 X dy = (1 + y2) dy 

or - d [y cos2 x] = (1 + y2) dy 

3 

Integrating, -y cos2x = Y + L + C, where C is an arbitrary constant. 
3 

(I.A.S. 1996) 

Method II. In the differential equation Mdx + Ndy = 0, If M = Y fl (xy) and N = x 

h (xy), then 1 is an integrating factor, Provided Mx - Ny:;; 0 
Mx-Ny 

Example 21. Solve 

(xy sin xy + cos xy) Y dx + (xy sin xy - cos xy) xdy = 0 

(Bihar P.C.S. 2007, V.P.P.C.S. 1990, 94) 

Solution. Integrating factor 
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1 

(xy sin xy + cos xy) xy - (xy sin xy - cos xy) xy 

1 

2yx cos xy 

Multiplying both sides of the given equation by this integrating factor, we get 

~ (tan xy + 2-) y dx + ~ (tan xy - 2-) x dy = 0 
2 ~ 2 ~ 

1 1 
(tan xy)(y dx + x dy) + - dx - - dy = 0 or 

x y 

1 1 
(tan xy) d (xy) + - dx - - dy = 0 or 

x Y 

1 1 
tan z dz + - dx - - dy = 0, where z = xy 

x y 
or 

Integrating term by term, we get 

log (sec z) + log x -log Y = log C, where C is an arbitrary constant 

or I {
x sec z} I C og = og 

y 

or 
x 
- (sec z) = C 
Y 

or x sec (xy) = Cy 

Method III. In the differential equation Mdx + Ndy = 0 if ~ (aM _ aN) is a 
N Oy ax 

. • • • If{X) dx 
function of x alone, say f(x), then the mtegrating factor IS e 

Example 22. solve (x2 + y2 +1) dx - 2~ dy = 0 

Solution. Here M = x2 + y2 + 1 and N = - 2~ 

aM :. - =2y 
Oy 

aM 
and - =-2y ax 
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Therefore, ~ (OM _ ON) = _1_ (2y + 2y) = _3., which is a function of x 
N 8y Ox -2xy x 

alone. Hence method III is applicable 

Here f(x) = -2/ x 

Jf(x) dx -J~ dx 
:. Integrating factor = e = e x 

= e-21og x = l/x2 

Multiplying the given equation by this integrating factor l/x2, we get 

2. (X2 + y2 + 1) dx - 2. (~'Y) dy = 0 
x2 x2 

or [ 
y2 1] Y 1 + - + - dx - 2 - dy = 0 
x2 x2 

X 

or [1+ :, ] dx + [~: dx - 2 ~ dy ] which is an exact 

or [1 + x12 ] dx + d (-yix) = 0 using method I 

Integrating term by term, we get 

x - ~ + ( - yix) = C, where C is constant of integration 

or x2 -1 - y2 = Cx is the required solution. 

Method IV. In the equation Mdx + Ndy = 0 

If ~ (aN _ aM) is a function of y alone, say f(y), 
M Ox 8y 

th th · . f . J f(y) dy en e mtegrattng actor IS e 

Example 23. Solve (xy3 + y) dx + 2 (x2y2 + X + y4) dy = 0 

Solution. Here M = xy3 + Y and N = 2x2y2 + 2x + 2y4 

aM aN 
:. - = 2xy2 + 1, and - = 4xy2 + 2 

8y Ox 
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:.~[aN_aM)= 1 {(4xy2+2)-(3xy2+1)} 
M Ox Oy (xy3 + y) 

1 1 
--::--- (xy2 + 1) = -, which is a function of y alone 
y (xy2 + 1) Y 

and equal to f(y) say. 

Jf(Y) dy = P dy 
Then integrating factor = e e y 

= e 10gy = y 

Multiplying the given equation by integrating factor y we get 

(xy4 + y2) dx + (2x2 y3 + 2xy + 2y5) dy = 0 

which is an exact differential equation and solving by the method of exact, we 
have 

3x2y4 + 6xy2 + 2y6 = 6 C is the required solution. 

Example 24. Solve (3x2 y4 + 2xy) dx + (2X3y3 - X2) dy = 0 

(U.P.P.C.S.2001) 

Solution. Here M = 3x2 y4 + 2xy , N = 2x3 y3 - x2 

As oM ~ aN, so the equation is not exact in this form. Thus, we have to find 
Oy Ox 

the integrating factor by trial. In the present case, we see that 

1 [ON oM I 6X2y3 - 2x _12x2y3 - 2x 2. . 
- -- - -) = = -- , IS the function of y alone 
M Ox Oy 3X2y4 + 2xy y 

-J~ dy 1 
. The integrating factor is e y = 2 

Y 

Thus, the differential equation becomes 

(3x2y2 + 2xjy) dx + (2X3 Y - x2jy2) dy = 0 

Which is an exact, as oM = 6x2y _ 2xjy2 = oN 
Oy Ox 
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Its solution is 

or 

Differential Equations of First Order and First Dewee 

J(3x2 y2 + 2x/y) dx = 0 

x3 y2 + X2/y = c 
Where C is an arbitrary constant. 

Method V.If the equation Mdx + N dy = 0 is homogeneous then 1 is an 
Mx+Ny 

integrating factor, Provided Mx + Ny i= 0 

Example 25. Solve x2y dx - (X3 + y3) dy = 0 

Solution. Here M = x2y and N = _x3 _ y3 

:. Mx + Ny = x3y - x3y - y4 = _y4 i= 0 

:. Integrating factor = 1 = -~ i= 0 
Mx + Ny Y 

Multiplying the given equation by this integrating factor -1/y4, we get 

_x2 x3 1 
In this form of the equation, M = -3 and N = 4"" + -

Y Y Y 

oM = 3x
2 

and oN = 3x
2 

.. Oy y4 Ox y4 

oM oN 
~-=-

Oy Ox 

Hence this equation is an exact 

Solving, we get 

x3 = 3y3 (log Y - C) 

Method VI. If the equation be of the form xayb (my dx + nx dy) + xcyd (py dx + qx 
dy) = 0 

where a, b, c, d, m, n, p and q are constants, then the integrating factor is xhyk, 
where hand k can be obtained by applying the condition that after multiplication 
by xhyk the equation is exact. 
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Example 26. Solve (y2 + 2x2y) dx + (2X3 - xy) dy = 0 

or y (y dx - x dy) + 2x2 (y dx + x dy) = 0 

Solution. The given equation can be rewritten as 

y (y + 2X2) dx + X (2X2 - y) dy = 0 

which is of the form as given in method VI 

. Let xhyk be an integrating factor 

(V.P.P.C.S. 2000) 

Multiplying the given equation by xhyk, we get (xh yk+2 + 2Xh + 2 yk + 1) dx + (2Xh + 3 
yk _Xh+1 yk+1) dy = 0 

Here M = Xh yk+2 + 2xh +2 yk+ 1 and N = 2xh+3 yk _xh+ 1 yk+1 

:. aM = (k + 2) xhyk + 1 + 2 (k + 1) xh + 2yk 
ay 

and aN = 2 (h + 3) Xh + 2 yk _ (h + 1) Xh yk + 1 
ax 

. aM aN 
If the equation (A) be exact we must have - = -ay ax 

(1) 

(2) 

Or (k + 2) xh yk + 1 + 2 (k + 1) xh + 2yk = - (h + 1) Xh yk + 1 + 2 (h + 3) xh + 2 yk from 
(1) and (2) 

Equating coefficients of Xh yk + 1 and xh + 2yk on both sides we get k + 2 = - (h + 1) 
and 2 (k + 1) = 2 (h + 3) 

hence solving we get 

5 1 
h=-- k=--

2' 2 

:. The integrating factor = xhyk = X-5/ 2 y-1/2 

Multiplying the given by X-5/ 2 y-1/2, we get 

(X-5/ 2 y3/2 + 2X-1/2 y1/2) dx + (2X1/2y-1/2 _X-3/2 y1/2) dy = 0 

I thi f h aM aN th .. n s arm, we ave - = -, e equation IS exact ay ax 

:. Regarding y as constant 

5 

fMdX = f(x-Z y3/2 + 2x-1/2 y1/2) dx 
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Also no new term is obtained by integrating N with respect to y, Hence the 
required solution is 

_ 3. X-3/2 y3/2 + 4Xl/2 yl/2 = C 
3 

Where C is an arbitrary constant 

EXERCISE 
Solve the following differential equations 

1. (x2 - 2x + 2y2) dx + 2xy (1 + log x2) dy = 0 

Ans. x2 - 4x + 4y2log x + 2y2 = C 

2. x2 dy = x2 + xy + y2 
dx 

Ans. x = C etan-l(~) 
3. (3y + 2x + 4) dx - (4x + 6y + 5) dy = 0 

Ans. 14 (2x + 3y) -9 log (14x + 21y + 22) = 49x + C 

4. xy _ dy = y3 e-x2 

dx 

Ans. eX = y2 (x + C) 

5. Solve the initial value problem dy = 2 X 3 ' Y (0) = 0 
dx x Y + Y 

Ans. (X2 + y2 + 2) = 2el /2 

(I.A.S. 1991) 

(V.P.P.C.S.1998) 

(V.P.P.C.S. 2001) 

(I.A.S. 1998) 

(I.A.S. 1997) 

6. Show that the equation (4x + 3y + 1) dx + (3x + 2y + 1) dy = 0 represents a 
family of hyperbolas having as asymptotes the line x + y = 0, 2x + Y + 1 = 0 

(I.A.S. 1998) 
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dx 
7. The equations of motion of a particle are given by dt + wy = 0, 

dy _ wx = 0, Find the path of the particle and so that it is a circle. 
dt 

Hint. y(t) = Cl cos wt + C2 sin wt 

x(t) = C2 cos wt - Cl sin wt 

so x2 + y2 = C~ + C~ = R 2 

Objective Type of Questions 

(V.P.T.V.2009) 

Choose a correct answer from the four answers given in each of the following 
questions: 

1. The differential equation y dx + x dy = 0 represents a family of 

(a) Circles 

(c) Cycloids 

Ans. (d) 

(b) 

(d) 

(V.P.P.CS. 1999) 

Ellipses 

Rectangular hyperbolas 

2. The solution of (xy2 + 1) dx + (X2y + 1) dy = 0 is 

(a) x2y2 + 2X2 + 2y2 = C 

(c) x2y2 + X + Y = C 

Ans. (d) 

(b) 

(d) 

x2y2 + x2 + y2 = C 

x2y2 + 2x + 2y = C 

(V.P.P.CS.1999) 

3. The differential equation for the family of all tangents to the parabola y2 = 2x 

(V.P.P.CS. 1999) 

(a) 2x (y')2 + 1 = 2yy' 

(c) 2x2y' + 1 = 2yy' 

Ans. (a) 

(b) 

(d) 

2xy + 1 = 2yy' 

2 (y')2 + x = 2yy' 

4. The general solution of the differential equation (1 + x) Y dx + (1 - y) x dy = 0 
is 

(a) xy = C eX-Y 

(c) xy = C eY-X 

Ans. (c) 

(b) 

(d) 

x+y=Cexy 

x-y=Cexy 
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5. An integrating factor of the differential equation (1 + X2) dy + 2xy = cos x is 
dx 

(a) 1 + x2 

(c) log (1 + X2) 

Ans. (a) 

(b) 

(d) 

(V.P.P.C.S.2000) 

-log (1 + x2) 

6. If dy = e-2y , y = 0 when x = 5, then the value of x for y = 3 is 
dx 

(a) (e6 + 9)/2 

(c) log e6 

Ans. (a) 

(b) 

(d) 

7. The solution of (x -1) dy = Y dx, Y (0) = -5 is 

(a) y = 5 (x -1) (b) Y = -5 (x - 1) 

(c) Y = 5 (x + 1) (d) Y = -5 (x + 1) 

Ans. (a) 

(V.P.P.C.S.2oo0) 

8. The differential equation x dx - Y dy = 0 represents a family of 

(a) Circles 

(c) rectangular hyperbolas 

Ans. (c) 

(b) 

(d) 

Ellipse 

Cycloids 

(V.P.P.C.S. 2001) 

9. The solution of the differential equation (x + 2y) dy - (2x - y) dx = 0 is 

(V.P.P.C.S.2oo1) 

(a) x2 + y2 - 2xy = C 

. (c) X2 + 4xy + y2 = C 

Ans. (d) 

(b) 

(d) 

xy+y2+ x2= C 

xy + y2 - x2 = C 

10. In the differential equation x dy + my = e- x
, if the integrating factor is -\-' 

dx x 
then the value of m is 

(a) 2 

(c) 1 

(b) 

(d) 

-2 
-1 
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Ans. (b) 

11. The solution of the variable separable equation (X2 + 1) (y2 -1) dx + xy dy = 0 
is 

_x2 

e 
(c) y2= 1 + C-

x2 

Ans. (c) 

(b) 

(d) 

log (y2 -1) = Clog (X2 + 1) 

none of these 

(I.A.S. 1988) 

12. The solution of the differential equation dy = eX - Y + x2 e-Y is 
dx 

(M.P.P.C.S. 1991, R.A.S. 1993, V.P.P.C.S. 1995) 

1 
(a) eY = ex + - x3 + C 

3 
(b) 

1 
eY = e-X + - x3 + C 

3 

(c) eY = ex + x3 + C (d) 

Ans. (a) 

. 13. If ~ (ON _ OM) = f(y) a function of y alone, then the integrating factor of 
M Ox c3y 

Mdx + Ndy = 0 is 

(a) e-1f(y) dy 

(c) f(y) Jef(Y)dy 

Ans. (b) 

(b) 

(d) 

I f(y) dy 
e 

Jef(Y) f(y) dy 

(M.P.P.C.S. 1991, 93) 

14. The solution of the differential equation (x + y)2 dy = a2 is given by 
dx 

(I.A.S. 1994) 

(a) y + x = a tan (y : c) (b) (y - x) = a tan (y - c) 

(
y - c) (c) y - x = tan -a- (d) (

y -c) a (y - x) = tan -a-

Ans. (a) 
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15. Pdx + x sin y dy = 0 is exact, then P can be 

(MP.P.P.C.S.1994) 

(a) sin y + cos y 

(c) x2-cosy 

Ans. (c) 

(b) 

(d) 

- siny 

cosy 

16. The solution of the differential equation (x - y2) dx + 2xy dy = 0 is 

(a) yey2 
Ix = A 

(c) ye x/y2 
= A 

(b) 

(d) 

17. The solution of the equation dy + 2xy = 2xy2 is 
dx 

(a) 
ex 

(b) 
1 

y= 2 y= 
1 + eX 1- c eX 

1 ex 
(c) y= 

1 + cex 2 (d) y= 2 

1 + eX 

Ans. (c) 

18. The homogeneous differential equation 

M (x, y) dx + N (x, y) dy = 0 

(I.A.S. 1993) 

(I.A.S.1994) 

can be reduced to a differential equation in which the variables are separable, by 
the substitution-

. (a) y = vx 

(c) x + Y =v 

Ans. (a) 

(b) 

(d) 

xy=v 

x-y=v 

19. The solution of the differential equation 

dy + y... = x2 

dx x 

Under the condition that y = I, when x = 1 is 

(a) 4xy = x3 + 3 (b) 4xy=y4+3 
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(c) 4xy = X4 + 3 

Ans. (c) 
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(d) 

20. The necessary condition to exact the differential equation Mdx + Ndy = 0 will 
be 

(MP.p.eS.1993, R.A.S.1995) 

8M 8N ---
Ox 8y 

8M 8N 
(b) (a) - =-

8y Ox 

82M 82N ----
8y2 &2 

82M 82N 
(d) (c) -=-

&2 8y2 

21. If 11, h are integrating factors of the equations xy' + 2y = 1 and xy' - 2y = 1 
then 

(a) h =-h 

. (c) h = X2 h 
Ans. (d) 

(b) 

(d) 

(M.p.p.es. 1994) 

hh=x 

hh=l 

22. The family of conic represented by the solution of the differential equation 

(4x + 3y + 1) dx + (3x + 2y + 1) dy = 0 is 

(a) Circles 

(c) hyperbolas 

Ans. (c) 

(b) 

(d) 

Parabolas 

ellipse 
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Chapter 3 

Linear Differential Equations with 
Constant Coefficients and 

Applications 
INTRODUCTION 

A differential equation is of the form 

dny dn- l dn- 2 
- + al --.Xl + a2 --.X2 + ........... + anY = Q (I) 
dxn dxn- dxn-

where aI, a2, ....... an are constants and Q is a function of x only, is called a linear 
differential equation of nth order. Such equations are most important in the study 
of electro-mechanical vibrations and other engineering problems. 

The operator ~ is denoted by O. 
dx 

:. Ony + al On-Iy + ............. + any = Q 

or f(O} Y = Q 

where f(O} = On + al Dn-l + .............. + an 

Solution of the Differential Equation 

If the given equation is 

dny dn- l d n- 2 
- + al --.Xl + a2 ---.X2 + ........ +any = 0 
dxn dxn- dxn -

or (On + al On-l + a2 On-2 + ......... +an) y = 0 

Lety =emx 

:. Then from equation (2) 

mn + al mn- l + a2 mn- 2 + ........... + an} emx = 0 

y = emx is a solution of (I), if 
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mn + al mn- l + a2 mn- 2 + .............. + an = 0 

This equation is called the auxiliary equation. 

Case 1. When Auxiliary Equation has Distinct and real Roots 

Let ml, m2, ................... mn are distinct roots of the auxiliary equation, then the 

general solution of (1) is Y = CI e
ffijX + C2 e

ffi2X + ................ + Cn em"x 

where CI, C2, ............ Cn are arbitrary constants 

Illustration. Solve the differential equation 

d2y dy 
- +3 - -54y=O 
dx2 dx 

Solution. The given equation is 

(D2 + 3D - 54) Y = 0 

Here auxiliary equation is 

m2+3m-54= 0 

or (m + 9) (m - 6) = 0 

=> m = 6,-9 

Hence the general solution of the given differential equation is y = Cle6x + C2 e-9x 

Case II. When Auxiliary Equation has real and some equal roots. 

If the auxiliary equation has two roots equal, say ml = m2 and others are distinct 
say m3, m4, ............ mn. In this Case the general solution of the equation (1) is 

where CI, C2, C3 ............. Cn are arbitrary constants 

Illustration. Solve the differential equation 

(04 - D3- 9D2 -11D - 4) Y = 0 

Solution. The auxiliary equation of the give equation is 

m4 - m3 - 9m2 - 11m - 4 = 0 

or (m + 1)3 (m - 4) = 0 

=> m = -1, -1, -1,4 

Hence, the required solution is 

y = (CI + C2 X + C3 X2) e-X + ~ e4x 
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or y = (CI x2 + C2 X + C3) e-X + C4 e4x 

Case III. When the auxiliary equation has imaginary roots 

If there are one pair of imaginary roots say mt = a + iP, m2 = a - iP i.e. a ± iP say 
then the required solution is 

ex (Real part) [CI {COS (imaginary part) x} + C2 {sin (imaginary part) x}] 

i.e. 

or y = CI eClX cos (px + C2) 

Illustration. Solve (D2 - 2D + 5) Y = 0 

Solution. Here the auxiliary equation is 

m2-2m + 5 = 0 

or 

:. The required solution is 

y = ex (CI cos 2x + C2 sin 2x) 

Particular Integral (P.I.) 

when the equation is 

Dn + at Dn
-
I + .......... + an) y = Q 

or f(D)y= Q 

The general solution of f (D) Y = Q is equal to the sum of the general solution of 
f (D) Y = 0 called complementary function (C.P.) and any particular integral of the 
equation f(D) y = Q 

:. General solution = c.P. + P.I. 

A particular integral of the differential equation 

f(D) y = Q is given by _1_ Q 
f(D) 

Methods of finding Particular integral 

(A) 

Case I. P.I., when Q is of the form of eax, where a is any constant and f(a) :1; 0 

we know that 

41 



A Textbook of Engineering Mathematics Volume - II 

In general 

D2 (eax) = a2 eax 

D3 (eax) = a3 eax 

Dn (eax) = an eax 

:. f (D) (eax) = f(a) eax 

or _1_ f(D) eax = _1_ f (a) eax 

f(D) f(D) 

or eax = f(a) _1_ eax .: f(a) is constant 
f(D) 

1 1 _ eax = __ eax 

f(a) f(D) 
or 

Hence P.I. = _1_ eax = _1_ eax if f(a) "# 0 
f(D) f(a) , 

Case II. P.I., when Q is of the form of eax, and f(a) = 0 

1 1 
Then -- (eax) = eax 1, which shows that if eax is brought to the left 

f(D) f (D + a) 

from the right of _1_, then D should be replaced by (D + a) 
f(D) 

Another method for Exceptional Case 

If f(a) = 0, then 

1 1 
P.I. = -- eax = x -- eax 

f (D) f' (D) 

If f' (a) = 0, then 

1 
P.I. = -- eax 

f (D) 

eax 

=x --, iff'(a)"#O 
f' (a) 

eax 

= x2 -- if f" (a) "# 0 
f" (a)' 

Example 1. Solve (D2 - 2D + 5) Y = e-X 
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Solution. Here auxiliary equation is m2 - 2m + 5 = 0, whose roots are 

m=-1±2i 

:. CP. = e-X [Cl cos 2x + C2 sin 2x], where Cl and C2 are arbitrary constants 

and P I 1 -x 
.. = 2 e 

D -2D+5 

1 -x 
2 e 

(-1) -2(-1)+5 

1 -x =-e 
8 

:. The required solution is y = CP. + P.I. 

i.e. y = e-X (Cl cos 2x + C2 sin 2x) + .!. e-x 
8 

? 

Example 2. Solve (D -1)2 (D2 + 1)2 Y = eX 

. Solution. Here the auxiliary equation is 

(m -1)2 (m2 + 1)2 = 0 

or m = 1, 1, ± i, ±i 

.: here a =-1 

:. CF. = (Cl + C2 x) ex + (C3 x + C4) cos x + (Csx + C6) sinx 

where CIS are arbitrary constant 

and P.I. = 
1 eX 

(D _1)2 (D2 + 1)2 

1 1 eX 
(D - 1)2 (12 + 1)2 

1 1 X 
(D _1)2 

-e 
(2)2 

1 1 X 
(D _1)2 

-e 
4 

= eX 1 1 
(D + 1_1)2 4 
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= eX ~ ! = ! eX ~ (1) = ! eX x
2 

= .!. x2 eX 
D2 4 4 D2 4 2 8 

:', The required solution is y = C. F + P.1. 

or y = (Cl X + C2) ex + (C3 x + ~) cos x + (Cs x + C6) sinx + .!. x2 eX 
8 

Example 3. Solve (D + 2) (D -1)3 Y = eX 

Solution. Here the auxiliary equation is 

(m + 2) (m - 1)3 = 0 

or m = - 2 and m = 1 (thrice) 

Therefore C. F = Cl e-2x + (C2 x2 + C3 X + C4) eX, where Cl, C2 and C3 are constants 
and 

1 P.1. = eX 
(D + 2) (D _1)3 

= 1 eX 
(1 + 2) (D - 1)3 

111 __ ~ eX = _ eX 
3 (D _1)3 3 

:. the required solution is y = C.F + P.I 

1 1 
{(D + 1) -I} 

or 
1 

Y = Cl e-2x + (C2 x2 + C3 X + ~) eX + - x3 eX 
18 

(B) (i) P.I. when Q is of the form sin ax or cos ax and f (-a2) *' 0 

--4- sin ax = 1 2 sin ax, if f (_a2) '* 0 
f(D ) f (-a) 

& -\- cos ax = 1 2 cos ax, if f (-a 2) '* 0 
f(D ) f (-a) 

(ii) P.I. when Q is of the form sin ax or cos ax and f (-a2) = 0 
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Let f(D) = D2 + a2 and Q = sin ax 

1 
Then P.1. = 2 2 sin ax 

D +a 

1 
= (Imaginary part of eiaX

) 
D2 + a2 

= Imaginary part of 2 1 2 eiax 

D +a 

= J.P. of eiax 1 1 
{(D + ia)2 + a2} 

= J.P. of eiax 1 1 

2iaD [1 + J?-] 
21a 

e
iax 1 (D ) = I.P. of - - 1 - - +............ 1 

2ia D 2ia 

eiax 1 eiax 

=I.P.of- -l=I.P.of- x 
2ia D 2ia 
eiax xi 

= I.P. of -2-
2i a 

= I.P. of % (-;) i (cos ax + i sin ax) 

= I.P. of % (-;) (i cos ax - sin ax) 

1 x 
=- - - cos ax 

2 a 

1. x 
--:---:- sm ax = - - cos ax .. D2 + a2 2a 

Now if f(D) = D2 + a2 and Q = cos ax 

1 1 
Then P.I. = 2 2 cos ax = 2 2 (Real part of e1ax

) 
D +a D +a 
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1 . 
= Real part (or R.P.) of 2 2 e,ax 

D +a 

= R.P. of -~ (~) (i cos ax - sin ax) 

x . 
= - sIn ax 

2a 

1 x . 
---::---:-- cos ax = - sm ax .. D2 + a2 2a 

Example 4. Solve (D2 + D + 1) Y = sin 2x 

Solution. Here the auxiliary equation is m2 + m + 1 = 0 

which gives m = - ~ ± i (~ .J3) 

:. c.P. = e-x/2 {C1 cos (~ x .J3) + C2 sin (~ x.J3)} 
where C1 and C2 are arbitrary constants 

1 
and P.1. = 2 sin 2x 

D +D+1 

2 1 sin 2x replacing D2 by - 22 
(-2) +D+1 

1 . 2 = -- sm x 
D-3 

1 (D + 3) sin 2x 
(D - 3) (D + 3) 

21 (D + 3) sin 2x = 21 (D + 3) sin 2x 
D -9 ~ -9 

= -~ (D + 3) sin 2x = -1 [D (sin 2x) + 3 sin 2x] 
13 13 

= -~ [2 cos 2x + 3 sin 2x] Since D means differentiation with respect to x 
13 

:. The complete solution is 
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y = e-x/2 [C1 cos (% xJ3) + C2 sin (% xJ3)] -11
3 

(2 cos 2x + 3sin 2x) 

Example 5. Solve (D2 - 5 D+ 6) Y = sin 3x 

Solution. Its auxiliary equation is m2 - 5m + 6 = 0 which gives 

m= 2,3 

:. c.F. = Cl e2x + C2 e3x, where Cl and C2 are arbitrary constants 

and P.1. = 2 1 sin 3x 
D -5D+6 

2 1 sin 3x, replacing D2 by _32 
-3 - 5D + 6 

1 sin3x= -1 (5D-3)sin3x 
-(5D + 3) (5D + 3) (5D - 3) 

-1 
2 (5D-3)sin3x 

(25D - 9) 
-1 

---::-2-- (5D - 3) sin 3x 
{25 (-3 ) -9} 

= ~ [5D (sin 3x) - 3sin 3x] 
234 

= ~ [5 x 3 cos 3x - 3 sin 3x] 
234 

= ~ (5 cos 3x - sin 3x) 
78 

Hence the required solution is 

y = Cl e2x + C2 e3x + ~ (5 cos 3x - sin 3x) 
78 

Example 6. Solve (D3 + D2 - D -1) Y = cos 2x 

Solution. Its auxiliary equation is m3 + m2 - m - 1 = 0 

or 

or 

(m2 -1) (m + 1) = 0 

m = 1, -1,-1 

:. C.F. = Cl eX + (C2 x + C3) e-x, where Cl, C2and C3 are arbitrary constants 
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1 
PI - cos2x 
.. - D3 + D2 - D - 1 

1 cos 2x 
D (D2) + D2 - D - 1 

111 
-------- cos 2x = -- -- cos 2x 
D(_22)+(_22)_D_1 5 D+1 

1 D-1 
- -- cos 2x 

5 (D - l)(D + 1) 

1 1 1 1 
= -- (D -1) cos 2x = - - [D (cos 2x) - cos 2x] 

5 D2 -1 5 (_22 -1) 

= 2. (-2 sin 2x - cos 2x) 
25 

Therefore the complete solution is 

or 

y = c.P. + P.I. 

y = Cl eX + (C2 x + C3) e-X - 2. (2 sin 2x + cos 2x) 
25 

Example 7. Solve (D2 - 4D + 4) Y = sin 2x, given that y = 1/8 and Dy = 4 when x = 

O. Pind also the value ofy when x = rt/4. (Here D == !) 
Solution. Its auxiliary equation is m2 - 4m + 4 = 0 or m = 2, 2 

:. c.P. = (Cl X + C2) e2x, where Cl and C2 are arbitrary constants 

and P.I. = 2 1 sin 2x = 2 1 sin 2x 
D - 4D + 4 (-2 - 4D + 4) 

= -.!. ~ sin 2x = -.!. rsin 2x dx = .!.8 cos 2x 
4 0 4 J' 

:. The solution of the given equation is 

1 
Y = c.P. + P.I. = (Cl x + C2) e2x + '8 cos 2x (1) 

Dy = Cl e2x + 2 (Cl X + C2) e2x -.!. sin 2x 
4 

48 



or 

Linear Differential Equations with Constant Coefficients and Applications 

Dy = (2 Cl x + 2 C2 + Cl ) e2x -.!. sin 2x 
4 

According to the problem y = .!. and Dy = 4 when 
8 

x = 0, so from (1) and (2) we get 

1 0 1 1 - = C2 e + - cos 0 = C2 + - or C2 = 0 
888 

And 4 = (2 C2 + 4) eO = .!. sin 0 = Cl .,' C2 = 0 
4 

or 

Substituting these values of Ct, C2 in (1) we get 

1 
y = 4 x e2x + - cos 2x 

8 

when x = rt/4, y = 4( ~) e1t
/

2 + % cos (rt/2) = rte7t
/
2 

Example 8. Solve (D3 + a2'D) y = sin ax 

Solution. Here the auxiliary equation is 

m3 + a2 m = 0 or m = 0, ± ai 

:. C.F. = Cl + C2 cos ax + C3 sin ax, where Cl, C2 and C3 are arbitrary constants 
and 

P.I. = 3 1 2 sin ax = 3 1 2 (Imaginary part of eiax ) 
D +aD D +aD 

IP f 1 iax 
= .. 0 3 2 e 

D +a D 

= I.P. of eiax 1 1 
(D + ia)3 + a2 (D + ia) 

= I.P. of eiax 1 1 
D3 + 3 ia D2 - 2a2D 

= I.P. of eiax __ ---=,--__ 1 _____ = 

-2a2D [1- _3i D __ 1_ D2] 
2a 2 a2 
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= J.P. of -- - 1 - - 0 - - 0 1 e
iax 1 (3i 1 2)-1 

_2a2 0 2a 2a2 

= J.P. of -- - 1 - - 0 - - 0 1 e
iax 

1 (3i 1 2)-1 
_2a2 0 2a 2 a2 

e
iax 

1 (3i ) = J.P. of --2 - 1 + - 0 + ........... (1) 
-2a 0 2a 

eiax 1 eiax 

= J.P. of -2 - (1) = J.P. of -2 (x) 
-2a 0 -2a 

= _ (_1 ) x sin ax 
2a2 

:. The required solution is y = C.F + P.I 

or y = C1 + C2 cos ax + C3 sin ax --;.. sin ax 
2a 

d4 

Example 9. Solve ----f -rn4y = sin rnx 
dx 

Solution. We have d4~ - rn\ = sin rnx 
dx 

or (04 - rn4) y = sin rnx, 0 = :x 

Here the auxiliary equation is 

M4-rn4=0 

:. M = -rn, rn, ± mi 

Therefore, Cl F = Cl emx + C2 e-mx + C3 cos rnx + C4 sin rnx 

where Cl, C2, C3 and C4 are arbitrary constants 

PI 
1. 1 . 

. . = 4 2 sIn rnx = 2 2 2 2 sm rnx o - rn (0 - rn ) (0 + rn ) 
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1 { 1 . } 1 { 1 . } l' D2 b 2 = 2 2 2 2 sm mx = 2 2 2 2 sm mx rep acmg y -m 
(D + m) D - m D + m -m-m 

= 1 ( __ 1 sin mx) = __ 1 ( 1 sin mx) 
D2 + m 2 2m2 2m2 D2 + m 2 

___ 1_ (_~ cos mx) = _x_ cos mx 
2m2 2m 4m3 

1 sin ax = - ~ cos ax, if f(_a2) = 0 
D2 + a2 2a 

Hence the required solution is y = C.F + P.I 

or y = Cl ernx + C2 e-rnx + C3 cos mx + G sin mx + _x_ cos mx 
4m3 

d3 d2 d 
Example 10. Solve ---{ - 3 -f + 4 ~ - 2y = eX + cos x 

dx dx dx 

Solution. The given can be rewritten as 

d (D3 - 3D2 + 4D-2) y = eX + cos x, D _ 
dx 

Here the auxiliary equation is 

m3 - 3m2 + 4m - 2 = 0 

=> (m -1) (mL 2m + 2) = 0 

i.e. m = 1, 1 ± i 

(I.A.S. 1999, V.P.T.V. 2001, 2006) 

:. C.F. = Clex + ex (C2 cos x + C3 sin x), where Cl, C2 and C3 are arbitrary 
constants. 

1 
& P.1. = 3 2 (eX + cos x) 

D -3D +4D-2 
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1 1 = eX + cos x 
(D _1)(D2 - 2D + 2) D3 - 3 D2 + 4 D - 2 

= 1 { 1 ex} + 1 cos x 
(D-1) 1-2+2 (-1)2D-3(-12)+4D-2 

1 1 = -- eX + cos x 
D -1 3D + 1 

1 (3D -1) 
= eX --- 1 + cos x 

(D + 1)-1 9D2 - 1 
1 3D-1 

=ex-.1+ 2 cos x 
D 9(-1 )-1 

= x eX - ~ (3D -1) cos x 
10 

= x eX - ~ (3D cos x - cos x) 
10 

=xex - ~ (-3sinx-cosx) 
10 

= x eX + ~ (3 sin x + cos x) 
10 

Hence, the required solution is y = c.p + P.I 

y = Cl ex + eX (C2 cos x + C3 sin x) + x ex + ~ (3 sinx + cos x) 
10 

(C) To find P.I. when Q is of the form xm 

In this case P.I = _1_ xm, where m is a positive integer 
f (D) 

To evaluate this we take common the lowest degree from f(D), so that the 
remaining factor reduces to the form [1 + P (D)] or [1 - P (D)]. Now take this 
factor in the numerator with a negative index and expand it by Binomial theorem 
in powers of D upto the term Dm, (Since other higher derivatives of xm will be 
zero) and operate upon xm. The following examples will illustrate the method. 

d2 d 
Example 11. Solve ~ + -X - 6y = x 

dx dx 
Solution. The given equation can be written as 

(D2 + D - 6) Y = x 
Its auxiliary equation is m2 + m - 6 = 0 or m = 2, -3 
:. c.P. = Cl e2X + C2 e-3x, where Cl and C2 are arbitrary constants 
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and 1 1 
P.I. = D2 + D _ 6 x = ( 1 1 2) x 

-6 1- 6 D - 6 D 

1 [1 J-l 

== -6 1- 6 (D + D2) x 

= -l [1 + l (D + D2) + .............. ] X 

1 ( 1) -1 = - - x + - = - (6x + 1) 
6 6 36 

:. The required solution is y = c.p + P.I 
1 

Y = Cl e2x + C2e-3x -- (6x + 1) 
36 

d 
Example 12. Solve (D3 - D2 - 6D) Y = x2 + 1 Where D :: 

dx 

Solution. Here the auxiliary equation is rn3 - rn2 - 6rn = 0 
or rn (rn2 - rn - 6) = 0 
or rn (rn - 3)(rn + 2) = 0 
m rn=~~~ 

:. Cl P = Cl eOx + C2 e3x + C3 e-2x 

(Bihar P.CS. 1993) 

or c.P. = Cl + C2 e3x + C3 e-2x, where Cl, C2 and C3 are arbitrary constants. 
1 2 

and P.I. = 2 2 (x + 1) 
D - D -6D 

1 (x2 + 1) 

( 
1 1 2) -6D 1 + 6 D- 6 D 

1 [ (D D2 ) (D D2 )2 1 = - 6D 1 - 6" - 6 + 6" - 6 ........... (x
2 

+ 1) 

1 [ 2 1 2 7 2 2] = -- 1 + x - - D (x ) + - D (x) 
6D 6 36 

.: D (1) = 0 
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= -~ (1 + x2 
- .!. x + ~) 

60 3 18 

= -.!. IT 1 + x2 - ~ + ~) dx 
6 Jl 3 18 

d 
.: 0 ==-

dx 

= -i [x + ~ - i x2 
+ :8 x] = -i [

25 x + x
3 _~) 

18 3 6 

:. The required solution is y = CP. + P.I. 

or C C 3x C -2x 25 x
3 

x
2 

Y = 1 + 2 e + 3 e -- x - - + -
108 18 36 

d2 d 
Example 13. Solve -{ -2 ---X.. + 2y = x + eX cos x 

dx dx 

Solution. Given differential equation is 
(02 - 20 + 2) Y = x + eX cos x 

Here the auxiliary equation is 
m2 - 2m + 2 = 0 => m = 1 ± i 

(V.P.T.V.2002) 

:. CP = ex (Cl cos x + C2 sin x), where Cl and C2 are arbitrary constants, 
1 

and P.I. = 2 (x + eX cos x) 
o -20 + 2 

1 1 
---::---- x + (eX cos x) 
0 2 

- 20 + 2 0 2 - 20 + 2 
1 1 

--,;=----__=;_ x + eX cos x 
2 [1-0+ ~2] {{0+1)2 -2(0+1)+2} 

~ ~ [1- D + ~' r (x) + e' D,1+ 1 cos x Here f (-.') ~ 0 

= i [1 + 0 - ~2 + ......... .) (x) + eX ~ sin x 

1 { 1 2 } xe
x 

. = - x + 0 (x) - - 0 (x) + - sm x 
222 

1 x eX . 
= - (x+l)+ -- sIn x 

2 2 

:. The required solutions y = CP + P.I 
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or y = ex (C1 cos x + C2 sin x) + .!. (x + 1) + x eX sin x 
2 2 

Example 15. Find the complete solution of 

d2 d -.X _ 3-.r + 2y = x e3x + sin 2x 
dx2 dx 

Solution. The given differential equation is 

(D2 - 3 D + 2) Y = x e3x + sin 2x 

Here the auxilliary equation is 

(U.P.T.U.2003) 

m2- 3m + 2 = 0 ~ (m -1) (m - 2) = 0 ~ m = 1, 2 

:. C.F = C1 ex + C2 e2x, where C1 and C2 being arbitrary constants 

& P.1. = 2 1 (x e3x + sin 2x) 
D -3D+2 

1 (x e3X ) + 1 (sin 2x) 
D2 _ 3D + 2 D2 - 3D + 2 

= e3x 1 (x) ..... 1 (sin 2x) 
(D + 3)2 - 3 (D + 3) + 2 _22 - 3D + 2 

__ e3x 1 ( ) 1 . 2 x + sm x 
D2 + 3D + 2 -3D - 2 

= e" ~ ( 3 1 0') (x) - (30
1
+ 2) (sin 2x) 

1 + - D+-
2 2 

( 
2 )_1 1 3x 3D 0 3 D - 2 . 

= - e 1 + - + - (x) - (sm 2x) 
2 2 2 9D2 

- 4 

_ 1 3x [1 3D D2 ] () (3D - 2) (. 2) l' D2 b 22 - - e - - - - ......... x - 2 sm x rep acmg y-
2 2 2 9 (-2 ) - 4 
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= .! e3x (x - ~) + -.!.. (3D sin 2x - 2 sin 2x) 
2 2 40 

= .! e3x (x - ~) + -.!.. (6 cos 2x - 2 sin 2x) 
2 2 40 

= e3x (~ _ ~) + -.!.. (3 cos 2x - sin 2x) 
2 4 20 

Hence the required solution is y = c.p + P.I 

or y = Cl eX + C2 e2x + e3x (~ - ~) + -.!.. (3 cos 2x - sin 2x) 
2 4 20 

Example 16. A body executes damped forced vibrations given by the equation. 

d
2
x + 2k dx + b2x = e-kt sin wt 

dt2 dt 

Solve the equation for both the cases, when w2 :F- b2 - k2 and w2 = b2 - k2 

[U.P.T.U. 2001, 03, 04 (C.O) 2005] 

Solution. We have d2~ + 2k dx + b2x = e-kt sin wt 
dt dt 

or (D2 + 2k D + b2) X = e-kt sin wt 

Here the auxiliary equation is m2 + 2km + b2 = 0 

=:> m = -k ± i~(b2 _ k2) 

Case 1. When w2 :F- b2 - k2 

where Cl and C2 are arbitrary constants 

& P.I. = 2 1 2 (e-kt sin wt) 
D +2kD+b 
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= e -kt __ --::-__ 1 ____ _::_ (sin wt) 
(D - k)2 + 2k (D - k) + b2 

1 (sin wt) = e-kt ___ 1 __ ~ sin wt 
D2 +(b2 _k2) w 2 +(b2 _k2) 

e-kt sin wt 
b2 _ k2 _ w 2 

Here, complete solution is y = CP + P.I 

or [ ] 
e-kt sin wt 

Y = e-kt C1 cos l(b2 - k2) t + C 2 sin l(b2 - k2) t + -----:-
" " b2 _ k 2 _ w 2 

Case 2. When w2 = b2 - k2 

CP. = e-kt (Cl cos wt + C2 sin wt) 

& P I - 1 (-kt.) 
.• - 2 2 e sm wt 

D +2kD+ b 

1 
= e-kt ----::-------- sin wt 

(D - k)2 + 2k (D - k) + b2 

2 \ 2 sin wt Here f (-a2) = 0 
D +b -k 

= e-
kt 

(- 2~ cos wt) 

t e-kt 
=--- coswt 

2w 

Hence, the required solution is y = CP + P.I 

or y = e-kt (Cl cos wt + C2 sin wt) __ t_ e-kt cos wt 
2w 

Example 17. Solve (D2 - 2D + 1) Y = x eX sin x 

(Bihar P.C.S., 1997; 2007,V.P.P.c.S., 2001; L.D.A. 1995, V.P.T.V. 2005) 

Solution. Here the auxiliary equation is 

m 2 - 2m + 1 = 0 ~ (m -1)2 = 0 :. m = 1, 1 

:. CP. = (Cl + C2 x) eX where Cl and C2 are arbitrary constants 

and P I 1 X • .. = 2 xe smx 
D -2D + 1 
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x 1 ( . ) = e -------- x sm x 
(D + Il - 2 (D + 1) + 1 

xI. 
= e -----;:-------- X smx 

D2 + 1 + 2D - 2D - 2 + 1 

= eX ~ (x sin x) 
D 

= eX ~ Ix sin x dx = eX ~ [-x cos x + sin x] 
D D 

= eX [- fx cos x dx + fsin x dx] 

= eX [-x sin x - cos x - cos xl 

= _eX (x sin x + 2 cos x) 

Hence, the required solution is y = CP + P.I 

y = (C1 + C2X) ex - eX (x sin x + 2 cos x) 

Example 18. Pind the complete solution of the differential equation 

d 2 d -X2 - 2--.r + y = x eX cos x (V.P.T.V. 2009) 
dx dx 

Solution. Here the auxiliary equation is 

m2 - 2m + 1 = 0 ~ (m - 1)2 = 0; :. m = 1, 1 

:. CP. = (Cl + C2 x) eX 

and 
1 

P.I. = 2 X eX cos x 
D -2D + 1 

1 
= eX -2 (x cos x) 

D 

= eX (-x cos x + 2 sin x) 

Therefore, complete solution is y =CP + P.I 

or y = (Cl + C2 x) ex + eX (2 sin x - x cos x) 

Example 19. Solve (D4 + 6D3 + 11D2 + 6D) Y = 20 e-2x sin x 

Solution. Here the auxiliary equation is 

m 4 + 6m3 + 11m2 + 6m = 0 

m (m3 + 6m2 + 11m + 6) = 0 
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m (m + 1) (m + 2) (m + 3) = 0 

:. m = 0, -1, -2, -3 

:. CF. = Cl + C2 e-X + C3 e-2x + C4 e-3x 

& P.I = 4 3 1 2 20 e-2x sin A-
D + 6D + 11 D + 6D 

= 20 e-2x __ --:-___ --:::_1 ___ ~---- sin x 
(D - 2)4 + 6 (D - 2)3 + 11 (D - 2)2 + 6 (D - 2) 

= 20 e-2x ___ 1-,,-__ sin x 
(D - 2) (D3 - D) 

= 20 e -2x 1 sin x 
(D - 2) {(D)2 0 - O} 

= 20 e-2x 1 2 sin x replacing 0 2 by - 12 
(0 - 2) {(-I) 0 - O} 

1 
= 20 e-2x ------ sin x 

(0 - 2) (-D -0) 

= 20 e-2x 1 sin x = 20 e-2x 1 sin x 
4D - 2D2 4D - 2 (_1)2 

1 
= 20 e-2x --- sin x 

4D+2 

= 10 e-2x 2D - 1. 10 -2x (2 cos x - sin x) 
4D2 _ 1 sm x = e 4 (-1) -1 

= 2 e-2x (sin x - 2 cos x) 

Hence, Complete solution is y = CF + P.I 

y = C1 + C2 e-X + C3 e-2x + C4 e-3x + 2e2x (sin x - 2cos x) 

d 
Example 20. Solve (D2 - 4D - 5) Y = e2x + 3 cos (4x + 3) 0 == 

dx 

Solution. We have (D2 - 4D - 5) Y = e2x + 3 cos (4x + 3) 

Here the auxiliary equation is 

m L 4m - 5 = 0 ~ (m - 5) (m + 1) = 0 :. m = 5, -1 

CF. = Cl e5x + C2 e-x 
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1 
& Pol. = 2 {e2x + 3 cos (4x + 3)} o -40-5 

2 1 e2x + 3 2 1 {cos 4x cos 3 - sin 4x sin 3} 
o - 40 - 5 0 - 40 - 5 

2 1 e2x + 3 cos 3 2 1 cos 4x - 3 sin 3 2 1 sin 4x 
(2) - 4(2) - 5 0 - 4 0 - 5 0 - 40 - 5 

1 2x 1 1 
= - - e + 3 cos 3 cos 4x - 3 sin 3 2 sin 4x 

9 _42 -40-5 -4 -40-5 
1 1 1 

= -- e2x + 3 cos 3 cos 4x - 3 sin 3 sin 4x 
9 -16-40-5 -16-40-5 
1 2x' 3 3 1 1 = - - e + cos cos 4x + 3 sin 3 sin 4x 
9 -(40 + 21) 40 + 2 

=_.!. e2x -3cos3 (40-21) cos4x+3sin3 (40-21) sin4x 
9 (6 0 2 

- 44) 16 0 2 
- 441 

1 2 (40-21) 0 40-21 0 

= --e x -3cos3 2 cos4x+3sm3 2 sm4x 
9 4( -4 ) - 441 16( -4 )441 

1 2x 3 3 (-16 sin4x-21 cos4x) 3 0 316cos4x-21sin4x 
= - - e - cos + SIn 

9 -697 -697 

= -.!. e2x _ ~ cos 3 (16 sin 4x + 21 cos 4x) - 3 sin 3 (16 cos 4x - 21 sin 4x) 
9 697 697 

= -.!. e2x 
_ ~ [16 sin 4x cos 3 + 21 cos 4x cos 3 + 16 cos 4x sin 3 - 21 sin 4x sin 3] 

9 697 

= -.!. e2x _ ~ [16 sin (4x + 3) + 21 cos (4x + 3)] 
9 697 

Hence the required solution is y = c.p + P.I 

or y = Cl e5x + C2 e-x -.!. e2x 
- ~ [16 sin (4x + 3) + 21 cos (4x + 3)] 

9 697 

Example 21. Solve d
2

:; + 2 dy + 10 Y + 37 sin 3x = 0, and find the value of y 
dx dx 

when x = rt/2, if it is given that y = 3 and dy = 0 when x = 0 
dx 

Solution. The given equation can be written as 

(02 + 20 + 10) Y = -37 sin 3x 

its auxiliary equation is m2 + 2m + 10 = 0, which gives 
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m = % [-2 ± ~(4 - 40) ] = -1 ± 3i 

C.F. = e-X [CI cos 3x + C2 sin 3x], where CI & C2 are arbitrary constants, 

and P.I. = 2 1 (-37 sin 3x) 
D + 2D + 10 

= -37 1 sin3x 
D2 + 2D + 10 

= -37 1 sin 3x 
_32 + 2D + 10 

=-37 1 sin3x=-37 1 (2D-1)sin3x 
2D+1 (4D2-1) 

=-37 1 (2D-1)sin3x 
{4 (_32

) -1} 

= (2D - 1) sin 3x = 6 cos 3x - sin 3x 

Hence the required solution of the given diff~rential equation is 

y = e-X (CI cos 3x + C2 sin 3x) + 6 cos 3x - sin 3x 

Differentiating both sides of (1) with respect to x, 

we get 

(1) 

dy =e-x (-3 Cl sin 3x + 3 C2 cos 3x) - e-X (C1 cos 3x + C2 sin 3x) - 18 sin 3x - 3 cos 3x 
dx 

It is given that when x = 0, y = 3 and dy = 0 
dx 

:. From (1) and (2) we, have 

3 = CI + 6 

and 

From (3) and (4) we get CI = -3 and C2 = 0 

:. From (1), we have 

y = -3 e-X cos 3x + 6 cos 3x - sin 3x 

:. when x = 1t/2 we have from (5) 
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3 -,,/2 31t 6 31t . 31t Y = e cos - + cos - - SIn -
222 

-If 

y = -3e 2 .0 + 6.0 + 1 

ory = 1 

Example 22. Solve (D2 + 1)2 = 24 x cos x given the initial conditions x = 0, y = 0, 
Dy = 0, D2y = 0, D3y = 12 (I.A.S.2001) 

Solution. Here the auxiliaryequation is 

(m2 + 1)2 = ° 
or m = ± i (twice) 

:. C.F. = (Cl x + C2) cos x + (C3 X + C) sin x 

1 
and P.I. = 2 2 (24 x cos x) 

(D + 1) 

- R P of 1 24 x eix 
- . . 2 2 

(D + 1) 

= RP. of 24 eix ___ 1 __ -::- x 

[(D + i)2 + 1 J 
= RP. of 24 e'X _::--1_--::- x 

(D2 + 2iD)2 

1 
= RP. of 24 eix --------:;:-x 

[ 
D]-2 

_4D2 1 + 2i 

= RP. of -6 e'X ~2 (1 + iD - ~ D2 + ......... ) X 

= RP. of -6 eix 
-;. (x + i) 
D 

R P f 6 ix (1 3 1. 2) = .. 0- e (;x +"21X 

= RP. of - (cos x + i sin x) (x3 + 3i x2) 

= _x2 cos X + 3x2 sin x 

:. The solution of the given differential equation is 
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y = (Cl X + C2) cos x + (C3 X + C4) sin x - x3 cos X + 3x2 sin x 

y = (Cl X + C2 - x3) cos X + (C3 X + C4 + 3x2) sin x (1) 

:. D2y = -(Cl+C4+C3X) sin x + C3 cos X + (C3-C2+6x-CIX+X3) cos x + (6-4+3x2) sinx 

or D2y = (6 - 2 Cl - C4 - C3X + 3X2) sin x + (2 C3 - C2 + 6x - Cl X + x3) cos x (3) 

:. D2y = (6 - 2 Cl - C4 - C3 X + 3X2) cos X + (-C3 + 6x) sinx - (2 C3 - C2 + 6x - Cl X + 
x3) sin x + (6 - Cl + 3x2) cos x 

or D3y = (12-3 C1-G-C3 x + 6x2) cos X + (C2-3 C3 - 6x + C1 X + 6x - x2) sin x (4) 

Since we are given that x = 0, y = 0, Dy = 0, D2y = 0, D3y = 12 so from (I), (2), (3) 
and (4) we get 

0=C2 

0= Cl + C4 

0= 2C3-C2 

12 = 12 - 3 Cl - C4 

From (5) and (7) we get C2 = 0 = C3 

From (6) and (8) we get Cl = 0 = G 

:. From (1) the required solution is 

y = 3x2 sin x - x3 cos x 

(5) 

(6) 

(7) 

(8) 

(D) P.I when Q is of the form x. V, where V is any function of x 

_1_ (x. V) = x. _1_ V _ fl (D) V 
f (D) f (D) {f (D)}2 

Example 23. Solve (D2 - 2D + 1) Y = x sinx 

Solution. Here the auxiliary equation is m2 - 2m + 1 = 0 

or (m -1)2 = 0 or m = I, 1 

:. C.F. = (Cl x + C2) eX, where Cl and C2 are arbitrary constants 

and P.I = 1 x sin x 
D2 - 2 D + 1 
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1 . (2D - 2) 
=x slnx- sin x 

D2 _ 2D + 1 (D2 - 2D + 1)2 

_ 1 . (2D - 2) sm' x 
-x 2 smx- 2 2 

-1 -2D + 1 (-1 - 2D + 1) 

=_~ ~ sinx- _1_ (2D-2) sin x 
2 D 4 D2 

X f' d 1 1 ( .) = -- sIn x x - - - cos x - sm x 
2 2 D2 

= ~ cos x - .! ~ r(cos x - sin x) dx 
2 2 D J' 
x 1 1 ( . ) = - cos x - - - sIn x + cos x 
2 2 D 

= ~ cos x -.! r(sin x + cos x) dx 
2 2 J' 
x 1 ( .) = - cos x - - -cos x + sIn x 
2 2 

= .! (x cos x + cos x - sin x) 
2 

:. The required solution is y = C.F + P.I 

y = (Cl X + C2) ex + .! (x cos x + cos x - sin x) 
2 

or 

(E) To show that _1_ Q = eax fQe-ax dx, where Q is a function of x. 
O-a 

1 
Proof Let y = -- Q 

D -a 

Then (D - a) y = Q, operating both sides with D - a 

or dy _ ay = Q, Which is a linear equation in y whose integrating factor is e-ax its 
dx 

solution is ye-ax = fQ e-ax dx, neglecting the constant of integration as P.I. is 

required 

or y = eax fQ e-ax dx 

or _1_ Q = eax fQ e-ax dx 
D-a 
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Example 24. Solve (D2 + a2) y = sec ax (U.P.PC.S. 1971, 1973, 1977) 

Solution. The auxiliary equation is m2 + a2 = 0 or m = ± ai 

:. C.F. = Cl cos ax + C2 sin ax, where Cl and C2 are arbitrary constants 

and P.I = 1 sec ax = _1_ [_1 ____ 1_] sec ax 
D2 + a2 2 i a D - ia D + ia 

Now sec ax = e1aX sec ax. e-laX dx 1 'J ' 
D - ia 

similarly, 

= eiax Jsec ax. (cos ax - i sin ax) dx 

= eiax J(1 - i tan ax) dx 

= e
1aX 

[x + GJ log cos ax J 

1 ' f -- sec ax = e-1 ax sec ax. e iax dx 
D+ ia 

= e-i ax Jsec ax (cos ax + i sin ax) dx 

= e- i ax J(1 + i tan ax) dx 

=e-
iax 

[x- (;) log cos ax] 

:. From (1) we, have 

1 [, {i }' P.I = -. - e1 ax X + - log cos ax _e-1aX 
21 a a 

{ x - ; log cos ax}] 

[ (
eiaX _e-laX) i (e1aX + e-iaX )] 

= x . + - (log cos ax). . 
21a a 21a 

= (~) sin ax + a12 cos ax. (log cos ax) 

:. The required solution is 

y = C.F. + P.I. 
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or y = Cl cos ax + C2 sin ax + (~) sin ax + (:2 ) cos ax. log cos ax 

Example 25. (02 + a2) y = cosec ax 

Solution. Here the auxiliary equation is m 2 + a2 = 0 

or m = ± ai 

:. C.F. = Cl cos ax + C2 sin ax and 

P.I = cosec ax = - -- - --- cosec ax 1 1 [1 1] 
0 2 + a2 2ia 0 - ia 0 + ia 

1 .} . Now --.- cosec ax = elaX (cosec ax) e-1 ax dx o -la 

= ei ax fcosec ax (cos ax - i sin ax) dx 

= e i ax f(cot ax - i) dx 

= ei ax [~ (log sin ax) - iX] 

1 . } and --- cosec ax = e-1 ax (cosec ax) e i ax dx 
0+ ia 

:. From (1) we have 

= e-iax f(cosec ax) (cos ax + i sin ax) dx 

= e- i ax f(cot ax + i) dx 

= e- i ax U' (log sin ax) + iX] 

P.I.= 2~a [e
iaX {~(IOgSinaX)-ix} _e-

iax {~(IOgSinaX)+iX}] 

= [1.- (log sin ax) (e
i 

ax - e-
i 
ax) _~ (e

i 
ax + e-

i 
ax)] 

~ ~ a 2 

= (:2) sin ax (logsinax)- (~) (cos ax) 

:. The required solution is y = C.F + P.I 

66 

(1) 



Linear Differential Equations with Constant Coefficients and Applications 

or y = Cl cos ax + C2 sin ax + (a12 ) sin ax log (sin ax) -(;) cos ax 

Example 26. (D2 + a2) y = tan ax 

Solution. Here C.F. = Cl cos ax + C2 sin ax 

and P.I. = tan ax = - -- - -- tan ax 1 1 [1 1] 
D2 + a2 2ia D - ia D + ia 

Now _1_ tan ax = ei ax re-i aXtan ax dx 
D - ia J 

= ei 
ax J(cos ax - i sin ax) tan ax dx 

= ei ax l sin ax _ i sin 
2 

ax] dx Jl cos ax 

-- ei ax I . d . 1 ax J( 1 - cos
2 

ax) d sm ax X-I e x 
cos ax 

=eiax {(-cos ax)ja} _ieiax j(sec ax-cosax)dx 

1 {( i ax )}. i ax [1 I ( 1t ax) 1. ] = -; e cos ax - Ie ~ og tan 4" +""2 - ~ sm ax 

=_(;) e
iax 

[cos ax+ilogtan (~+ a;) -isinax] 

= -; ei 
ax [(COS ax - i sin ax) + i log tan (~ + a

2
x)] 

= _; ei 
ax [e-iax + i log tan (~ + ';)] 

- -; [1 + i e
i 

ax log tan (~ + ';)] 

Similarly replacing i by -i we get 

1 (1) [1 . -i ax I (1t ax)] --.- tan ax = - - - 1 e og tan - + -
D+Ia a 4 2 

:. From (I), (2) and (3), we have 
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PI 1 [1 { . iaxi (1t ax)} 1 { . -iaxi (1t ax)}] . = 2ia -; 1 + 1 e og tan "4 + 2" +; 1 - 1 e og tan "4 + 2" 

1 [ i ( . .) (1t ax)] = -. - _- e1aX + e-1aX log tan - + _ 
21a a 4 2 

= -.!. (cos ax) log tan (~ + ax) 
a2 4 2 

:. The required solution is y = CF + P.I 

or y = Cl cos ax + C2 sin ax - -4 cos ax log tan (~ + ax) 
a 4 2 

Miscellaneous solved Examples 

Example 27. Solve (D2 - 2D + 1) Y = x2 e3x 

Solution. Here the auxiliary equation is 

m2 -2m + 1 = 0 

or (m-1)2=O 

or m = 1, 1 

:. CF. = (Cl x + C2) eX 

and P.1. = 2 1 x2 e3x = e3x ----=-2--1---- x2 
D - 2D + 1 (D + 3) - 2 (D + 3) + 1 

= ~ e3x (X2 _ Dx
2 + ~ D2

x
2 ) 

= ~ e3x 
(X2 - 2x + %) 

= ~ e3x (2X2 - 4x.+ 3) 

:. The required solution is y = CF + P.I 
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1 
or y = (Cl X + C2) ex + - e3x (2X2 - 4x + 3) 

8 

Example 28. Solve (D2 - 1) Y = cos hx 

Solution. The given equation can be written as 

1 
(D2 - 1) Y = - (ex + e-x) 

2 

its auxiliary equation is m2 -1 = 0 

orm = ±1 

:. C.F. = Cl eX + C2 e-X, where Cl, C2 are arbitrary constants 

and P.I = 1 .! (eX + e-X) 
D2 -1 2 

1 1 xlI -x 
=- e +---e 

2 (D2 - 1) 2 D2 - 1 

= .! eX 1 1 + .! 1 e-x 

2 (D + 1)2 - 1 2 (_1)2 - 1 

= .! eX 1 (1) 1 e-x 
2 D2 + 2D -4" 

= .! eX 1 (1) _ .! e-x 

2 2D (1 + ~) 4 
=~ex~ (1- ~ + ....... )l_~e-X 

= .! eX ~ (1) _ .! e-x 
4 D 4 
1 X Jl d 1 -x 1 X I_x 

=4"e x-4"e =4"e x-4"e 

:. The required solution is y = C.F + P.I 

1 
or y = Cl eX + C2 e-x + - (x eX - e-x) 

4 

Example 29. Solve (D2 - 4) Y = cos2 x 

Solution. Its auxiliary equation is m2 - 4 = 0 

orm= ±2 
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:. CP. = C1 e2x + C2 e-2x, where C1 and C2 are arbitrary constants 

1 1 [1 ] and P.I = 2 cos2x = -2 - - (1 + cos 2x) 
D -4 D -4 2 

= 1 .!. + _1_ (.!. cos 2X) 
D2 -4 2 D2 -4 2 

= -- 1 - - D - + - cos 2x 1 ( 1 2 )-1 1 1 1 
4 4 2 2 _22_4 

= -.!. [1 + .!. D2 + ] .!. - ~ cos 2x 4 4 ......... 2 16 

= -~ (%) -i cos 2x 

1 
= -- (2 + cos 2x) 

16 

:. The required solution is y = CP + P.I 

1 
or y = C1e2x + C2 e-2x -- (2 + cos 2x) 

16 

Example 30. Solve (D2 + 1) Y = x2 sin 2x 

Solution. Here the auxiliary equation is m 2 + 1 = 0 

orm=±i 

:. CP = C1 cos X + C2 sin x, where C1 and C2 are arbitrary constants 

and P.I = 1 x2 sin 2x = I.P of 1 x2 e2 ix 
D2 + 1 D2 + 1 

= I.P of e2ix ___ 1--=-__ x2 
{(D + 2if + I} 

= I.P of e2ix 
_-0--_

1 ___ x2 
(D2 + 4i D - 3) 

= I.P of e21X 
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~ I.P of e~; [1 + ( 4iD ; D') + (16 i: D' +. -} .... ] x' 

= I.P of -~ e2ix (1 + j iD _ 1: D2 + ........ ) x2 

= I.P of -! e2ix [X2 + ! i (2x) _ 13 (2)] 
339 

= I.P of -~ (cos 2x + i sin 2x) [( x2 
_ ~6) + ~ Xi] 

= - ~ (~ x ) cos 2x - ~ (X2 _ 2:) sin 2x 

= -~ [24 x cos 2x + (9x2 - 26) sin 2x] 
27 

:. The required solution is 

y = Cl cos X + C2 sin x -~ [24 x cos 2x + (9X2 - 26) sin 2x] 
27 

EXERCISE 
Solve the following differential Equations 

1. (D3 + 6D2 + 11 D + 6) Y = 0 

Ans. y = Cl e-x + C2 e-2x + C3 e-3x 

d 2x dx. dx 
- - 3 - + 2x = 0 gIven that when t = 0, x = 0 and - = 0 
~ ~ ~ 

2. 

Ans. x = 0 

3. 

Ans. 

4. 

5. 

d 
(D2 + D + 1) Y = e-X, where D = 

dx 

Y = e-
x
/
2 [c} cos (~ xF3) + C 2 sin (~ xF3)] + e-

x 

(D - 1)2 (D2 + 1)2 Y = eX 

~ d d -.L -3 -X +2y=eX,y=3and -X =3, when x = 0 
dx2 dx dx 
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Ans. Y = 2eX + e2x - x eX 

d2y dy . 
-- - - -2y=sm2x 
dx2 dx 

6. 

Ans. Y = C1 e2x + C2 e-x + ~ (cos 2x - 3 sin 2x) 
20 

7. (D2 + 16) Y = sin 2x, given that y = 0 and dy = ~ where x = 0 
dx 6 

Ans. 12 Y = 2 sin 4x + sin 2x 

d2y 
- - 4y = eX + sin 2x 
dx2 

8. 

Ans. y = Cl e2x + C2 e-2x -.!. eX - .!. sin 2x 
3 8 

9. (4D2 + 9) Y = sin x, given that y = %, ~~ = ~ when x = 1t 

Ans. 
2 3x 1 . 3x 1. Y = - cos - - - sm - + - sm x 
3 2 2 2 5 

10. 
d 2x dx 2 

Find the integral of the equation - + 2n cos x - + n x = a cos nt 
dt2 dt 

which is such that when t = 0, x = 0 and dx = 0 
dt 

Ans. x = e-nt~osa {_ ~ sin (n sin a.) t} + a sin nt 
n 2 sm 20. 2n2 cos a. 

11. 

Ans. y = Cl cos ax + C2 sin ax -~ cos ax 
2a 

12. (D2 + a2) y = cos ax 

Ans. y = Cl cos ax + C2 sin ax + i (;) sin ax 

·13. (D4-1)y=sinx 

Ans. Y = Cl eX + C2 e-X + C3 cos X + C4 sin x + ~ cos x 
4 
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Ans. 

15. 
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(1)4 + D2 + 1) Y = e-x/2 cos (~ x J3 ) 

Y = e-x/2 [C cos.!. xJ3 + C sin.!. xJ3] + ex/
2 

1 2 2 2 

[ C3 cos %J3 + C4 sin %J3] _16e-x/
2 

cos (%J3) 

(D2 + 1) Y = sin x sin 2x 

Ans C C · x. 13 . Y = 1 cos X + 2 sm x + - sm x + - cos x 
4 16 

d2y 
- + 4y = sin2x 
dx2 16. 

AIlS. y = Cl cos 2x + C2 sin 2x + .!. - ~ sin 2x 
8 8 

17. (D2 - 4) Y = x2 

Ans. y = Cl e2x + C2 e-2x _ ~ (X2 + ~) 

18. Solve (D3 - 8) Y = x3 

Ans. Y = Cl e2x + e-X (C2 cos xJ3 + C3 sin xJ3) - ~ (X3 + ~) 
19. (D3 + 2D2 + D) Y = e2x + x2 + x 

1 2x 1 3 3 2 Ans. y = Cl + (C2X + C3) e-x + - e + - x -- x + 4x 
18 3 2 

20. 
d2 d 
-{ = a + bx + cx2, given that -L = 0, when x = 0 and y = d, when x = 0 
dx dx 

ax2 bx3 cx4 

Ans. y=d+-+-+-
2 6 12 

21. 

Ans. 

22. 

(D2 + 4D -12) Y = (x -1) e2x 

1 
y = Cl e2x + C2 e-6x + - (4X2 - 9x) e2x 
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(
d

2y 
_ 2 dy + 5) Y = e2x sin x 

dx2 dx 
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Ans. y = ex (Cl cos 2x + C2 sin 2x) - ~ e2x (cos x - 2 sin x) 
10 

23. (D2 -4D + 4) Y = e2x sin3x 

Ans. y = (Cl X + C2) e2x - .!. e2x sin 3x 
9 

24. (:x + 1 J Y = x2 e-x 

Ans. y = (Cl x2 + C2 X + C3) e-X + ~ x5 e-x 
60 

25. 
d2 d -.X.. + 2 -L + Y = x COSX 
dx2 dx 

An (C C) 
1. 1. 1 

s. Y = 1 X + 2 e-X + - x sin x - - sm x + - cos x 
222 

d4y . 
- -y=xsmx 
dx4 

26. 

Ans. y = Cl eX + C2 e-X + C3 cos X + ~ sin x + .!. (x2 cos x-3 x sinx) 
8 

d2 d -.5... + 2 -L + Y = x sin X 
dx2 dx 

27. 

Ans. y = (Cl + C2X) e-X + .!. (sin x + cos x - x cos x) 
2 

(LA.S. 1998) 

28. Solve (D2 + 1)2 Y = 24 x cos x, given that y = Dy = D2y = 0 and D3y = 12 
when x = 0 

Ans. Y = 3x2 sin x - x3 cos x 

29. (D2 - 4D + 4) Y = 8x2 e2x sin 2x (U.P.T.U. 2004, 2005) 

Ans. y = (Cl + C2 x) e2x + e2x (_2X2 sin 2x - 4x cos 2x + 3 sin 2x) 
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Objective Type of Questions 
Choose a correct answer from the four answers given in each of the 
following questions. 

1. The solution of the differential equation d
2

;- + (3i -1.) dy - 3iy = 0 is 
dx dx 

(a) y = Cl ex + C2 e3ix 

(c) y = Cl ex + C2 e-3ix 

Ans. (c) 

(b) 

(d) 

y = Cl e--X + C2 e3ix 

y = Cl e-X + C2 e-3ix 

(I.A.S. 1998) 

2. A particular integral of the differential equation (02 + 4) Y = x is 

(a) xe-2x 

(c) x sin 2x 

Ans. (d) 

(b) 

(d) 

x cos 2x 

x/4 

3. The particular integral of (02 + 1) Y = e-x is 

(a) (~ _ ~) e-
x (b) e x)_x - + - e 

4 2 

e-x 
(d) 

e-x 

2 -2 
(c) 

Ans. (c) 

(I.A.S.1998) 

(I.A.S.1999) 

4. For the differential equation (0 + 2) (0 -1)3 Y = eX the particular integral is 

(I.A.S. 1990, V.P.P.C.S. 2000) 

(a) 

(c) 

Ans. 

5. 

1 1 _ X4 eX (b) _ x3 eX 
18 18 

1 1 _ xe3x (d) _ xe3x 
18 36 

(b) 

The particular integral of the differential equation d
2

y + 9y = sin 3x is 
dx 

75 



(a) 

(c) 

x sin 3x 
18 

-x cos 3x 

6 

Ans. (c) 
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(b) 

(d) 

x sin3x 
6 

x cos 3x 
18 

6. The solution of the differential equation d
2
;- _ 3 dy - 4y = 0 is 

dx dx 

(a) y = Cl e-x + C2 e-4x 

(c) y = Cl e-x + C2 e4x 

Ans. (c) 

(b) 

(d) 

y = Cl eX + C2 e4x 

y = Cl ex + C2 e-4x 

(U.P.P.C.S. 2001) 

7. The general solution of the differential equation (02 -1) Y = x2 is 

(a) y = Cl ex + C2 e-X - x2 (b) Y = Cl ex + C2 e-X + (x2 + 2) 

(c) Y = Cl eX + C2 e-X - 2 (d) Y = Cl eX + C2 e-X - (x2 + 2) 

Ans. (d) 

8. The P.I. of (02 - 20) Y = ex sin x is 

(a) 

(c) 

1 X • 
-- e smx 

2 

1 x -- e cos x 
2 

(a) 

(b) eX cos x 

(d) none of these 

Ans. 

9. The general solution of the differential equation 0 2 (0 + 1)2 Y = ex is 

(a) 

(b) 

(c) 

(d) 

y = Cl + C2 X + (C3 + C4 x) eX 

1 
y = Cl + C2 X + (C3 + ~ x) e-x + - eX 

4 

y = (Cl + C2 e-x) + (C3 + C4x) e-X + .!. eX 
4 

none of these 

Ans. (b) 

10. Y = e-X (Cl cosJ3 x + C2 sin J3 x) + C3 e2x is the solution of 
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(a) (b) 

(c) (d) 

Ans. (c) 

11. The P.I of the differential equation (03 - 0) Y = eX + e-X is 

(a) 

(c) 

! (eX + e-X) 
2 

! x2 (eX + e-X) 
2 

Ans. (b) 

(b) 

(d) 

! x (eX +e-X) 
2 

! x2 (eX _e-X) 
2 

(I.A.S. 1993) 

12. Given y = 1 + cos x and y = 1 + sin x are solutions of the differential 

equation d
2
; + y = 1, its solution will be also 

dx 

(a) y = 2 (1 + cos x) 

(c) y = cos x - sin x 

Ans. (d) 

(b) 

(d) 

y=2+cosx+sinx 

y = 1 + cos x + sin x 

(R.A.S. 1994) 

13. The solution of the differential equation (03 - 602 + 110 - 6) Y = 0 is 

(a) y = Cl eX + C2 e2x + C3 e4x 

(c) y = Cl e-X + C2 e2x + C3 e4x 

Ans. (d) 

(b) 

(d) 

(R.A.S. 1994) 

y = Cl e2x + C2 e3x + C3 e4x 

y = C1 ex + C2 e2x + C3 e3x 

14. The solution of the differential equation d
2
; - dy - 2y = 3 e 2x , when y(O) 

dx dx 

(a) 

(c) 

= 0 = and y(O) = -2 is 

y = e-X - e2x + x e2x 

x 
y = e-x + e2x - e2x 

2 

Ans. (a) 

(b) 

(d) 

y = ex - e-2x - x e2x 

x y = eX - e-2x __ e2x 
2 
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15. The solution of the differential equation d
2
; + y = cos 2x is 

dx 

(a) 

(c) 

A cos x + B sin x + .:!. cos 2x 
3 

A cos x + B sin x - .:!. cos 2x 
3 

Ans. (c) 

(b) 

(d) 

(V.P.P.C.S. 1995) 

A cos x + B sin x + .:!. sin 2x 
3 

A cos x + B sin x - .:!. sin 2x 
3 

16. The general solution of the differential equation d
2
; + n 2 y = 0 is 

dx 

(a) C1 .Jcos nx + C2 .Jsin nx 

(c) Cl cos2nx + C2 sin2nx 

Ans. (b) 

(b) 

(d) 

C1 cos nx + C2 sin nx 

(R.A.S. 1995) 

17. The particular integral of d
2
y + dy = x2 + 2x + 4 is 

dx2 dx 

x2 
(b) - +4x 

3 
(a) 

x3 

-+4 (d) 
3 

(c) 

Ans. (b) 

18. The general solution of 

d4y d3 y d2y dy . 
- - 6 - + 12 - - 8 - = 0 1S 
dx4 dx3 dx2 dx 

(a) y = Cl + (C2 + C3X + C~ X2) e2x (b) 

(c) y=Cl+C2X+C3X2+C4X3 (d) 

Ans. (a) 

(I.A.S. 1996) 

x3 

- +4x 
3 

x3 
- +4X2 
3 

the differential equation 

(I.A.S. 1996) 

Y = (Cl + C2 X + C3 X2) e2x 

y = Cl X + C2 x2 + C3 x3 + ~ X4 

19. The primitive of the differential equation (02 - 20 + 5)2 Y = 0 is 

(I.A.S. 1995) 
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(a) ex {(Cl + C2 x) cos 2x + (C3 + C4 x) sin 2x} 

(b) e2x {(Cl + C2X) cos x + (C3 + C4 x) sin x} 

(c) (Cl eX + C2 e2x) cos x + (C3 eX + C4 e2x) sin x 

(d) eX {Cl cos x + C2 cos 2x + C3 sin x + C4 sin 2x} 

Ans. (a) 

20. Which one of the following does not satisfy the differential equation 

d3y 
- -y=O? 
dx3 

(V.P.P.C.S.1994) 

(a) ex (b) e-X 

(c) e-x
/
2 sin [ ~ x) (d) 

Ans. (b) 

21. The particular integral of (D2 + a2) y = sin ax is 

(LA.S. 1995) 

(a) 
x 

(b) 
x 

-- cos ax - cos ax 
2a 2a 

(c) 
ax 

(d) 
ax 

-- cos ax - cos ax 
2 2 

Ans. (a) 
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Chapter 4 

Equations Reducible To Linear 
Equations with Constant Coefficients 

INTRODUCTION 

Now the shall study two such forms of linear differential equations with variable 
coefficients which can be reduced to linear differential equations with constant 
coefficients by suitable substituitions. 

1. Cauchy's Homogeneous Linear Equations 

A differential equation of the form 

dn dn - I 

xn dX~ +PI x
n

-
I 

dxn-; + ........... +Pny=X 

where PI, P2, ............. Pn are constants and X is either a function of x or a constant is 
called Cauchy-Euler homogeneous linear differential equation. 

The solution of the above homogenous linear equation may be obtained after 
transforming it into linear equation with constant coefficients by using the 
substitution. 

Bth b ·· 1 dz 1 y e su stitution x = eZ or z = OgeXi :. - = -
dx x 

Now dy = dy dz = .! dy 
dx dzdx xdz 

Again d
2

y = ~ (dY) =~(.! dY) 
dx2 dx dx dx x dz 

d2y dz dy 
x----

dz2 dx dz 
x2 
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. 2 d 2y _ d 2y dy 
X -----

.. dx2 dz2 dz 

Also 

Substituting dz = .!. and simplifying, we get 
dx x 

U
. d 

smgx-
dx 

we get 

- ~ == D,in(1),(2)and(3) 
dz 

x dy = Dy 
dx 

d2y 
x2 

- = D (D - 1) Y 
dx2 

In general, we have 

n dny _ 
x - - D (D -1) (D - 2) ............. (D - n + 1) Y 

dxn 

(2) 

(3) 

Using, these results in homogeneous linear equation, it will be transformed into a 
linear differential equation with constant coefficients. 

d 2y dy 
Example 1. Solve x2 

-2 - x- - 3y = x2 log x 
dx dx 

Solution. On changing the independent variable by substituting 

d 
x = ez or z = logex and - == D 

dz 
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The differential equation becomes 

[D (D -1) - D - 3] Y = ze2z 

or (D2 - 2D - 3) Y = ze2Z 

Now the auxiliary equation is m2 - 2m - 3 = 0 

m = 3,-1 

C 
Hence, the C.F. = Cl e3Z + C2 e-z = Cl x3 + _2 

X 

and P.I. = 1 ze2z 
D2 - 2D - 3 

1 z = e2z 1 

(D + 2)2 - 2 (D + 2) -3 
2 Z 

D + 4 + 4D - 2D - 4 - 3 

1 
" z 

D'" +2D-3 

1 
--;-----~z 

-3 (1 _ 2~ _ ~2) 

= e
2z [1 + 2D + D2 + ......... J z 

-3 3 3 

= ~; (z + ~) = e2z (-~ - %) 

= x
2 

(-llOgeX - i) 
Hence solution of the given differential equation is 

3 C2 2 ( 1 2) Y = C1 X + 7 + x -"3 logex - "9 

2 d2y dy 4 
Example 2. Solve x -- - 2x - - 4y = X 

dx2 dx 
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Solution. On changing the independent variable by substituting x ez or 
d 

z = logex and - == D 
dz 

The differential equation becomes 

[D (D - 1) - 2D - 4] Y = e4Z 

Now, the auxiliary equation is 

m2 - 3m - 4 = 0 or m = 4,-1 

:. c.P. = Cl e4z + C2 e-z 

.: eZ = x 

and P.I. = 2 1 e4z 

D -3D-4 

1 1 
(D + 4)2 - 3 (D + 4) - 4 

= e4z 1 1 
D2 + 16 + 8D - 3D - 12 - 4 

=e4z 1 1 
D2 +5D 

~ e 4, 5D (11 + ~) 1 ~ e 4, 5~ (1+ ~ r 1 

=e4z 5~ [1- ~ + ................ ] 1 
= e 4z ~ 1 = e 4z ! z = ! z e 4z 

5D 5 5 

= .! X4 log x 
5 e 

Hence the required solution is 

1 1 4 
Y = Cl X4 + C2 ;; + "5 x logex 
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Example 3. Solve x3 --X + 2X2 --X + 2y = 10 x + -d3 d2 (1) 
dx3 dx2 X 

(I.A.S. 2006, 1998, V.P.P.C.S. 1973) 

Solution. On changing the independent variable by substituting x = ez or 
d 

z logex and -:; D the given differential equation becomes 
dz 

[D(D-l)(D-2)+2D(D-l)+2] y=10 (ez +e-z) 

or (D3 - D2 + 2) Y = 10 (ez + e-z) 

The auxiliary equation is 

m3 - m2 + 2 = 0 or (m + 1) (m2 - 2m + 2) = 0 

or 

and 

D = -1, 1 ± i 

c.p = Cl e-z + C2 eZ cos (z + C3) 

= Cl x-1 + C2 X cos (logex + C3) 

1 Z 1 z P.1. = 10 e + 10 e-
(D + 1) (D2 - 2D + 2) (D + 1) (D2 - 2D + 2) 

. 1 10ez +e-z 1 10 
(1 + 1) (12 - 2.1 + 2) {(D -1 + 1)}{(D _1)2 -2 (D -1) + 2} 

= .:!. 10 eZ + e-z 1 10 
2 D (D2 + 1 - 2D - 2D + 2 + 2) 

= 5 eZ + e-z 1 10 
D (D2 -4D+ 5) 

~5e' +e-' 50 (1-~ + ~( 

~ 5e' + e -, 5~ {1 - [ 4~ - ~2) r 10 

= 5ez + e-z ~ 10 
5D 
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1 
= 5ez + 2e-z - 1 = 5ez + 2e-z z o 
= 5ez + 2z e-z 

1 
= 5x + 2 (logex) -

x 

Hence the required solution is 

1 
Y = Cl x-1 + C2 x (logex + C3) + 5x + (210gex) -

x 

d 3 d2 d 
Example 4. Solve X3 ~ + 3X2 ~ + x -X + Y = x + log X 

dX3 dX2 dx 

(Bihar P.C.S. 2002, V.P.T.V. 2001) 

Solution. On changing the independent variable by substituting 

d 
x=ezorz=logexand - == 0, we have 

dz 

[0 (0 -1) (0 - 2) + 3 0 (0 -1) + 0 + 1] Y = eZ + z 

- or (03 + 1) Y = eZ + z 

The auxiliary equation is m3 + 1 = 0 

or 

=> 

(m + 1) (m2 - m + 1) = 0 

m = -1 1 ±.J3 i 
, 2 

[ 
.J3 . .J3 ) so C.F. = Cl e-z + ez/ 2 C2 cos 2 z + C3 sm 2 z 

and 
1 

P.I. = (eZ + z) 
0 3 + 1 
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1 1 
---=-- eZ + z 
0 3 + 1 1 + 0 3 

= _1_ eZ + (1 + 03rI (z) 
13 + 1 

= .!. eZ + (1 - 0 3 + ........ ) z 
2 

eZ 

= - +z 
2 

Therefore required solution is 

[ 
13 . 13 ) e

Z 

y = CI eZ + ez/ 2 C2 cos - Z + C3 sm - z + - + Z 
2 2 2 

or y = CI X-I + Fx [C2 cos 13 (log x) + C3 sin 13 (log X)] + ~ + log x 
222 

d 2 d 
Example 5. Solve x2 

-{ + x -L + Y = (log x) sin (log x) 
dx dx 

(U.P.T.U.2002) 

Solution. On changing the independent variable by substituting x = eZ or 
d 

z = logex and - = 0, we have 
dz . 

[0 (0 - 1) + 0 + 1] Y = z sin z 

or (02 + 1) Y = z sinz 

The auxiliary equation is 

or 

Thus 

& 

m2 + 1 = 0 

m=±i 

C.F. = CI cos Z + C2 sin z 

= CI cos (log x) + C2 sin (log x) 

1 
P.I. = 2 z sin z o +1 

.. t f 1 iz = Imagmary par 0 2 Z e o +1 
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= I.P.ofeiz 1 z 
(D + i)2 + 1 

= I.P. of eiz 1 z 
D2 + 2iD -1 + 1 

= I.P. of e1Z 
- 1 + - z 1 ( D)-l 
2iD 2i 

= I.P. ofe
iz 2~D (1- ~ + ...... ) z 

= I.P. of e iz _1_ (z _ 1.) 
2iD 2i 

. 1 R i) = I.P. of e1Z 
- z + - dz 
2i 2 

= I.P. of e
iz 

[Z2 + iZ) 
2i 2 2 

= I.P. of -i (cosz+isinz) [Z2 +.!. z) 
222 

= I.P. of -! (i cos z - sin z) [Z2 +.!. z) 
222 

Z2 1. z ( . ) = -- cos z + - z sm z = - sm z - z cos z 
4 4 4 

= log ~ [sin (log x) - log x cos (log x)] 
4 

Hence required solution is 

y = Cl cos (log x) + C2 sin (log x) + logx [sin (log x) -log x cos (log x)] 
4 

d2y dy 
Example 6. Solve x2 -2 - X - + 4y = cos (log x) + x sin (log x) 

dx dx 

Solution. On changing the independent variable by substituting x ez or 
d 

z = log x and - == D we have 
dz 

[D (D - 1) - D + 4] Y = cos z + eZ sin z 
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or (D2 - 2D + 4) Y = cos z + eZ sin z 

The auxiliary equation is 

m2-2m + 4 = 0 

~ m= 1 ± ifj 

Therefore c.P. = eZ (C1 cos fj Z + C2 sin fj z) 

= x [ C1 cos {fj log x + C2 sin (fj log x)}] 

and P.I = 1 cos z + 1 eZ sin z 
D2 - 2D + 4 0 2 - 2D + 4 

1 Z 1 . -,------ cos z + e -------- sm z 
_12 - 2D + 4 (0 + 1)2 - 2 (0 + 1) + 4 

1 cos z + eZ 1 . 
3 _ 2D D2 + 3 sm z 

3 +2D 1 
= cos z + eZ sin z 

9 - 4 D2 _12 + 3 

= (3 + 2D) cos z + ~ sin z 
9 - 4 (_1)2 2 

= ~ (3 + 2D) cos z + .! eZ sin z 
13 2 

= ~ (3 cos z - 2 sin z) + .! eZ sin z 
13 2 

= ~ [3 cos (log x) - 2 sin (log x)] + .! x sin (log x) 
13 2 

Therefore required solution is 

y = x [ C1 cos (fj log x) + C 2 sin (fj log x)] + 113 [3 cos (log x) - 2 sin (log x)] + ~ x sin (log x) 

d2 d 
Example 7. Solve x2 -.-X + 4x ~ + 2y == eX 

dx2 dx 

[U.P.T.U. (CO) 2005] 

Solution. Substituting x = eZ or z = logex and putting ~ == D, we have 
dz 

[D (D -1) + 4D - 2] Y = ee 
z 
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or 
z 

(D + 2) (D + 1) Y = ee 

The auxiliary equation is (m + 2) (m + 1) = 0 

m = -2,-1 

C.F. = Cl e-2Z + C2 e-z = CI x-2 + C2 X-I 

and 1 e
Z [1 1] e

Z 

P.I = (D + 2) (D + 1) e = D + 1 - D + 2 e 

Let 
1 eZ Z 

-- e = u :. (D + 1) u = ee 
D+ 1 

du e
Z hi h· 1· - + U = e ,W C IS Inear 

dz 
or 

Integrating factor = eZ, Hence its solution is 

u eZ = Jez eeL dz 

.: eZ = x :. eZ dz = dx 

or 

1 Z 
Further, let -- ee = v 

D+2 

:. (D+2) v =eez 

dv Z 
or - +2v = ee which is linear 

dz ' 

Integrating factor = e2z, Hence its solution is 

ve2z = Je2Z 
eeL dz 

= Jez ee
z 

eZ dz 

= Jx eX dx 
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Hence 

Hence the required solution is 

2. Legendre's linear differential equation 

(Equation reducible to homogeneous form) 

An equation of the form 

dn dn - 1 

(ax + bt dx~ + kl (ax + bt -1 dxn _; + .... + kny = X (1) 

Where a, b, kl' k2t ........... kn are all constants and X is a function of x, is called 
Legendre'S linear equation. 

Such equations can be reduced to linear equations with constant coefficients by 
substituting ax + b = eZ i.e. z = log (ax + b) 

Then if D=~, dy = dy dz = _a_ dy 
dz dx dz dx ax+b dz 

i.e. (ax + b) dy = aDy 
dx 

d
2
y = ~ (_a_ dY) = _a

2 
dyad (dY) dz 

dx2 dx ax + b dz (ax + b)2 dz + ax + b dz dz dx 

_a_
2
--=- (d

2y 
_ dY) 

(ax + b)2 dz2 dz 

d2 

i.e. (axt b)2 dx; = a2 D (D -1) Y 

Similarly (ax + b)3 d
3

; = a3 D (D -1) (D - 2) Y and so on. 
dx 

After making these replacements in (1), there results a linear equation with 
constant coefficients. 
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d2 d 
Example 8. Solve (1 + X)2 -{ + (1 + x) J... + Y = 4 cos log (1 + x) 

dx dx 

Solution. put 1 + x = ez and ~ = D 
dz 

Hence the given differential equation becomes 

[D (D - 1) + D + 1] Y = 4 cos z 

:. Auxiliary equation is 

D2 + 1 = 0 or D = ± i 

:. C.F. = Cl cos (z + C2) = Cl cos [log (1 + x) + C2] 

and P.I = 2
1 

4 cos z = 4. ~ sin z 
D + 1 2 

=2zsinz 

= 2 log (1 + x) sin log (1 + x) 

Hence the required solution is 

y = Cl cos [log (1 + x) + C2] + 2 log (1 + x) sin log (1 + x) 

Example 9 : Solve 

d2y dy 
(1 +2X)2 - - 6 (1 + 2x) - + 16y = 8 (1 + 2xf 

dx2 dx 

and y (0) = 0, y' (0) = 2 

Solution: Let 1 + 2x = z then 

dy = dy . dz = 2 dy 
dx dz dx dz 

dz ··--2 . dx-

and d
2
y = ~(2 dY) dz = 4 d

2
y 

dx2 dz dz dx dz2 

(LA.S. 1997) 

Substituting these in given differential equation we have 
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d2y dy 
4Z2 - - 6 . 2z- + 16y = 8z2 

dz2 dz 

d2 d or Z2 ~ - 3z~ + 4y = 2Z2 
dz2 dz 

putting z = el, we have 

{9(9-1)-29 +4} Y = 2e2t 

or (92..49 +4) Y = 2e2t 

its auxiliary equation is 

m2-4m+4 =0 

i.e. (m- 2)2 = 0 

or m = 2 (twice) 

:. C.F = (C1 + C2t)e2t 

= (C1+C2Iogz)Z2 

= {Cl + C2log (1 +2x)} (1 +2X)2 

= 2e21 1 .1 = 2e2t ..!...1 
82 +48-4-48-8+4 82 

t 2 
= 2e2t _ = z2(logz)2 

2 

= (1 + 2x)2 {log(l + 2x)}2 

Hence the complete solution is 

y = {C1+C2Iog (1 +2x)} (1 +2x)2+(1 +2x)2{log (1 +2x)}2 

METHOD OF VARIATION OF PARAMETERS 

Method of variation of parameters enables to find solution of any linear non 
homogeneous differential equation of second order even (with variable 
coefficients also) provided its complimentary function is given (known). The 
particular integral of the non-homogeneous equation is obtained by varying the 
parameters i.e. by replacing the arbitrary constants in the C.F. by variable 
functions . 

. Consider a linear non-homogeneous second order differential equation with 
variable coefficients 
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d 2 d -.L + P (x) -.:t + Q (x) Y = X (x) 
dx2 dx 

(1) 

Suppose the complimentary function of (1) is = C1Y
l 

(x) + C2Y2 (x) (2) 

so thatYl and Y2 satisfy 

d 2y dy 
- + P (x) - + Q(x) Y = 0 
dx2 dx 

In method of variation of parameters the arbitrary constants Cl and C2 in (2) are 
replaced by two unknown functions u (x) and v (x). 

Let us assume particular integral is = u(x) Y
l 

(x) + v(x) y2(x) (3) 

where u= f -XY2 dx 
Yl Y2' - Yl' Y2 

and v = f X Yl dx 
Yl Y2' - Yl' Y2 

on putting the values of u and v in (3) we get P.I 

Thus, required general solution = c.p + P.I 

Example 10. Apply the method of variation of parameters to solve 

d2 

-.L + Y = tan x 
dx2 

Solution. The auxiliary equation is m2 + 1 = 0 => m = ± i 

:. c.P. = Cl cos X + C2 sin x 

Here Yl = cos x, Y2 = sin x 

Therefore Yl Y2' - Yl' Y2 = cos2x + sin2x = 1 

Let us suppose P.I = U'Yl + V Y2 

where 

- f -X Y 2 d - fSin x tan x d u- x-- X 
Yl Y2'-Yl'Y2 1 
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- ISin2 x d - II -cos
2
x d -- -- x-- x 

cos x cos x 

= f(cos x - sec x) dx 

= sin x -log (sec x + tan x) 

& v = I X Y 1 dx = ran xl cos x dx 
Yl Y2'-Yl'Y2 

= f sin x dx = - cos x 

Putting the values of u and v in (2), we get 

P.I = u Yl + V y2 

= [sin x -log (sec x + tan x)] cos x - cos x sinx 

= - cos x log (sec x + tan x) 

Therefore, complete solution is 

Y = Cl cos X + C2 sin x - cos x log (sec x + tan x) 

Example 11. Use variation of parameters to solve 

d2y 
-- +y=secx 
dx2 

Solution. The auxiliary equation is 

m2 + 1 = 0 

m=±i 

C.F = Cl cos X + C2 sin x 

Here Yl = cos x, y2 = sin x 

Let us suppose P.I. = u Yl + V Y2 

where I-sec x sin x d 
u= x 

1 

As Yl Y2' - Yl' Y2 = cos X cos x - (- sin x) sinx 
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=1 

= - ftan x dx 

= log cos x 

v = f ,XYI, dx 
YIY2 - YI Y2 

putting the values of u and v in (2), we get 

P.I = log cos x. cos x + x. sin x 

Therefore, complete solution is 

Y = CI cos X + C2 sin x + cos x. log cos x + x sin x 

Example 12. Using the method of variation of parameters solve 

d2y 
-- + 4y = 4 tan 2x 
dx2 

(I.A.S. 2001, V.P.T.V. 2006) 

Solution. Here the auxiliary equations 

m 2 + 4 = 0 m=±2i 

c.p = CI cos 2x + C2 sin 2x 

Here YI = cos 2x, Y2 = sin 2x 

Let us suppose P.1. = UYI + VY2 

U = f -x Y2dx = r 4 tan ~ sin 2x dx 
YI Y2' - YI' Y2 

where 

.. ASYI Y2' - YI' Y2 = 2 cos 2x cos 2x + 2 sin2x sin 2x = 2 

= -f2 sin22x dx = _f1- cos
2

2x dx 
cos 2x cos 2x 

= 2 f(cos 2x - sec 2x) dx 

= sin 2x -log (sec 2x + tan 2x) 
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and v = J ~ Y 1 , dx = r tan 2x cos 2x dx 
Y1 Y2 - Y1 Y2 2 

= 2 J sin 2x dx = - cos 2x 

putting the values of u and v in (2) we get 

P.I = {sin 2x -log (sec 2x + tan 2x)} cos 2x - cos 2x sin 2x 

= - cos 2x log (sec 2x + tan 2x) 

Hence, the complete solution is 

Y = C1 cos 2x + C2 sin 2x - cos 2x log (sec 2x + tan 2x) 

Example 13. Obtain general solution of the differential equation 

d 2y dy x2 -- + x- _ Y = x3 eX 
dx2 dx 

(U.P.T.U.2002) 

Solution. On changing the independent variable by substi~ting x = eZ or 

z = logex and ~ = D the differential equation becomes 
dz 

[D (D -1) + D -1] Y = e3Z ee 
z 

or 

Here auxiliary equation is m 2 - 1 = 0 ~ m = ± 1 

. . CP = C1 eZ + C2 e-z 

c.p = C1 X + C2 

Let P.I = u y1 + V Y2 

1 
Here Yl = x and Y 2 = -

X 

X 

Also 

3 X 1 d 
u = J __ -_X-=..Y..::.2_d_x_ = J -x e ~ x = rx

2
e

X 
dx 

Y1 Y2' - Y1' Y2 X (_~) _ .! (1) -2 
x2 x x 
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= ~ [x3 
- 3x2 + 6x - 6] eX 

& v = J X y1dx = J x
3 

eX x dx 

Yl Y2' - Yl' Y2 X (_~) _2 (1) 
x2 x 

Jx
4 

eX 1 f = --2- dx = -"2 x5 eX dx 

x 

or 

putting the values of u and v in equation (2) we get 

13 2 X 15 4 3 2 xl P.I = - (x - 3x + 6x - 6) e x - - (x - 5x + 20x - 60 x + 120 x - 120) e -
2 2 x 

eX [4 3 2 4 3 2 120] ="2 x - 3x + 6x - 6x - x + 5x - 20x + 60x - 120 + -;-

- eX [3 2 120] ="2 2x - 14x + 54x - 120 + -;-

Hence the required solution is y = C.F + P.I 

C 60 or y = Cl X + _2 + (x3 - 7x2 + 27x - 60 + -) eX 
x x 

Example 14. Solve by method of variation of parameters 

d 2y 2 
--y=-­
dx2 1 + eX 

Solution. Here auxiliary equation is m2 - 1 = 0 

m=±l 

:. C.F = CI eX + C2 e-X 

Here yl =ex, Y2 = e-X 

Let P.I = UYI +VY2 
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where 

2 -x ---e 
u = J -~Y2 I dx = P + eX dx 

Yl Y2 - Yl Y2 -2 

= --dx= dx= ---- dx J e-x J 1 R 1 1) 
1 + eX eX (1 + eX) eX 1 + eX 

-X 

= re-x dx - J e dx 
J e-x + 1 

= -e-X + log (e-x + 1) 

J X Y Jex 
2 v = 1 dx = - --- dx 

YIY21 -YI 1 Y2 -21+e
x 

P.I=UYl +vY2 

= [-e-x + log (e-x + 1)] eX - e-x log (1 + ex) 

= -1 + eX log (e-x + 1) - e-X log (ex + 1) 

:. Y = Ct ex + C2 e-x -1 + eX log (e-x + 1) -e-X log (ex + 1) 

Example 15. Apply the method of variation of parameters to solve 

d2y dy eX 
- -3 - +2y=-­
dx2 dx 1 + eX 

Solution. Here auxiliary equation is 

m2 -3m + 2= 0 

(m -1) (m - 2) = 0 

m=1,2 

:. C.F. = Cl ex + C2 e2x 

Here Yl = eX, y2 = e2x 

P.I = u yl + V Y2 
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where 

and 

= f eX (/+ eX) dx = R e1x - 1 +1 ex) dx 

= J{ e-x - e-~-: 1) dx = _e-x + log (e-X + 1) 

Therefore P.I = eX log (e-x + 1) + e2x {-e-x + log (e-x + I)} 

= eX log (e-x + 1) -eX + e2x log (e-x+ 1) 

Therefore, complete solution is y = c.p + P.I 

or y = Cl eX + C2 e2x + ex log (e-x + 1) -eX + e2x log (e-x + 1) 

Example 16. Solve by the method of variation of parameters 

d
2
y _ 2 dy = eX sin x 

dx2 dx 

Solution. Here auxiliary equation is m2 - 2m = 0 

m (m - 2) = 0 
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m=O,2 

C.F. = C1 + C2 e2x 

Here Yl = I, Y2 = e2x 

P.I = UYl + VY2 

u= J -XY2 
Yl Y2' - Yl' Y2 

where 

- -% Je
x 

sin x dx 

1 eX 
- -"2 (1)2 + (1)2 (sin x - cos x) 

1 X ( • ) = -- e sm x - cos x 
4 

and v = J X Y 1 dx 
Yl Y2' - Yl' Y2 

1 e- x 

---::------=- (-sin x - cos x) 
2 (-If + (1)2 
1 -x -x 

= -- ~ (sin x + cos x) = -~ (sin x + cos x) 
2 2 4 

putting the values of u and v in (2), we get 

eX e-x 

P.I = -(sin x - cos x)l- -(sin x + cos x)e2X 

-4 4 
x ~ 

e ( . . ) e . =- smx-COSX+Slnx+cosx =-Slnx 
-4 -2 

Hence, the complete solution is Y = C.F + P.I 

2x eX . 
Y = C1 + C2 e - - sm x 

2 

Example 18. Solve by method of variation of parameters 
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d 2 d ~ + 2 2. + Y = e-x log x 
dx2 dx 

Solution. Here auxiliary equation is m2 + 2m + 1 = 0 

~ (m + 1)2= 0 

~ m = -1,-1 

C.F = (CI + C2 x) e-X 

Here yl = e-x, Y2 = X e-X 

where 

and 

P.I = UYI + VY2 

U = f -XY2 dx 
YI Y2' - YI' Y2 

_ f _e- x log x. x e-x 

---=--~:------::- dx 
_xe-2x + e-2x + x e-2x 

f-xe-
2X 

log x f 
= e-2x dx = - x log x dx 

x2 fx 2 
1 = - - log x + - - dx 

2 2 X 

x2 x2 

= --logx+-
2 4 

= flog x dx 

= x log x - f~ x dx 

= x log x - x 

Putting these values of u and v in (2) we get 
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or 
2 -x 3 

P I x e I 2 -x 
o = -- og x - - x e 

2 4 

Hence, complete solution is Y = Cp + P.I 

x2e-x 3 
Y = (C1 + C2 x) e- x + -2- log x - "4 x2 e-x or 

Example 19. Using variation of parameters method, solve 

(V.P.T.V.2004) 

Solution. On changing the independent variable by substituting x = ez or 
d z = logex and - == D, the differential equation becomes 
dz 

or 

{D (D -1) + 2D -12} Y = z e3z 

(D2 + D - 12) Y = z e3z 

The auxiliary equation is m2 + m - 12 = 0 

or 

m = 3,-4 

CP = Cl e3Z + C2 e-4z 

1 
CP = Cl x3 + C2 4 

x 

1 
Here Y = x3 Y =-

1 ' 2 X4 

where 

Pol. = UYI + vy2 

u= J -XY2 
YIY2' - YI' Y2 

dx 

_ J x log x 0 x-
4 

d _ JX-
3 

log x d 
- - x3 (-4x-5) _3x2 (x-4 ) X - - _7x-2 X 

= ~ Slogx dx 
7 x 
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= .! (logX)2 
7 2 
1 

= - (log X)2 
14 

v = I X Yl dx 
YIY2' - Yl' Y2 

Ix logx· x
3 

-1 f 6 
= dx = - X log X dx 

-7 x-2 7 

= -~ [lOg x . ~ - f~ ~ dX] 

= _~ [x' l;g x -~ (~) 1 
= :: (~- logx) 

putting the values of u and v in (1) we get 

1 2 3 1 x
7 

(1 ) P.I = - (log x) x + - - - - log x 
14 X4 49 7 

= - (log X)2 + - - - log x x
3 

x
3 (1 ) 

14 49 7 

Therefore, the required solution is Y = C.F + P.I 

C x3 x3 x3 

Y = C x3 + _2 + - (log X)2 + - - - log x 
1 X4 14 343 49 

or 

or Y = C l + - x3 + _2 + - log x (7 log x - 2) ( 
1 ) C x

3 

343 X4 98 
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SECOND ORDER LINEAR DIFFERENTIAL EQUATIONS WITH 
V ARIABLE COEFFICIENTS (Solution by Changing dependent and" 
independent variables) 

INTRODUCTION 

The general form of linear differential equation of the second order may be 
written as 

d 2y dy 
-+P-+Qy=R 
dx2 dx 

(1) 

where P, Q and R are functions of x only. There is no general method for the 
solution of this type of equations. Some particular methods used to solve these 
equations are, change of independent variables, Variation of parameters and 
removal of first order derivatives etc. As this kind of differential equations are of 
great significance in physics, especially in connection with vibrations in 
mechanics and theory of electric circuit. In addition many profound and beautiful 
ideas in pure mathematics have grown out to the study of these equations. 

Method I: Complete solution is terms of known integral belonging to the 
complementary function (i.e. part of C.F. is known or one solution is 
known). 

Let u be a part of complementary function of equation (1) and v is remaining 
solution of differential equation (1) 

Then the complete solution of equation (1) is 

y=uv 

dy du dv d 2y d 2u du dv d 2 v 
- = V - + u - and - = v-- + 2 - - + u -
dx dx dx dx2 dx2 dx dx dx2 

Putting these values in equation (1) then, we get 

d
2
u du dv d

2
v (dU dV) v-- +2- - +u - +P v- +u- +Quv=R 

dx2 dx dx dx2 dx dx 

(2) 

or v --+P-+Qu +u -+P- +2- -=R 
[

d
2
U du ] [d

2
V dV] du dv 

dx2 dx dx2 dx dx dx 
(3) 

Since u is a part of C.F. i.e. solution of (1) 

d 2 u du 
-+P-+Qu=O 
dx2 dx 
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Hence equation (3) becomes 

or 

Let 

u [d
2
V + P dV) + 2 du dv = R 

dx2 dx dx dx 

d
2
v + (p + ~ dU) dv = R 

dx2 U dx dx u 

dv d2v dz 
- =z,sothat - =-
dx dx2 dx 

Equation (4) becomes 

dz + (p + ~ dU) Z = R, 
dx udx u 

which is linear in z, Hence Z can be determined 

W b · b· . th 1· dv eo tam v, y mtegration ere ation - = Z 
dx 

v = Jz dx + C1 

Therefore, the solution of (1) is Y = u [Jz dx + C1 ] 

i.e. y = uv 

(4) 

Remark. Solving by the above method, u determined by inspection of the 
following rules 

(1) If P + Q x = 0, then u = x 

(2) If 1 + P + Q = 0, then u = eX 

(3) If 1 - P + Q = 0, then u = e-X 

(4) If 1 + P + Q = 0, then u = eax 

a a2 

(5) If 2 + 2Px + Qx2 = 0, then u = x2 

(6) If m (m -1) + P mx + Qx2 = 0, then u = xm 
2 

Example 20. Solve y" - 4xy' + (4X2 - 2) Y = 0 given that y = eX is an integral 

induced in the complementary function. 

(U.P.T.U.2004) 

Solution. The given equation may be written as 
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d2y dy 2 
- - 4x - + (4x - 2) Y = 0 
dx2 dx 

Here P = -4x, Q = 4x2 - 2, R = 0 

2 du 2 
and u = eX so that - = 2 xex 

, dx 

2 

Let y = uv => y = eX v 

we know that 

d
2
v ( 2 dU) dv - + P + - - - = 0, As R = 0 

dx2 U dx dx 

dv =C 
dx 

v = CIX + C2 

2 

Hence the complete solution is y = eX v 

2 
or y = eX (C1 x + C2 ) 

(1) 

Example 21. By the method of variation of parameters, solve the differential 
equation (U.P.T.U.2004) 

d2y dy . 2 
- + (1 - cot x) - - y cot x = sm x 
dx2 dx 

Solution. Here P = 1 - cot x, Q = -cot x 

Therefore 1 - P + Q = 1 - (1 - cot x) - cot x = 0 

That is y = e-X is a part of the c.P. putting y = ve-X 

dy = _ve-x + e-x dv 
dx dx 
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and d
2
y __ e-x d 2v 2 -x dv -x -- - e - +ve 

dx2 dx2 dx 

on putting these values is the given differential equation, we have 

or 

d 2v dv 
-- - (1 + cot x) - = 0 
dx2 dx 

dp _ (1 + cot x) P = 0 
dx 

dp = (1 + cot x) dx 
P 

on integrating we get 

log p = x + log sin x + log Cl 

=:> p = Cl eX sin x 

Substituting for p 

dv = C eX sin x 
dx 1 

or dv = C1 eX sin x dx 

Integrating 

v=C1 Jex sinxdx+C2 

dv 
where p=­

dx 

= C1 .! eX (sin x - cos x) + C2 2 

Therefore, solution of the given differential equation i.e. c.P. is given by 

y = ve-x = C1 .! (sin x - cos x) + C2 e-x 
2 

Let y = Au + Bv be the complete solution of the given differential equation where 
A and B are the functions of x, i.e. 

y = A (sin x - cos x) + Be-x 

Differentiating on both sides 

dy = A (cos x + sin x) _ Be-x + dA (sin x _ cos x) + dB e-x 

dx dx dx 
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Let us choose A and B such that 

=> 

dA ( . ) dB -x 0 - sm x - cos x + - e = 
dx dx 

dy = A (cos x + sin x) - Be-x 

dx 

and d
2

y = dA (cos x + sin x) _ dB e-x + A (-sin x + cos x) + Be-x 

dx2 dx dx 

putting these values of d
2

;-, dy and y is the given equation, we get 
dx dx 

dA ( .) dB -x . 2 - cos X + sm x - - e = sIn x 
dx dx 

on solving equation (2) and (3), we get 

dA 1. 
- = - sIn x 
dx 2 

Integrating, 

1 
A = -- cos x + C1 2 

and dB = .!. eX (sin x cos x - sin2x) 
dx 2 

eX 
= - (sin 2x + cos 2x -1) 

4 

on integration, we have 

eX. eX 
B= - (3sm2x-cos2x)- - +C2 20 4 

putting the values of A and B in equation (1) we get 

(2) 

(3) 

( 
1 ) [eX eX) y = -"2 cos x + C1 (sin x - cos x) 20 (3 I sin, 2x - cos 2x) - "4 + C2 e-x 

1 . 1 2 c· C 3 . 2x 1 2x 1 C -x = -- cos x sm x + - cos x + 1 sm x - 1 cos x + - sm - - cps - - + 2 e 
2 2 20 20 4 
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y = Cl (sin x - cos x) + C2 e-x - ~ (sin 2x - 2 cos 2x) 
10 

or 

Method II. Normal form (Removal of first derivative) 

Let 
d2 d -X +P ~ +Qy=R 
dx2 dx 

putting y = uv, we get 

v -- + P- + Qu + U - + P - + 2 - - = R [
d

2
U du ) [d

2
V dV) du dv 

dx2 dx dx2 dx dx dx 

d
2
v + (~ du + p) dv + v [.!. d

2
u + P du + Q) = R 

dx2 
U dx dx U dx2 U dx u 

But the first order derivative must be remove 

so 

Since 

2 du - -+p=o ~ du 1 
- =-- Pdx 

u dx u 2 

log u = - f~ dx 

-f~ dx 
U =e 2 

du Pu 
dx 2 

d
2
u = _.!. [p (_ pu) + u dP] = p

2
u _ u dp 

dx2 2 2 dx 4 2 dx 

d
2
v [P

2 
1 dP p2 ) R From (2) - + v - - - - - - + Q =-

dx2 4 2 dx 2 u 

This equation is called normal form of equation (1) 
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where 
1 dP p2 

I=Q-----
2 dx 4 

Example 22. Solve 

d 2y dy 2 X2 . 
- - 4x - + (4x - 1) Y = -3 e sm 2x 
dx2 dx 

[LA.S. 2000, V.P.T.V. (C.O.) 2004] 

2 

Solution. Here P = -4x, Q = 4x2 - 1, R = _3ex sin 2x 

so 
1 dP 1 2 2 1 1 2 

1= Q -"2 dx - "4 P = 4x -1-"2 (-4) -"4 (-4x) 

= 4x2 - 1 + 2 - 4x2 = 1 

-~ fPdx -~ f(-4X) dx 
u=e 2 =e 2 

2 fx dx x2 

=e =e 

Then substituting these values in the equation 

d2v R 
- + Iv = -, We have 
dx2 u 

d 2v 3 x
2 

• 2 - e sm x 3' 2 - + v= =- SIn x 
dx2 ex2 

its C.F = Cl cos X + C2 sin x 

and P.I = / 2 sin 2x = -3 21 sin 2x 
D + 1 -2 + 1 

= sin 2x 

Thus v = Cl cos X + C2 sin x + sin 2x 

Therefore required solution is y = uv 

2 

or y = eX (C1 cos x + C2 sin x + sin 2x) 

Example 23. Solve 

d 2y dy 2 
- - 4x - + (4x2 

- 3) Y = eX 
dx2 dx 

by removing first derivative 
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Solution. Here P = -4x, Q = 4x2 - 3, R = eX 
2 

1 dP p2 2 1 1 2 
1= Q -"2 dx - "4 = 4x - 3 - "2 (-4) -"4 (-4x) 

= 4x2 - 3 + 2 - 4X2 = -1 

-.!. fPdx 
w=e 2 

-.!. f<-4X) dx 2 fx dx 2 
= e 2 = e = eX 

Then substituting these values in the equation 

or 

its 

and 

d2v R 
- +Iv= -, we get 
dx2 u 

d2v 
--v=l 
dx2 

C.F = Cl eX + C2 e-X 

P.I= _1_1=_(1_D2r1 1 
D2_1 

= - (1 + D2 + D4 + ..... ) 1 

= -1 

Thus v = Cl ex + C2 e-X - 1 

Hence the general solution of the given equation is 

y=uv 

or 

Method III. Change of independent variable 

d2y dy 
consider - + P- + Qy = R 

dx2 dx 

Let us change the independent variable x to z and z = f(x). 
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dy = dy dz 
dx dz dx 

Putting the values of dYand d
2
; in (1) we get 

dx dx 

d
2
y (dZ)2 + dy d

2
z + P dy dz + Qy = R 

dz2 dx dz dx2 dz dx 

or d
2
y (dZ)2 + (p dz + d

2
Z) dy + Qy = R 

dz2 dx dx dx2 dz 

or 

d2 d ~+p ~+Q y=R 
dz2 I dz I I 

where 
(p :: + ::~ ) Q R 

P, = (:)' ,Q, = (:)' and R, = (:)' 

Equation (4) is solved either by taking PI = 0 or QI = a constant 

Example 24. Solve by changing the independent variable 

d2 d 
x ~ - ~ + 4x3y = x5 

dx2 dx 

Solution. Given equation is 

d2y 1 dy ____ + 4x2y = X4 

dx2 
X dx 

1 
Here P = - - I Q = 4x2 and R = X4 

X 
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On changing the independent variable x to z, the equation (1) transformed as 

where 

or 

d2y dy 
- + P - + Q Y = R (2) dz2 1 dz 1 1 

Q 4x2 
, 

Q = -- = -- = constant = 1 say 

1 (::r (::r 

dz 
-=2x 
dx 

z = x2 

R X4 x2 Z 
R =--=-=-=-

1 (::r 4x
2 

4 4 

on putting the values of Pl, Ql and Rl in (2), we get 

d2y z 
-+y=-

or 

dz2 4 

(D2 + 1) Y = ~ 
4 

its A.E. is m2 + 1 = 0 => m = ±i 

or 

and 

c.p = Cl cos Z + C2 sin z 

c.p = Cl cos x2 + C2 sin x2 
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1 2 
= - (1- D + .......... ) z 

4 

z 
4 

4 

Hence the complete solution is y = c.p + P.I 

or x2 
Y = CI cos x2 + C2 sin x2 + -

4 

Example 25. Solve the following differential equation by changing thE 

independent variable x d
2

; + (4x2 -1) dy + 4x3y = 2x3 (V.P.T.V.2006) 
dx dx 

Solution. The given differential equation may be written as 

(1) 

1 
Here P = 4x - -, Q = 4x2 , R = 2x2 

X 

on changing the independent variable x to z, the equation (1) is transformed as 

where 

d2y dy 
- + PI - + QI y = RI (2) 
dz2 dz 

Q 4x2 

Q = -- = -- = 1 (constant) say 

I (::J (::J 
dz 
-=2x 
dx 

z = x2 
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p = 1 

R 2X2 1 
andR =--=-=-

1 (::r 4x
2 

2 

Putting the values of PI, Q1 & RI in (2), we get 

d 2y dy 1 
-+2-+y=-
dz2 dz 2 

. its Auxiliary equation is m2 + 2m + 1 = 0 

(m + 1)2 = 0 

m = -1,-1 

:. c.P. = (Cl + C2 z) e-z 

= (Cl + C2 x2) e-x 2 

and P.I = 1 (!2) 
D2 + 2D + 1 

1 1 oz -- e 
2 D2 + 2D + 1 

_! 1 1=! 
2 (0)2+2.0+1 2 

:. Complete solution is y = c.P + P.I 

d2 d 
Example 26. Solve -{ + cot x -X + 4y cosex2x = 0 

dx dx 

Solution. Here P = cot x, Q = 4 cosec2x and R = 0 on changing the independent 
variable x to z, the given differential equation transformed to 

d2y dy 
-+P -+Qy=O 
dz2 1 dz 1 
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where 

Case I. Let us take Pl = 0 

P dz + d
2
z 2 

dx dx
2 

= 0 or P dz + d z = 0 (::r dx dx
2 

d2z dz 
-- + cot x - =0 
dx2 dx 

=> 

put 
dz d 2z dv 
-=v --=-
dx 'dx2 dx 

Using these, (2) becomes dv + (cot x) v = 0 
dx 

dv 
=> - = -cot x dx 

v 

=> log v = -log sin x + log C = log C cosec x 

=> v = C cosec x 

dz 
- = c cosec x 
dx 

or dz = (C cosec x) dx 

x 
=> z = clog tan -

2 

Case II. Now, let us take Ql = constant 

Q 4 cosec2x 4 .. Q = --- = = - which IS constant 
1 ( :: r c

2 
cosec

2
x c

2 

Hence the equation (1) reduce to 
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or 

~ (02 
+ c;) y = 0 

. '1' ., 2 4 0 . 2 Its auxi lary equation IS m + 2"" = ~ m = ± I -
C C 

2z . 2z 
c.p = c1 cos - + c2 sm -

c c 

y = Cl cos (2 log tan ~J + C2 sin ( 2 log tan ~J': z = c log tan ~ 
SIMULTANEOUS 
COEFFICIENTS: 

LINEAR EQUATIONS WITH CONSTANT 

In Several applied mathematics problems, there are more than one dependent 
variables, each of which is a function of one independent variable, usually say 
time t. The formulation of such problems leads to a system of simultaneous linear 
differential equation with constant coefficients. Such a system can be solved by 
the method of elimination. Laplace transform method, using matrices and short 
cut operator methods. 

Example 27. Solve dx + y = sin t, dy + x = cost 
dt dt 

x (0) = 2, Y (0) = 0 

Solution. We have 

dx . 
- +y=smt 
dt 

dy + x = cost 
dt 

Differentiating (1) w.r.t. It' we have 

d2x dy 
- + - = cost 
dt2 dt 
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Using (2) in (3) we get 

d2x 
--x=O 
dt2 

its auxiliary equation is 

m 2 -1 = 0 => m=±l 

x = Cl e l + C2 e-t 

dx _ C 1 C -I dt- le- 2 e 

putting this value of dx in (1) we get 
dt 

(D2 -1) x = 0 

y = sin t - Cl e l +C2 e-t 

Using given conditions 

from (iv) C 1 + C 2 = 2 } 
=> C1 = C2 = 1 

from (v) -C1 + C2 = 0 

putting these values of Cl and C2 in (4) & (5) we get 

x = et + e-t 

and y = sint - e t + e-t 

is the required solution 

dx 
Example 28. Solve - + 4x + 3y = t 

dt 

(4) 

(5) 

dy + 2x + 5y = e t 

dt 
(U.P.T.U.2oo6) 

Solution. The given equation can be written as 

(D + 4) x + 3y = t (1) 

2x + (D + 5) Y = e t (2) 

operating (D +5) on equation (1) and multiplied equation (2) by 3, we get 

(D + 5) (D + 4) x + 3 (D + 5) Y = (D + 5) t (3) 

6x + 3 (D + 5) Y = 3et (4) 

Subtracting (4) from (3) we get 
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(02 + 90 + 20 - 6) x = 1 + St - 3et 

(02 + 90 + 14) x = St - 3et + 1 

Here auxiliary equation is m2 + 9m + 14 = 0 

(m + 7) (m + 2) = 0 

m = -7,-2 

c.p = C1 e-7t + C2 e-2t 

and 
1 

P.I = 2 (St- 3et + 1) 
(0 + 90 + 14) 

S [1 0
2 

+ 90)_1 3e
t 

1 at 
= 14 + 14 t - (1)2 + 9(1) + 14 + (0)2 + 9 (0) + 14 e 

= ~ (1 _ 90) t- 3e
t 

+ ~ 
14 14 24 14 

= :4 (t -:4) - ~ + 114 

St e t 31 
P.I= - - - --

14 8 196 

C -7t 'c -2t St e
t 

31 x= 1e + 2e +-----
14 8 196 

S e t -7t -2t 10 e t 31 
Now(D+4)x=-7C1e-7t-2C2e-2t+ 14 - 8 +4C1 e +4C2 e +7 t -2"- 49 

Set 10 27 
~ (0+4)x=-3Cle-7t+2C2e-2t- - + - t--

8 7 98 

Using this value in equation (1) we get 

S t 10 27 
3y = t + 3Cl e-7t - 2C2 e-2t + - e - - t + -

8 7 98 

1 -71 2 -2t S 1 9 Y = -- t + C1 e -- C2 e + - e +-
7 3 ~ ~ 

Thus the required solution is 
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St e t 31 
x = Cl e-7t + C2 e-2t + - - - - -

14 8 196 

d 1 -7t 2 -2t S t 9 an y = --t + C1 e - - C2 e + - e +-
7 3 ~ % 

dx 
Example 29. The equation of motion of a particle are given by dt + wy = 0, 

dy _ wx = O. Find the path of the particle and show that it is a circle. 
dt 

(U.P.T.U.2009) 

Solution. Writing D for ~,the equations are 
dt 

Dx+wy=O 

and -wx + Dy = 0 

Differentiating (1) w.r.t. It I we have 

(1) 

(2) 

D2x + wDy = 0 => D2w + W (wx) = 0 => (D2 + W2) X = 0 using (2) 

=> x = Cl cos wt + C2 sin wt 

Putting this value of x is (1) we have y = -.! ~ (C1 cos wt + C2 sin wt) 
w dt 

we get y (t) = Cl cos wt + C2 sin wt 

and x (t) = C2 cos wt - Cl sin wt 

Squaring (3) and (4) their adding, we get 

x2 +y2 =C2 +C2 
I 2 

or x2 + y2 = R2 

which is a circle 

Applications to Engineering Problems 

INTRODUCTION 

(3) 

(4) 

Differential equations have many numerical applications in Physics, Chemistry, 
electrical engineering, mechanical engineering, biological sciences, social sciences 
etc. In this section, we discuss some applications. 
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Simple Harmonic Motion 

A particle moving in a straight line, is said to execute simple harmonic motion, if 
its acceleration is always directed towards a fixed point in line and is 
proportional to the distance of the particle from the fixed point. 

Since the acceleration is always directed towards a fixed point, the differential 
equation of the motion of the particle is given by 

d2x 
- =_w2x 
dt2 

W2X~ 

A'------------~I~------_+I------------A 
o~ x----?p 

~---------- a ----------~ 

where x is the displacement of the particle from a fixed point 0 at any time t. 

The solution of (1) is 

x = C1 cos wt + C2 sin wt 

If the particle starts from rest at a point A, where 

OA = a i.e. (x = a, when t = 0) then, from (2), we get 

Cl =a 

Differentiating (2) with respect to t, we get 

v = dx = w (-C1 sin wt + C2 cos wt) 
dt 

Since dx = 0, at t = 0, from (3), we get 
dt 

O=C2 

Hence, the displacement of the particle is 

x = a cos wt (a is amplitude) 

such that 

V 1 . dx . t e OClty = v = -- = -aw SIn w 
dt 
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Equation (5) gives the velocity of the particle at any time t, when its displacement 
from a fixed point 0 is x. Particle time (time for one complete oscillation) is 

denoted by T and is given by T = 27t. The number of complete oscillations per 
w 

second is called the frequency of motion and we have n = ~ 
T 27t 

w 

In the figure 0 is the fixed point 

we have OA= a 

The acceleration is directed towards O. The particle moves towards 0 from A. 
The acceleration gradually decreases and vanishes at O. At 0 particle acquired 
maximum acceleration. Under retardation the particle further moves towards A' 
and comes to rest at A I such that 

OA'=OA 

The point 0 is called mean position. 

Example 30. A point moves in a straight line towards a centre of force 
fl./ (distance)3, starting from rest at a distance a from the centre of force. Show that 
the time of reaching a point distance b from the centre of force is 

~ ~ a2 
_ b2 and that its velocity is ~ ~ a2 

- b2 

~ ab 

(V.P.T.V.2001) 

Solution. Let 0 is the centre of force and let a point moves from P towards the 
centre of force O. 

Q jE--b )1 
I 0 P 

x=a x=O 

~ a )1 
dx =0 dx =0 
dt dt 

The equation of motion is 

d 2x _ -fl. (1) 
dt2 - ~ 

2 dx d
2
x = -2l:.. dx 

-
dt dt2 x3 dt 
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on integrating, we get 

(
dX)2 = -2/l _1_ + C = 1:. + C 
dt _2X2 x2 

dx = ±) /l + C 
dt x2 

dx 
At P - = 0 and x = a , dt 

dx HJ.l C .Ja2 
_x

2 

From (2), - =± - - - =±vJ.l---
dt x2 a2 ax 

The velocity at x = b is 

.Ja2 _b2 

v=±"ft --­
ab 

. or 
.Ja2 _b2 

v = -"ft (As the point P is moving towards 0) 
ab 

dx .Ja2 _ x2 

From (3) - = -"ft ---
dt ax 

on integration, we get 

t = ~ .Ja2 
- x2 + c 

"ft 

At P, t = 0, x = a, in (4), we get 

C=O 

Putting this value of C in (4), we have 

t= ~ .Ja2 _x2 

"ft 

Atx=b 
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Vertical Motion In Resisting Medium 

Example 31. A particle falls under gravity in a resisting medium whose resistance 
varies with velocity. Find the relation between distance and velocity if initially 
the particle starts from rest. 

(Bihar P.C.S. 1997, V.P.T.V. 2003) 

Solution. Let m be the mass of a particle falls from rest from a 
fixed point O. Let P be the position of a particle such that OP 
= x. The forces acting on the particle at Pare: 

(1) The weight mg of a particle acting vertically downwards. 

(2) The resistance m kv acting vertically upwards. 

Now by Newton's second law of motion the equation of the 
motion of the body 

or 

or 

. or 

md2x 
-- =mg-mkv 

dt2 

d2x 
- =g-kv 
dt2 

dv 
v - =g-kv 

dx 
d 2x dv dv dx dv .. -=-=--=v-

. dt2 dt dx dt dx 

vdv = dx 
g-kv 

1 (-g + kv + g) - dv = dx 
k g -kv 

dv g 
-- + dv=dx 

k k (g - kv) 

Integrating, we get 
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v g ( 1) -- + - -- log (g - kv) = x + C 
k k k 

or -~ - {2 log (g - kv) = x + C 

Initially, at point 0, x = 0, v = 0 

_JL log g = C 
k 2 

putting this value of C in (1) we have 

v g g -k" - 12 log (g - kv) = x - k2 log g 

v g g -kv 
-- - - log -- = x 

k k 2 g 

(1) 

Example 32. A 4 kg object falls from rest of time t = 0 in a medium offering a 
, resistance in kg numerically equal to twice its instantaneous velocity in m/ sec. 

Find the velocity and distance travelled at any time t > 0 and also the limiting 
velocity. 

Solution. Air resistance = 2v 

Vpthrust = 2 x 4v = 8v Asm=4kg 

By Newton's second law of motion the equation of motion of body 

d2x 
4 - =4g-8v 

dx Let -.: p 
dt 

dt2 

d 2x dx 
dt2 = g - 2 dt 

d 2x dx 
dt2 + 2 dt '= g 

d2x = dp 
dt2 dt 

:. From (1), we get 
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dp + 2p = g 
dt 

which is linear in p. 

its LF = ef2 dt = e2t 

. So, the solution of equation (2) is 

p.e.2t = Jg e2t dt + C = ~ e2t + C 

p = ~ + Ce-2t 

2 

dx = ~ + c e-2t 

dt 2 

At t = a dx = a which gives C =-~ 
, dt 2 

From (3) dx = ~ (1 _ e-2t ) 

dt 2 

velocity = ~ (1 _ e-2t ) 
2 

Again integrating above equation, we get 

x = gt + ~ e-2t + C 
2 4 1 

At t = 0, x = a 

From (4), x = ;t + ! (e-2t 
- 1) 

distance = gt + ~ (e-2t _ 1) 
2 4 

Cl = -g/4 

d L · .. I' ( I' dX) I' ~ (1 _ e-2t ) an lmlting ve OClty = 1m - = 1m 2 
t -> 00 dt t -> 00 

=~ 
2 
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Example 33. A mass M suspended from the end of a helical spring is subjected to 
a periodic force f = F sin wt in the direction of its length. The force f is measured 
positive vertically downwards and at zero time M is at rest. If the spring stiffness 
is 5, prove that the displacement of M at time t from the commencement of 

... b F (. w.) h 2 5 d motion IS gIVen y x = 2 2 sm wt - - sm pt ,were p = - an 
M(p-w) p M 

darning effects are neglected. 

(V.P.T.V.20oo) 

Solution. Let x be the displacement from the equilibrium position at any time t 
then the equation of the motion is 

d2x . 
M - = -5x + F sm wt 

dt2 

d2x 5 F. 
-+-x=-smwt 
dt2 M M 

. or 

or 
d 2x 2 F. 
-+p x=-smwt 
dt2 M 

The A.E. is m2 + p2 = 0 =:> 

C.F. = Cl cos pt + C2 sin pt 

m=±ip 

and P.I. = 2 1 2 (~sin wt) 
D +p M 

1 . 
2 2 sm wt 

M -w +p 

F 

:. x = Cl cos pt + C2 sin pt + ~ 2 1 2 sin wt 
M (p -w ) 

Initially, at t = 0, x = 0 :. Cl = 0 

. Differentiating equation (2) w.r.t. It I we get 

dx C· C F w t - = -p 1 sm pt + P 2 cos pt + - ---:----:- cos w 
dt M p2 _w2 
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dx 
Att=O - =0 , dt 

or 

From (2), we have 

or 

w F . Fl. 
x = -- sm pt + - sm wt 

p M (p2 _ w 2) M p2 _ w 2 

F [ . w.) x = 2 2 sm wt - - sm pt 
M(p -w) p 

Problems Related to Electric Circuit 

There are some formulae which are useful to solve such type of problems 

(1) i = dq 
dt 

(2) Voltage drop across resistance R is V R = Ri 

(3) Voltage drop across inductance L is VL = L di 
dt 

(4) Voltage drop across capacitance C is Vc = ~ 
C 

Elect~o-Mechanical Analogy 

The following correspondences between the electrical and mechanical quantities 
should be kept in mind 
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Mechanical system Series Circuit Parallel circuit 

Displacement Current i Voltage E 

Force or Couple Voltage E Currenti 

Mass m or M.1. Ind uctance L Capacitance C 

Damping force Resistance R Conductance l/R 

Spring modulus Elastance 1/ C Susceptance l/L 

Example 34. An uncharged condenser of capacity C is charged by applying an 

e.m.f. E sin ~ through leads of self-inductance L and negligible resistance . 
....,.LC 

Prove that at time t, the charge on one of the plates is 

EC [ . t t t ] 2 sm JIE - JIE cos JLC 

. (V.P.T.V. 2003) 

Solution. lf q be the charge on the condenser, the differ~ntial equation of the 
circuit is 

d2 

L ~ + ~ =Eo 
dt2 C 

d
2
q q . t A E E· t L - + - = E sm -- s = sln--

dt2 C JIE 0 JIE 

or 
d2q 1 E. t 
dt2 + LC q = L sm JIE 

Here auxiliary equation is m 2 + -.!... = 0 
LC 

i 
m=±--

JIE 

:. C.F= C1 cos ~ t+C2 sin ~ t 
....,.LC ....,.LC 
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P.I ~ ( 1 ) E sin ~ (Case offailure) 
D2 + J:.- L ...,LC 

LC 

= ~ (- 2\ cos k) 
JLc 

1 -x 
--=--- sin ax = - cos ax 
D2 + a2 2a 

= ~ (-tJLc cos _t_) 
L 2 JLc 

= - ~t ~(~) cos k 
Therefore, the solution of the equation is 

q = C1 cos ~~C + C2 sin k -~t Jri) cos k (2) 

At t = 0, q = 0 :. C1 = 0 

Differentiating equation (2) w.r.t. "t" we get 

~; = - ~~~ sin k + JrE cos k + ~t ~(~) sin ( k) k -i ~ cos k 

Initially dq = 0 when t = 0 
dt ' 

JrE-~~=o C = EC 
2 2 

From equation (2)we get 

q = EC sin _t __ Et ~(C) cos _t_ 
2 JLc 2 L JLc 

or EC ( . t t t ) 
q = 2 sm JLC - JLC cos JLC 
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Example 35. The equation of electromotive force in terms of current i for an 
electrical circuit having resistant R and a condenser of capacity C, in serires is 

E = Ri + J ~ dt. Find the current i at any time t, when E = Eo sin wt 

(V.P.T.V.2006) 

Solution. The given equation is 

Ri + J ~ dt = Eo sin wt as E = Eo sin wt 

Differentiating w.r.t. It', we get 

di i 
R - + - = Eo w cos wt 

dt C 

di i Eow 
-+-=--coswt 
dt RC R 

which is a linear differential equation 

its 
J---'!"" dt 

I.F = e RC 

t 

=eRC 

The solution of (1) is 

or 

~ Ew 
i.eRC = f~ cos wt. e t

/
RC dt + C1 

= Eow 
R 

f 
eax 

eax cos bx dx = (a cos bx + b sin bx) 
a2 + b2 

i = wEo RC
2 

[~cos wt + w sin wt] + ke- t
/

RC 

1 + w2R2C2 RC 

Example 36. The damped LCR circuit is governed by the equation 

d2Q dQ 1 
L-+R-+-Q=O 

dt2 dt C 
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where L, C, R are positive constants. Find the conditions under which the cirucuit 
is overdamped, underdamped and critically damped. Find also the critical 
resistance. 

(U.P.T.U. 2005) 

Solution. The given equation is 

d2Q dQ 1 
L-+R-+-Q=O 

dt2 dt C 

d 2Q dQ 
-- + 2k - + w 2Q = 0 
dt2 dt 

(1) or 

R 2 1 Where 2k = - and w =-
L LC 

Here auxiliary equation is 

m 2 + 2km + w 2 = 0 

(2) 

Case I. when k<w i.e. ~ < ~ ,the roots of A.E. given by (2) are imaginary. 
2L "LC 

The general solution of (1) is 

Q = e-kt (C1 cos ~(w2 - k2) t + C2 sin ~(W2 - k 2) t) 

where Cl and C2 being arbitrary constants. 

T · . d 21t hi h' th 21t Ime perlO = w c IS greater an-.Jw2 _ k 2 w 

Thus the effect of damping increases the period of oscillation and motion 

ultimately dies away. In this condition when ~ < ~ the circuit is under 
2L "LC 

damped. 

Case II. When k = w, then roots of A.E. (2) are equal, each being equal to -k. The 
general solution of (1) is 

Q = (Cl + C2 t) e-kt 

In this case charge Q is always positive and decreases to zero as t ~ 00. In this 
case circuit is called critically damped and the resistance R is called critical 
resistance. 
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Thus k=w => 

R=2~ 
which is required critical resistance. 

Case III. when k > w, the roots of A.E. are real and unequal. 

Also, the roots 

m = -k + .Jk2 - w 2 and m = -k-.Jk2 _ w2 

are both negative. The general solution of (1) is 

_ {_k+A2_w2}t {_k_A2_ w 2}t 
Q - C1 e + C2 e 

In this case also change Q is positive and decreases to zero as t ~ 00, since 
exponential terms having negative powers approach to zero. In this case the 
circuit is called overdamped. 

Q 

r 
O~~--------~--------~---------+----------~--------,L----~ 

k<w 

Example 37. The voltage V and the current i at a distance x from the sending end 
of the transmission line satisfying the equations. 

dv . di -- = Rl, - - = GV 
dx dx 

where Rand G are constants. If V = Vo at the sending end (x = 0) and V = 0 at 
receiving end (x = 1), show that 

V = Vo {sinhn (1- X)} 
sinhnl 
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Solution. We have - dV = Ri 
dx 

and 
di 

--=GV 
dx 

when x = 0, V = Vo, when x = I, V = 0 

From (1) and (2), we have 

=> 

or 

_~ (_ dV ~) =GV 
dx dx R 

d 
(02 - RG) V = 0, 0 == -

dx 

Here auxiliary equation is m2 - RG = 0 

=> m= ±n,n2 = RG 

The solution of (3) is V = Cl enx + C2 e-nx 

where Cl and C2 are arbitrary constants. 

putting x = 0 and V = Vo is (4), we get 

Vo = Cl + C2 

Again putting x = I and V = 0 is (4), we get 

o = Cl enl + C2 e-nl (5) 

Solving equations (5) and (6), we have 

V -v e2n1 

C 1 = 1 °2n1' C 2 = 1 0 2nl 
-e -e 

Substituting the values of Cl and C2 in (4), we get 

V V 2n1 

V -_ 0 nx 0 e -nx ----"-:--;- e - e 
1 - e2n1 1 _ e2nl 
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= Vo (enX _ e2nl-nX) 

1 _ e2nl 

or V= 0 =V 
v {e(nl-nX)_e-(nl-nx)} {sinlm(Z-X)} 

enl _ e-n1 0 sin h nl 

Example 38. An inductance of 2 henries and a resistance of 20 ohms are 
connected in series with an emf E votts. If the current is zero when t = 0, find the 
current at the end of 0.01 sec if E = 100 volts, using the following differential 
equation. 

L di ·R E - +1 = 
dt 

Solution. we have L di + iR = E 
dt 

di R. E 
- + - 1=-or 
dt L L 

Equation (1) is linear differential equation of first order. 

J~ dt 
I.F = e L = e(R/L) t 

L=2H 

E= 100 volts 

:. Solution of (1) is 

i.e(R/L) t = f~ e(R/L) t dt + C 

where C is an arbitrary constant 

or i e(R/L) t = E e(R/L) t + C 
R 
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. _ E + C -(R/L) t 
1- - e 

R 
(2) 

Initially i = 0, when t = 0 :. From (2), we have 

C =-.§. 
R 

:. From (2), we have i = ~ [1 - e-(R/L) tJ (3) 

on putting E = 100 volts, R = 20 ohms and L = 2 henries in (3) we have 

. - 100 [1 -~tl-5(1 -lOt) 1- - -e - -e 
5 

At t = 0.01 sec, i = 5 (1 - e-O.l) 

= 0.475 amp (approximately) 

Example 39. In an LCR circuit, the charge q on a plate of a condenser is given by 

L d
2
q + R dq + ..9. = E sin pt. The circuit is tuned to resonance so that 

dt2 dt C 

p2 = ~,if initially the current i and the charge q be zero, show that for small 
LC 

I f R th . th . ·t . t . . b Et . va ues 0 -, e current m e CIrCUI at time IS given y - sm pt 
L 2L 

(U.P.T.U.2004) (CO.) 

Solution. The given differential equation is 

d2 d 
L ~ + R ~ + ..9. = E sin pt 

dt2 dt C 

Here A.E. is Lm2 + Rm + ! = 0 
C 

m = -R + ~R2 - (4L / C) = _~ ± .!. ~R2 _ 4 
2L 2L 2 L2 CL 

RIM ( R2 R. ) m = - - ± - -- neglected - as - IS small 
2L 2 CL L2 LC 
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R i R. (. 2 1 . ) 
m = - 2L ± .JCL = - 2L ± Ip sm ce p = LC gIven 

C.F = e-Rt/ 2L (CI cos pt + C2 sin pt) 

-Rt/2L Rt 1 R
2e 

But e = 1 - - + 2"" -2- - ..................... . 
2L L 4L 

Rt 
=1--

2L 

R2 
neglecting -2 etc 

L 

C.F. = (1 - :~) (CI cos pt + C2 sin pt) 

where CI and C2 are arbitrary constants 

P.I = lIE sin pt where D = d 
LD2 +RD+ _ dt 

C 

E 1 . 
= 1 smpt 

L(_p2)+RD+-
C 

E 
1 . 

= - smpt 
RD 

• 2 1 
slncep =-

LC 

E f. -E = - sm pt dt = - cos pt 
R pR 

Hence the general solution of (1) is given by 

q = (1 -Rt) (CI cos pt + C2 sin pt) - ..E... cos pt 
2L pR 

Differentiating (2) w.r.t. It I we have 

(2) 

i = dq = (1 - Rt) (-pCI sin pt + pC2 cos pt) - ~ (C1 cos pt + C2 sin pt) + ~ sin p~ (3) 
dt 2L 2L R 

Initially given that t = 0, q = 0 

:. (2) gives 

E 
o=C1 - - => 

PR 

E 
C =-

1 PR 

and (3) gives 
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RC I 
0= pC2 - --:::> 

2L 

Now putting values of CI and C2 in (3), the current i in the circuit at any time t is 
given by 

. (1 Rt) ( E . E ) R (E E.) E . 1= - - -- smpt+ - cospt - - -- cospt+ -- smpt + - smpt 
2L R 2pL 2L pR 2Lp2 R 

Et. ERt ER. 
= - smpt- -- cospt- -- smpt 

2L 4pL2 4L2p2 

Et . 
= - smpt 

2L 
. R. III R 1 smce - IS sma , a so 2 = -

L L R (~J ,so neglecting second and 

third terms 

BEAM 

A bar whose length is much greater than its cross-section and its thickness is 
called a beam 

Cantilever: If one end of a beam is fixed and the other end is loaded, it is call1ed a 
cantilever. 

Bending of Beam: Let a beam be fixed at one end and the other end is loaded. 
Then the upper surface is elongated and therefore under tension and the lower 
surface is shortended so under compression. 

Bending Moment: Whenever a beam is loaded it deflects from its original 
position. If M is the bending moment of the forces acting on it, then 

where 

M= EI 
R 

E = Modulus of elasticity of the beam 

(1) 

I = Moment of inertia of the cross-section of beam about neutral axis 

R = Radius of curvature of the curved beam 
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d 2y 
Thus equation (1) becomes M = EI -2 

dx 

Example 40. A beam of length I is clamped horizontally at its end x = Oand is free 
at the end x = I. A point load W is applied at the end x = I, in addition of a 

uniform load w per unit length from x = 0 to x = i. Find the deflection at any 
2 

point. 

(V.P.T.V.2002) 

Solution. Let OA be a beam, clamped (i.e. fixed) at one end 0 and free at end A. 

Let B be its mid point. The weight wI of the beam OB acts at C (the mid point of 
2 

08). The weight w acts at A. 

Let R be the force acting at O. The directions of all the force acting on the beam 
are as shown in figure. 

R< 1/2 
i 

C 
0 J 

Fixed end 4 ~~ 

< 

:. From balance equation, we have 

wI 
R=W+ -

2 

2 
X 

N(x,y) 

) 

4 Free end 
B A 

(x-i) 1 
W 

N' 

(1) 

Now we choose a random axis NN', if (x, y) are the co-ordinates of N, then taking 
moments about N, we get 

EI d
2

y = -Rx + WI (x _ i) 
dx2 2 4 

or d
2
y ( WI) wI wI2 . EI - = - W + - x + -x - - usmg (1) for R 

dx2 2 2 8 

140 



Equations Reducible To Linear Equations with Constant Coefficients 

d2y WI2 

EI - =--- -Wx 
dx2 8 

or 

Integrating both sides w.r.t. x, we get 

dy wZ2 1 2 
E.!. - =-- x-- Wx +C 

dx 8 2 1 

Applying boundary conditions at the fixed (i.e. clamped) 

end 0 i.e., at x = 0, dy / dx = 0, we get from (2), Cl = 0 

dy WZ2 1 2 
:. (2) becomes EI - = -- x - - Wx 

, dx 8 2 

A .. . EI wl
2
x

2 
1 W 3 C gam mtegrating y = - --y;- -"6 x + 2 

Again boundary conditions, at x = 0, y = 0 gives C2 = 0 

:. (3) becomes, 

or y= _~ (wZ2X2 + WX
3

) 

EI 16 6 

which gives the deflection at any point. 

(2) 

(3) 

Example 41. The deflection of a strut of length Z with one end (x = 0) built in and 
the other end supported and subjected to end thrust P, satisfies the equation 

d2 y a2R 
- + a2y = - (I - x) 
dx2 P 

. R (sin ax ) Prove that the deflection curve y = P -a- - Z cos ax + 1 - x 

where a Z = tan aZ 

(U.P.T.U.2001) 

Solution. we have 

(1) 
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its auxiliary equation is m2 + a2 = 0 ~ m=±ai 

:. c.F. = Cl cos ax + C2 sin ax 

where Cl and C2 are arbitrary constants. 

~ ~ 
Built in 

O< .......... ::::::.~· ... ·.· ... ·.·.·.·.·.·~ ........... A,..r-_""P __ ~X 

y 

R ( D2) = - 1 + - (I-x) 
P a2 

R ( D2) = - 1- - (I-x) 
P a2 

R =-(l-x) 
P 

:. The general solution is 

(x, y) 

y = C1 cos ax + C2 sin ax + R (l - x) 
P 

Differentiating (2) w.r.t. x, we get 

~ C· C R - = - 1 a sm ax + 2 a cos ax - -
dx P 

The end 0 of the strut is buit in, so at x = 0, y = dy / dx = 0 

:. (2) gives 

Rl 
0=C1 + P ~ 

and (3) gives 0 = C2 a _ R ~ 
P 

Rl 
C =--

1 P 

R 
C =-

2 aP 
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Putting for Cl and C2 is (2) 

Rl R. R 
Y = -- cos ax + - sm ax + - (1 - x) 

P aP P 

=> R (sin ax ) y= P -a- -lcosax+l-x (4) 

Also, the end A of the strut is supported, so at x = I, Y = 0, so that (4) becomes 

R (sin al ) 0= P -a- -lcosal+l-l 

sin al 
or -- = 1 cos al 

a 

or al = tan al 

Hence the required equation of deplection curve is given by (4) where al = tan al. 

EXERCISE 
Solve the following differential equations 

d 2y dy 
1. (i) x2 - + X - + Y = sin (log x2) 

dx2 dx 

Ans. 

(ii) 

y = Cl cos (log x) + C2 sin (log x) -.!. sin (log x2) 
3 

d2 d 
(1 + X)2 -.X + (1 + x) J... + Y = sin 2 {log (1 + x)} 

dx2 dx 
(I.A.S.2003) 

Ans. y = Cl cos {log (1 + x) + C2Sin {log (1 + x)} -.!.sin 2 {log (1 + x)} 
3 

2. 

x3 

Ans" y=Cl +C210gx+C3(logx)2 + -(logx-1) 
27 

d4y d3y d 2y dy 
X4 - + 6x3 - + 4x2 

- - 2x - - 4y = 2 cos (log x) 
dx4 dx3 dx2 dx 

3. 

Ans. Y = Cl X2 + C2 x-2 + C3 cos log x + u sin log x - .!.log x sin log x 
5 
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d 2y dy 
x2 -- _ X - - 3y = x2 log X 

dx2 dx 
(I.A.S.2oo1) 4. 

Ans. y = CI x3 + C2 X-I _~X3 (log x + ~) 

5. d
2
; + y = cosec x by the method of variation of Parameters 

dx 

Ans. y = CI cos X + C2 sin x - x cos x + sin x. log sin x 

6. d
2
; + (1 _ cot x) dy - Y cot x = sin2x by variation of parameters. 

dx dx 

(U.P.T.U. Special Exam 2001) 

Ans. Y = Cl (sin x - cos x) + C2 e-X - ~ sin 2x + .!. cos 2x 
10 . 5 

7. x2 d
2
y _ (x2 + 2x) dy + (x + 2) Y = x3ex of which y = x is a solution. 

dx2 dx 

Ans. y = X (Cl + C2 eX + x ex) 

8. (x sin x + cos x) d
2
; - X cos x dy + Y cos x = 0 of which y = x is a solution. 

dx dx 

Ans. y = -Cl cos X + C2X 

d 2y dy 
--2 - 2 tan x - + 5y = eX. sec x by reducing normal form. 
dx dx 

9. 

Ans. y = sec x ( CI cos.J6 x + C2 sin.J6 x + ~ eX) 

10. 

Ans. 

11. 

Ans. 

12. 

(1 + x2)2 d
2
; + 2x (1 + x2) dy + 4y = 0 by changing independent variable. 

dx dx 

y = CI cos (2 tan-I x) + C2 sin (2 tan-I x) 

x d
2
; _ dy + 4 x3y = 8x3 sin x2 by changing independent variable. 

dx dx 

y = CI cos x2 + C2 sin X2 - x2 cos X2 

d
2
y + (3 sin x _ cot x) dy + 2y sin2x = e-cos x. sin2x by changing 

dx2 dx 
independent variable. 
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1 _ 
Ans. y = Cl ecosx + C2 e2cosx + _ e cos x 

6 

d2x dy d2y dx . 
- + - + 3x = e-t , - - 4 - + 3y = sm 2t 
dt2 dt de dt 

13. 

(V.P.T.V.2007) 

Ans. x=_Cl sin3t+ C2 cos3t+ C3 sint- c4 cost+.!e-t+.!sin2t+ AwhereA=- Cs 
2 2 2 2 55 4 

Y = Cl COS 3t + C2 sin 3t + C3 cos t + G sin t + ~ (_e-t + ~ sin 2t) 

14. 
dx dy . 
- + - - 2y = 2 cost - 7 smt 
dt dt 

dx dy . 
- - - + 2x = 4 cos t - 3 sm t 
dt dt 

Ans. x=- (1-J2) C1 e..fit -(1+ J2)C2 e-,lzt +3cost+C3 

Y = C e,lz t + C e-..fi t + 2 sin t 1 2 

15. 

Ans. x = -[(2 C1 + 2 C2 + 2 C2 t) et + 2 C3 - 2 C4 + 2 G t) e-t] 

y = (Cl + C2 t) et + (C3 + C4 t) e-t 

16. 
dx 

Solve - + 5x - 2y = t 
dt 

dy + 2x + Y = 0 
dt 

(V.P.T.V.2001) 

(V.P.T.V.2005) 

Also show that x = y = 0 when t = 0 for some definite values of constants 

(V.P.T.V.2008) 

1 1 t 1 
Ans. x = Cl e-3t + C2 te-3t --C2 e-3t --Cl e-3t + - + - y = (Cl + C2 t) e-3t 

2 2 9 27' 
2t 4 

--+-
9 27 
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17. A particle moving in a straight line with S.H.M. has velocities Vl and V2 

when its distances from the centre are Xl and X2 respectively. Show that the 

2 2 

period of motion is 21t x; - x; and its amplitude is 
v 2 - vl 

(Bihar P.C.S. 2005) 

18. A particle is performing a simple harmonic motion of period T about a 
centre 0 and its passes through a point P, where OP = b with velocity v in 
the direction OP. Prove that the time which elapses before it return to P is 

T tan-l (~). 
1t 21tb 

(LA.S. 2007) 

. 19. A particle of mass m is projected vertically under gravity, the resistance of 
the air being mk times the velocity. Show that the greatest height attained 

by the particle is V2 [A -log(l + A)] where V is terminal velocity of the 
g 

particle and AV is the initial velocity. 

(U.P.P.C.S.2004) 

20. If u and V are the velocity of projection and the terminal velocity 
respectively of a particle rising vertically against a resistance varying as the 
square of the velocity. Prove that the time taken by the particle to reach the 

hi h .. V -1 (u) g est pomt IS g tan V' 

(LA.S. 2006) 

21. In the LCR circuit, the charge q on a plate of a condenser is given by 

L d
2

; + R dq + ~ = E sin pt. The circuit is turned to resonance so that 
dt dt C 

p2 = ~. If initially the current i and the charge q be zero, show that for 
LC 

11 1 f R th . th . . . ., b ( Et) . sma va ue 0 -, e current m e crrcUlt at time t IS gIven y - sm pt. 
L a 

(U.P.T.U.2004) 
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Objective Type of Questions 
Choose a correct answer from the four answers given in each of the 
following questions. 

1. The solution of the differential equation 

x2 d
2
y +x dy +y=sin(logx2)is 

dx2 dx 

(a) Cl cos (log x) + C2 sin (log x) + ! sin (log X2) 
3 

(b) Cl cos (log x) + C2 sin (log x) -! sin (log X2) 
3 

(c) Cl cos (log x) + C2 sin (log x) -! sin (log x) 
3 

(d) Cl cos (log X2) + C2 sin (log X2) -! sin (log x) 
3 

Ans. (b) 

2. A particular integral of the differential equation 

d3 d2 d 
x2 -'l + 3x -'l + -.2.. = x2 log X 

dx3 dx2 dx 

x2 

(a) 27 (log x-I) 

x3 

(c) 27 (log x-I) 

Ans. (c) 

(b) 

(d) 

x2 

- (log x + 1) 
27 

x3 
-(log x +1) 
27 

3. A particular integral of x2 d
2
; + 4x dy + 2y = eX is 

dx dx 

(a) 1 X 
(b) 

1 X -e -e 
x2 x 

(c) 1 2x (d) 1 3x -e -e 
x2 x2 

Ans. (a) 
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4. The c.F. of the differential equation x2 d
2

;r + x dy _ Y = x3ex 

dx dx 

C C 
(a) C x2 +_2 (b) C

1 
x2 + _2 

1 x2 X 

C C 
(c) C x+_2 (d) C

1 
X+_2 

1 x2 x 

Ans. (d) 

5. On putting x eZ, the transformed differential equation of 

d 2y dy 
x2 - + x- + y = x is 

dx2 dx 

d2 d2 
(a) --.l = eZ (b) --.l + y = eZ 

dz2 dz2 

d2 d2 
(c) --.l + Y = e2z (d) --.l+y=z 

dz2 dz2 

Ans. (b) 

6. The equation of motion of a particle are given by simultaneous differential 

equations dx + wy = 0, dy _ wx = 0, Then the path of the particle is 
dt dt 

(a) Straight line 

(c) Ellipse 

Ans. (b) 

(b) 

(d) 

Circle 

Parabola 

7. A Particular integral of d
2
y + P dy + Qy = 0 is Y = emx if 

dx dx 

(a) m2 + Pm + Q = 0 (b) 

(c) m+Pm2 +Q=0 (d) 

Ans. (a) 

m2 -Pm+Q=0 

m2 +Pm-Q=0 

8. y = ex is a part of c.P. of differential equation d
2

; + P dy + Qy = 0 if 
dx dx 

(a) 1 + P + Q = 0 

(c) P + Qx = 0 

Ans. (a) 

(b) 

(d) 

1-P+Q=0 

P-Qx=O 
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9. In a differential equation 

d2 d 
x2 ----f -(x2 + 2x) .J.... + (x + 2) Y = x3ex

, y = x is a part of c.F. because 
dx dx 

(a) P - Qx = 0 

(c) 1 + P + Q = 0 

Ans. (b) 

(b) 

(d) 

P+Qx=O 

l-P-Q=O 

10. The solution for d
2

y - 4x dy + (4x2 
- 2) Y = 0, given that y = ex2 is an integral 

dx dx 
included in the complementary function is 

(a) y = (Cl X + C2) (b) eX (Cl x + C2) 
2 x2 

(c) eX C1x (d) e (C1x + C2) 

Ans. (d) 

11. A resistance of 100 ohms, an inductance of 0.5 henry are connected in series 
with a battery of 20 volts. The current in the circuit is 

(a) i = ! (1 - e-20 t) (b) i = ! (1 _ e20 t) 
5 5 

(c) i = ! (1 - e-2OO t) (d) 
5 

Ans. (c) 

12. The solution of the differential equation L di + Ri = Eo sin wt is 
dt 

149 



A Textbook of Engineering Mathematics Volume - II 

13. A particle executes S.H.M. Such that in two of its positions, the velocities are 
u, v and the corresponding accelerations a, p. The distance between the 
position is 

(a) 
a+p 

(b) 
a2 +p2 

u2 _ u2 u2 _v2 

(c) 
u2 _v2 

(d) 
u2 _v2 

a+p a-p 

Ans. (c) 
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Chapter 8 

Partial Differential Equations 

Introduction 

Partial differential equations arise, in cases when a dependent variable is a 
function of two or more independent variables. An ordinary differential equation 
can be formed by eliminating arbitrary Constants from a relation between two 
variables such as f (x, y) = 0, and in general the order of the differential equation 
is equal to the number of arbitrary constants eliminated. A partial differential 
equation, on the other hand, can be formed by eliminating not-arbitrary 
constants, but arbitrary functions, from a relation involving three or more 
variables, Provided such an elimination is possible, In many problems of science 
and engineering a dependent variable is connected implicity or explicitly with 
two or more independent variables. If z = z (x, y) is a dependent variable where x 
and yare the independent variables, then the first order partial derivative of z 

fjz fjz 
with respect to x and yare denoted by p = - and q = -. The second order ax ay 
partial derivatives of z are given by 

fj2r fj2 z fj2 z 
r=- s=-- t=-ax2 ' axay , ay2 

Definition: An equation involving one or more partial derivatives of an 
unknown function of two or more independent variables is called a partial 
differential equation. 

E I 1 fj2u 2 (iu . . I d·fe ti I . xamp e . --2 = a -2- IS a partia 1 leren a equation. 
ax at 

E I 2 fj2u fj
2

u O· ·al d·ff ti· I . xamp e . --2 + --2 = IS a parti 1 eren a equation. 
ax ay 

Definition 2 The order of the highest derivative occuring is a partial differential 
equation is called the order of the equation. 

Example 1. x2 fjz + y2 fjz = z is a first order partial differential equation. ax ay 
Example 2. The equation 
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(:~ J + u' (:) ~ f(x, y) is a second order partial differential equation. 

Definition 3. The degree of a partial differential equation is the degree of the 
highest order partial derivative occuring in the equation. 

Example The degree of the equation 

(iu a2 u . 
- + - =0 Isone 
ax2 a·/ 

Notation 

If z is a function of two independent variables say x and y then, we shall use the 
following notation for the partial derivatives of z. 

az az a2z a2z a2 z 
ax = p, ay = q, ax2 = r, axay = s, ay2 = t 

i.e. Zx = p, Zy = q, Zxx = r, Zxy = s, Zyy = t 
Formation of Partial Differential Equations 

Partial differential equation can be formed in two ways- (1) eliminating arbitrary 
constants and (2) eliminating arbitrary functions 

1. By Elimination of Arbitrary constants: 

We can form partial differential equation by eliminating arbitrary constants from 
the given equations. 

If the number of arbitrary constants is equal to the number of variables, in the 
given equation of a curve, we get a first order partial differential equation 

Consider the equation 
f(x, y, z, a, b) = 0 (1) 

Where a and b are arbitrary constants 

Differentiating (1) partially with respect to x and y, we get 

at at az at af 
- + - - = 0 or - + -p = 0 
ax az ax ax az (2) 

at at az at at 
and - + - -- = 0 or - + -q = 0 

ay az ay ay az (3) 

Eliminating a and b from the equations (1), (2) and (3), we get an equation of the 
form 

<l> (x, y, z, p, q) = 0 

Which is the required partial differential equation of (1) 
Example 1 Eliminate the constants a and b from the following equations 

(A) z = (x + a)(y + b) 
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(B) z = (x - a)2 + (y - b)2 

(C) ax2 + by2 + Z2 = 1 

Solution (A) We have z = (x+a) (y+b) (1) 
Differentiating equation (1) partially with respect to x and y, we get 

OZ OZ 
- = p = (y + b) & - = q = (x + a) ax ay 

Substituting in (1) we have z = pq which is the required differential equation 

(B) The given equation is 

z = (x - a)2 + (y - b)2 (1) 
Differentiating equation (1) partially with respect to x and y, we get 

OZ oz ax = 2 (x - a) & ay = 2 (y-b) 

On squaring and adding these equations, we get 

(:)' + (: r ~ 4 [(x-a)' + (y-b)' J 
= 4z using (1) 
:::::::>p2+ q2 = 4z 

Which is the required differential equation 

(C) The given equation is 

ax2 + by2 + Z2 = 1 (1) 

Differentiating equation (1) partially with respect to x and y, we get 

oz 
2ax + 2z - = 0 => 2ax + 2zp = 0 ax 
=> ax = -zp 

:::::::> a = -zp/x 

oz 
and 2by + 2z - = 0 => 2by + 2zq = 0 ay 

:::::::> by = -zq 

:::::::> b=-zq/y 

putting the values of a and b in equation (1) we get 

Z 2 (z 2) 2 -~ P X + -yqy + Z = 1 

or z (px + qy) = Z2 - 1 

Which is the required differential equation. 
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Example 2. Find the partial differential equation of all planes cutting of equal 
intercepts with x and y axes 

Solution Let ~ + r + ~ = 1 (1) 
abc 

be a equation of a plane making equal intercepts on x and y axis, so in this 
case a = b. 

Differentiating (1) partially with respect to x and y, we get 

1 1 OZ . -c 
- + - - = 0 I.e. - = p (2) 
a c ax a 

1 1 OZ . -c 
and - + - - = 0 I.e. - = q .: a = b 

b c Oy a 
(3) 

From (2) and (3), we have 

p=q 

i.e. p - q = 0 

Which is the required differential equation 

Example 3 Find the partial differential equation of all spheres whose centres lie 
on the Z-axis (V.P.T.V.2009) 
Solution Let the equation of the sphere having its centre on z-axis be 

X2 + y2 + (Z-C)2 = r2 (1) 

Differentiating (1) partially with respect to x and y, we get 

OZ 
2x + 2 (z - c) - = 0 ax 
or x + (z - c) p = 0 

or z - c = -x/p 

oz 
and 2y + 2 (z - c) Oy = 0 

or y + (z - c) q = 0 

or z - c = -y/q 

From (2) and (3), we have 

_~ =_ r 
p q 

i.e. xq - yp = 0 
which is the required differential equation 
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2. Formation of Partial Differential Equations by The Elimination of Arbitrary 
Function of Specific Function 
When one Arbitrary Function is involved 
In this case the resulting partial differential equation is a first order partial 
differential equation 
Let the arbitrary function be of the form 

z=f(u) (1) 
where u is function of x, y, z 
Differentiating (1) partially with respect to x and y, we get 

oz Of au Of au oz 
-=--+---ax au ax au oz ax (2) 

and 
oz Of au Of au oz 
-=--+----
Oy au Oy au oz Oy 

(3) 

By eliminating the arbitrary function f, from (1), (2) and (3) we get a first order 
partial differential equation 
Example 4 Form the partial differential equation by eliminating the arbitrary 
function f from the relation 

(
1 " 

z = y2 + 2f ~ + log Y ) (I.A.S. 2007, Bihar, P.CS. 1995) 

Solution We have 

z = y2 + 2f (~ + log Y ) (1) 

Differentiating (1) partially with respect to x and y, We get 

: = p = 2f' (~ + log y) (- x12 ) 

or _px2 
= 2f' (~ + log Y ) 

and ~ = q = 2y + 2f' (~ + log y) (%) 
or qy - 2y2 = 2f' (~ + log Y ) 

From (2) and (3) we have 
_pX2 = qy - 2y2 

i.e. X2p + qy = 2y2 
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Which is the required partial differential equation. 
Example 5. Eliminate the arbitrary function f from the equation 

z=f (j{) 
Solution. We have z = f ( x; ) 

Differentiating (1) partially with respect to x and y, we get 

az =p=f' (xy/z) y (z-xp ) ax Z2 

az = q = f' (xy/z) x (z-yq) 
ay Z2 

Dividing (2) by (3) we have 

p = y(z-xp) 
q x(z-yq) 

or p = yz-xyp 
q xz-xyq 

or px -qy = 0 
Which is the required partial differential equation. 
When Two Arbitrary Functions are Involved 

(1) 

(2) 

(3) 

When two arbitrary functions are to be eliminated from the given relation to form 
a partial differential equation, we differentiate twice or more number of times 
and eliminate the arbitrary functions from the relations obtained. 
Example 6. Form a partial differential equation by eliminating the function f and 
Ffrom 

z = f (x + iy) + F (x - iy) 
Solution. The given equation is 

z = f(x + iy) + F (x-iy) 
Differentiating (1) partially with respect to x and y, we get 

az = f' (x+iy) + F' (x-iy) 
ax 

and az . fl ( .) . F' ( .) - = 1 x+ly -I x-IY 
ay 

(1) 

(2) 

(3) 

Differentiating equations (2) and (3) partially once again w.r.t. x and y, we get 
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a
2

z = flO (x + iy) + F" (x - iy) 
ax2 

and a
2
z = _flO (x + iy) - F" (x - iy) ay2 

Adding (4) and (5), we get 

a2z a2z 
-+-=0 ax2 ay2 

Which is required partial differential equation of second order. 

EXERCISE 

(4) 

(5) 

1. Form Partial differential equations by eliminating the arbitrary constants 

(i) 

(ii) 

(iii) 

(iv) 

(v) 

from the following: 

z = (x+a) (y+b) 

2z = (ax + y)2 + b 
z = ax + (l-a) y+b 

az + b = a2x +y 

z=alog (b(Y-1)) 
1-x 

Ans. pq = z 

Ans. q2 = px + qy 

Ans. p+q = 1 

Ans. pq = 1 

Ans. px + qy = P +q 

2. Form the partial differential equation by eliminating the arbitrary functions 
from 
z = xy + f(x2 + y2) Ans. py - qx = y2 - x2 

Ans. px - qy = x - y 

(i) 
(ii) 

(iii) 

(iv) 

(v) 

(vi) 

Z = X +y + f(xy) 

z = f(xy) Ans. p+q = 0 
z = f(x2 + y2) 

Z = f(xLy2) 

f(x2+ y2 + Z2, Z2 - 2xy) = 0 

Ans. xq - yp = 0 

Ans. yp +xq = 0 

Ans. (p-q)z = Y - x 
Hint. The given equation is f (x2 + y2 +Z2,Z2- 2xy) = 0 
Let u = x2 + y2 + Z2, V = Z2 - 2xy 

so equation (1) becomes f(u, v) =0 

Differentiating (3) partially w.r.t x, we get 

Of (au + p au) + ~ (8v + P Ov) = 0 au ax az Ov ax az 
From (2) we have 
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00 = 2x 00 = 2z Ov = -2xj ax ' oz ' Or 

Ov = 2z 00 = 2y Ov = -2y 
oz ' Or ' ax 

From (4) and (5) we have 

of/OO _ -(: + p %oJ 
of/Ov - (00 + p 00) 

ax oz 
Similarly differentiating w.r.t. y, we get 

Of/OO _ [~+ q %z) 
Of/Ov -- [00 +qOO) 

Or oz 
putting the values from (5) in equation (6) and (7), we get 

Of/OO = _ (-2y + 2pz) 
Of/ Ov (2x + 2zp) 

& Of/OO = _[-2X + 2qZ) 
of/ Ov 2y + 2zq 

:. pz - y = qz - x 
pz + x qz + y 

=> pz (x + y) - qz (x + y) = y2 - x2 

or (p - q) z = y - x 

(5) 

(6) 

(7) 

3. Form a partial differential equation by eliminating the arbitrary function <j> 

from <j> (x + y + z, x2 +y2 - Z2) = O. What is the order of this partial 
differential equation? (U.P.P.C.S. 1993, Bihar P.C.S. 2007) 

Hint. Given 
<j> (x+y+z, x2 + y2 - Z2) = 0 
Let u = x + Y +z & v = x2 + y2 - Z2 
Then (1) becomes f (u, v) = 0 

Differentiating (3) partially w.r.t. x, we get 

O<j> (00 + p 00) + O<j> (Ov + P Ov) = 0 00 ax oz Ov ax oz 
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From (2) au = 1 au = 1 Ov = 2x } ax 'oz 'ax 
Ov au Ov 
oz = -2z, Oy = 1, Oy = 2y 

From (4) and (5) 0<1> (1 +p) + 2 0<1> (x - pz) = 0 au Ov 

or 7~ = -2(X-
r
%+P) 

Again differentiating (3) partially w.r.t y, we get 

0<1> (au + q au) + 0<1> (Ov + q Ov) = 0 au Oy oz Ov Oy oz 

or 0<1> (1 + q) + 2 0<1> (y - zq) = 0 using (5) au Ov 

%0<1> = -2 (y _ qz)j 
m 0<1> jl+q 

Ov 

From (6) and (7) by eliminating ~, we get 

(x-pz) = y-qz 
l+p l+q 

or (1 + q) (x - pz) = (1 + p) (y - qz) 
or (y + z) p - (x + z)q = x - Y 
which is the desired partial differential equation of first order. 
Solution of Partial Differential Equation by Direct integration: 

iiz 
Example 1. Solve -2 = xy ax 

(5) 

(6) 

(7) 

S I · G· 02Z (1) o ution. Iven -2 = xy ax 
treating y as constant and integrating (1) with respect to x, we get 

oz x2 

ax = y 2 + f(y) (say) (2) 

Integrating (2) with respect to x keeping y as constant, we get 

339 

159



A Textbook of Engineering Mathematics Volume - II 

x3 

Z = Y - + x f(y) + g(y) 
6 

3 

Hence the required solution is z = x y + x f(y) + g(y) 
6 

x 2z 1 
Example 2 Solve -- = -

8xay xy 

S I · G' iiz 1 o ution. Iven -- = -
8xay xy 

treating y as constant and integrating (1) w.r.t x, 
we get 

8z 1 
- = - log x + ~ (y) 
ay Y 
Now keeping x as constant and integrating (2) w.r.t y, we get 

z = log x log Y + f~(Y) dy + g(x) 

or z = log x log Y + f(y) + g(x) 
which is the required solution 

83z 
Example 3. Solve -2- = cos (2x + 3y) 

8xay 
83z 

Solution. we have -2- = cos (2x + 3y) 
8xay 

treating y as constant and integrating (1) w.r.t. x, we get 

82z 1 
-- = - sin (2x + 3y) + f(y) 
8xay 2 

Integrating w.r.t. x, we get 

8z = _.!. cos (2x + 3y) + x ff(y)dx + g(y) 
ay 4 

1 
= -"4 cos (2x + 3y) + x~ (y) + g(y) 

Integrating w.r.t. y we get 

z = - 112 sin (2x + 3y) + x Jf(Y) dy + Jg(y) dy 
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1 ' 
~ z = -- sin (2x + 3y) + x <l>t (y) + ~ (y) 

12 
Lagrange's Linear Equation 

The partial differential equation of the form 

Pp+Qq=R (1) 
where P, Q and R are functions of x, y, z is called Lagrange's linear partial 
differential equation. Lagrange's linear equation is a first order partial differential 
equation. 
Method of solving Lagrange's equation 
Equation (1) i.e. Lagrange's equation is obtain by eliminating arbitrary function 
from <I>(u, v) = 0 where u and v are functions of x, y and z 

Differentiating 

<I>(u, v) = 0 (2) 

partially with respect to x and y, we get 

c3<I> (au + au p) + c3<I> (Ov + Ov p) = 0 
au Ox oz Ov Ox OZ 

and 0<1> (au + au q) + 0<1> (Ov + Ov q) = 0 
au By oz Ov By OZ 

Eliminating 0<1> and c3<I> from equation (3) and (4) we get au Ov 

au au 
-+-p 
Ox oz 
au au 
-+-q 
By oz 

Ov Ov 
-+-p 
Ox OZ = 0 
Ov Ov 
-+-q 
By OZ 

i.e. (: + : p) (: + : q) -(: + : q) (: + : p) = 0 

(3) 

(4) 

or (au Ov _ au Ov) p + (au Ov _ au Ov) q = au Ov _ au Ov (5) 
By OZ OZ By oz Ox Ox oz Ox By By Ox 

Comparing (1) and (5), we get 

P= au Ov _ au Ov 
Ox oz oz By 
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Q=Ou av _Ou av 
DZ Ox. Ox. DZ 

R=Ou av _Ou av 
Ox. fJy fJy Ox. 

Now let us suppose u = Cl, V = C2 are two solutions of the Lagrange's 

equation Pp + Qq = R 
Differentiating u = Cl and v = C2 partial with respect to x and y, we have 

Ou Ou Ou 
- dx + - dy + - dz = du = 0 (6) 
Ox. fJy DZ 

and av dx + av dx + av dz = dv = 0 (7) 
Ox. fJy DZ 

From (6) and (7) by cross-multiplication we have 

dx dy dz 
Ou av Ou av Ou av Ou av Ou av Ou av 
----- ----- -----
fJy DZ DZ fJy DZ Ox. Ox. DZ Ox. fJy fJy Ox 

dx dy dz 
or-=-=-

P Q R 

The solutions of these equations are 

u = Cl and v = C2 

Hence ~ (u, v) = 0 is a solution of equation (1) 
Working rule: 

S 1 F 'I' ,dx dy dz tep : orm auXl lary equations - = - = -
P Q R 

Step 2: Solve the above auxiliary equations Let the two solutions obtained be 
denoted by u = Cl and v = C2 
Step 3: The required solution of the equation 
Pp+Qq=Ris 

~ (u, v) = 0 

Example 1. Solve yzp + zxq = xy 

Solution. Given yzp + zxq = xy 
Lagrange's auxiliary equations for (1) are 

dx = dy = dz 
yz zx xy 

Taking first two members, we have 
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x dx -y dy= 0 

Integrating, we have 
x2 - y2 = Cl 

Partial Di(ferential Equations 

Similarly taking the first and the last members 
we get 
x2 - z2 = C2 

Therefore, the required solutions is 
f(x2 - y2, x2 - Z2) = 0 

Example 2. Solve p tan x + q tan y = tan z 
Solution. Here Lagrange's auxiliary equations are 

~=~=~ 
tan x tan y tan z 

From first two fraction of (1) we get 
cot x dx = coty dy 
Integrating, we get 
log sin x = log sin y + log Cl 

or log (sin.lsin y ) = log C1 

(U.P.P.C.S.1990) 

(1) 

or Sin xl sin y = Cl (2) 
Similarly, from the last two fractions, 
we have 

sin y I sin z = C2 (3) 
From (2) and (3) required general solution of the given equation is 

q,(s~n x, s~n y) = 0 
smy sm z 

Example 3. Find the general integral of 

(mz - ny) p + (nx -lz) q = ly - mx 
Solution. The auxiliary equations are 

dx dy dz 
mz - ny nx - lz ly - mx 

Choosing x, y, z as multipliers, each fraction of (1) 

xdx + Y dy + Z dz 
x (mz - ny) + y (nx - lz) + n (ly - mx) 
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= x dx + Y dy + Z dz 
o 

:. x dx + Y dy + Z dz = 0 
Which on integration gives 
x2 + y2 +Z2 = Cl 

choosing I, m, n as multipliers, each fraction of (1) 

1 dx + m dy + ndz 

1 (mz - ny) + m (nx - lz) + n (Iy - mx) 

= Idx + mdy + n dz 
o 

:.Idx+mdy+ndz=O 

which on integration, we have 
Ix + my + nz = C2 

:. Required general solution is 
~ (X2 + y2 + Z2, Ix + my + nz) = 0 

where ~ is an arbitrary function 

Example 4. Find the general integral of (y + zx) P - (x + yz) q = xL y2 

(2) 

(3) 

(U.P.P.C.S. 2002, Bihar P.C.S. 2002) 

Solution. The Lagrange's auxiliary equations are 

~_ dy _~ 
y+zx -(x+yz) x2 _y2 

. Y dx + x dy _ dz 
I.e. 2 2 - -2--2 

Y -x X -y 

or d (xy) + dz = 0 

on integration, we get 
xy + z = Cl 

A
. dx + dy dz 

gam ----"---
(y-x) -z (y-x) x2 _ y2 

dx + dy dz 
or =--

-(1-z) x+y 

or (x+y) (dx + dy) + (1-z) dz = 0 

or d {~ (X+y)2} + (1-z) dz = 0 

Integrating above, we get 
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or x2 + y2 + 2xy + 2z - Z2 = C3 where 2C2= C3 

or x2 + y2 - Z2 = C4 where C3 - 2 Cl = C4 

Therefore, the general solution is 
f(x2 + y2 - Z2, xy + z) = 0 

where f is an arbitrary function 

Example 5. Solve 
(2X2 + y2 + Z2 - 2yz - zx - xy) p + (x2 + 2y2 + Z2 - yz - 2zx - xy)q 

= x2 + y2 + 2Z2 - yz - zx - 2xy (LA.S. 1992) 

Solution. The Lagrange's auxiliary equations are 
dx dy 

2x2 + y2 + z2 _ 2yz _ zx - xy x2 + 2y2 + z2 - yz - 2zx - xy 

~-~ ~-~ ~-~ 

(x-y) (x+y+z) (y-z) (x+y+z) (z-x) (x+y+z) 

Taking first two fractions we have 

dx - dy = dy - dz 

x-y y-z 

Integrating, we get 

log (x-y) = log (y - z) + log Cl 

or x-y = C 
1 y-z 

Similarly, we have 

z-x 
-=C2 y-z 

:. The required solutionis ~ [x-
y

, z-x) =0 
y-z y-z 

Example 6. Solve 

at at at 
(y+z+t) - + (z+x+t) - + (x+y+t) - = x+y+z 

Ox Or DZ 

Solution. The Lagrange's auxiliary equations are 

~=~=~= dt 
y+z+t z+x+t x+y+t x+y+z 
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.. dx-dy = dy-dz = dz-dt = dx+dy+dz+dt 
-(x-y) -(y-z) -(z-t) 3(x+y+ z+t) 

Taking first and Second fraction, we have 

dx - dy = dy-dz 
x-y y-z 

Integrating above we have 
log (x-y) = log (y-z) + log C1 
x-y 
-=C1 y-z 

Similarly taking second and third fraction, we have 

z-t 
-=C2 y-z 

Again taking third and fourth fraction, we have 

dz - dt dx+dy+dz+dt 
---+ =0 

z-t 3 (x+y+z+t) 

Integrating, above we have 

1 
log (z-t) + - log (x+y+z+t) = log C3 

3 
or (z-t) (x+y+Z+t)1/3 = C3 

:. The general integral is 

f [x-y , z-t, (z-t) (x+y+Z+t)1/3] = 0 
y-z y-z 

(2) 

(3) 

Example 7. Find the surface whose tangent planes cut off an intercept of constant 
length k from the axis of z. (lAS 1993) 
Solution. Equation of the tangent plane at (x, y, z) is 

Z-z = P (X-x) + q (Y -y) 
Since k is the intercept on the axis of z 

:. when X = 0 = Y, Z = k 

:. k-z =: p (-x) + q (-y) 
or xp + yq = z-k 
The subsidiary equations are 

dx = dy = dz 
x Y z-k 

Taking the first two members, we have 
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dx = dy 
x y 

:. log x = log Y -log Cl 
x 

or - = C1 
Y 

Partial Differential Equations 

Again taking the first and last members. 
we have 

dx dz ---
x z-k 

:. log x = log (z-k) -log C2 
z-k 

or - =C2 x 

Therefore, the general solution is cj> (~, Z:k) = 0 which represents the required 

surface. 
Example 8. Solve 
(Z2 - 2yz - y2)p + (xy + xz)q = xy - xz 
If the solution of the above equation represents a sphere. What will be the 
coordinate of its centre. (Bihar P.C.S. 1999, Roorkee 1975) 
Solution. Lagrange's auxiliary equations are 

dx dy dz 
z2 _ 2yz - y2 X (y+z) X (y-z) 

From the last two fractions of (I), we get 

dy = dy 
y+z y-z 

or (y-z) dy = (y+z) dz 
or ydy - (zdy + ydz) - zdz = 0 
or ydy - d(yz) - zdz = 0 
Integrating, we get 
y2 _ 2yz - Z2 = Cl 

Again choosing x, y, z as multipliers, each fractions of (1) 

xdx + ydy + zdz 

X (z2 - 2y z - y2) + Y (xy + xz) + z (xy - xz) 
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== xdx + ydy + zdz 
o 

xdx + ydy + zdz = 0 

Integrating we get 
x2 + y2 + Z2 = C2 

From (2) and (3), the required general integral is 
~ (y2 _ 2yz - Z2, x2 + y2 + z2) = 0 

Where ~ is an arbitrary function 

(3) 

(4) 

From (4) we observe that if the solution represent a sphere, then co-ordinates of 
its centre must be (0,0,0) i.e. origin 

NON-LINEAR PARTIAL DIFFERENTIAL EQUATIONS Those equations in 
which p and q occur other than in the first degree are called non-linear partial 
differential equations of the first order. In other words partial differential 
equations which contains p and q with powers higher than unity and the product 
of p and q are called non-linear partial differential equations. 
Special Types of Equations 
Standard I. Equations involving only p and q and no x, y, z That is, equation of 
the form f (p, q) = 0 (1) 
i.e. equation which are independent of x, y, z. 
Let the required solution be 
z=ax+by+c 

where a and b are connected by 
f (a, b) = 0 

Where a, b, c are constants, 
Differentiating (1) partially with respect to x and y, we get 

8z 8z 
- =aand - =b 
ax Oy 

Which when substituted in (3), gives (1) 
From (3) we may find b in terms of a 

i.e. b = <p (a) say 
The required solution of (1) is 

z = ax + ~ (a) y + C 
Example 1 Solve p2 + q2 = 1 

Solution. The equation is of the form f (p, q) = 0 

The solution is given by 

z = ax + by +C 
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where a2 + 1>2= 1 

or b = ~(1_a2) 

Partial Di[ferential Equations 

Hence, the required solution is 

z=ax+ ~(1_a2) y+C 

Equation Reducible to f (p, q) = 0 
In some cases, we transform the equations into f(p, q) = 0 by making suitable 
substitutions 

Example 2. Solve (x + y) (p + q)2 + (x - y) (p - q)2 = 1 
Solution. putting x + y = X2, X _ Y = y2 

so that 

oz ozoX ozoY 10z 10z 
P = Ox = ax Ox + oY Ox = 2X ax + 2Y OY 

oz oz ax oz OY 1 OZ 1 OZ 
andq=-=- -+ - -=- ----

Oy ax Oy oY Oy 2X ax 2Y OY 

10Z 10z 
:. p + q = - - and p - q = - -x ax Y OY 
putting in the given equation, we have 

Which is of the form of standard I 

:. The complete integral is given by 
z=aX+bY+c 

Where a2 + 1>2 = 1 or b2 = ~(1_a2) 
:. The required complete integral is 

z = a~(x+y) + ~(1_a2) ~(x-y) + c 

(LA.S. 1991) 

Example 3. Find the complete integral of (y - x) (qy - px) = (p - q)2 (LA.S.1992) 

Solution. Let us put X = x + y and Y = xy 

oz oz ax oz oY oz oz 
so that p = - = - - + - - = - + y -

Ox ax Ox oY Ox ax oy 

oz oz ax oz oY oz oz 
and q= - = - - + - - = - +x-

Oy ax Oy oY Oy ax oy 

Substituting in the given equation we have 
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az 2 (az)2 (y- x) (y-x) ax = (y-x) ay 

or az = (az)2 
ax ay 

Which is of the form of standard I 

,'. The complete integral is given by 
z = aX + bY + c 

where a = b2 

,'. The complete integral is 

z = b2 (x +y) + bxy + c 

Standard II Equations involving only P, q and z i.e. equations of the form 
f(z, P, q) = 0 
Equations of the form f (z, p, q) = 0 (1) 
Let us assume z = f (x+ay) as a trial solution of given equation (I), where a is an 
arbitrary constant 

,'. z = f (X) where X = x + ay 

,'. p = az = az ax = az 1 = az 
Ox ax Ox ax ax 

az az ax az dz 
and q= - = - - =a - =a-

Oy ax Oy ax dX 

,'. Equation (1) reduces to the form 

f(Z dz a dZ) = 0 
, dX' dX 

Which is an ordinary differential equation of order one. Integrating it we may get 
the complete integral 

Example 4 Find the complete integral of 
Z2 (p2 Z2 + q2) = 1 (I.A.S, 1997) 

Solution Putting z = f (x + ay) = f(X) 
where X = x + ay 

az dz 
so that p = - = -

Ox dX 

az dz 
and q= - =a-

Oy dX 

The equation becomes 
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or Z2 (Z2 + a2) (:~r = 1 

or Z~(Z2 + a2) dz = dX 

Integrating, we have 

1 _ (Z2 +a2)3/2 =X+b 
3 

. or 9 (x + ay + b)2 = (Z2 + a2)3 

which is the required complete integral 
Example 5. Solve pq = xmynzl 

m+l yn+l 
Solution. Putting _x_ = X, -- = Y 

m+1 n+1 

oz oz dX m oz 
so that p = - = - - = x -

Ox oX dx oX 

oz oz dY n oz 
and q = - = - -- = y -ay OY dy OY 

Then the given equation reduce to 

oz oz I 
--=z 
oX oY 
Which is the form of standard II 

:. putting z = f (X + a Y) = f(u) 

where u = X + a Y 

oz = dz au = dz 
oX du oX du 

OZ dz au dz 
and - = - - =a-

OY du OY du 

Equation (1) becomes 

a(::r =Zl 

or Z-I/2 dz = du 
J;. 

Integrating, we have 
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_i + 1 

Z 2 1 (xm+l yn+l) 
or = - -- + a -- + b _i +1 Fa m+1 n+1 

2 

Standard III i.e. Equation of the form f (x, p) = F (y, q) 
As a trial solution, let us put each side equal to a arbitrary constant 
i.e. f(x, p) = F (y, q) = a 
from which we obtain 
p = fl (x, a) and q = h (y, a) 
Now from dz = pdx + qdy 
we have dz = fl (x, a) dx + f2 (y, a) dy 

z = Jf1 (x, a) dx + Jf2 (y, a) dy+ b 

Which is the complete integral 
Example 6. Solve p2 + q2 = X + Y 
Solution. Let p2 - X = Y - q2 = a 

:. p = ~(x+a) and q = ~(y-a) 

putting in dz = pdx + qdy, we have 

dz = ~(x+a) dx + ~(y - a) dy 

Integrating, we get 

z = ~ (x + a)3/2 + ~ (y - a)3/2 + b 
3 3 

Example 7. Solve z (p2 - q2) = x-y 
Solution The given equation can be written as 

putting Ji. dz = dZ, so that Z = ~ Z3/2 

. (OZ)2 (OZ)2 The equation becomes Ox - Oy = x-y 

orp2-Q2=x_y 
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oZ OZ 
where P = Ox' Q = Oy 

or p2 - x = Q2 - Y = a 

Which is of the form of standard III 
:. p2-x2=Q2_ y =a 

:. P = ~(x+a) and Q = ~(y+a) 

Putting in dZ = Pdx + Qdy, we have 

dZ = ~(x+a) dx + ~(y+a) dy 

Integrating Z = ~ (x+a)3/2 + ~ (y+a)3/2 + b 
3 3 

or Z3/2 = (x+a)3/2 + (y+a)3/2 + c 

Standard IV Equation of the form Z = px + qy + f (P, q) 
(Clairaut's form) 
An equation of the form z = px + qy + f(p, q), Which is linear in x and y is called 
Clairaut's equation 

The complete solution of the Clairaut's equation is 
z = ax + by + f (a, b) 

i.e. the solution of Clairaut's equation is obtained putting p = a and q = b 

Example 8 Solve z = px + qy + c~1+p2+q2 
(LA.S. 1989, Bihar P.C.S. 2007; U.P.P.C.S. 2005) 

Solution. This is of the form of Standard IV 

:. The complete integral is 

z = ax + by + c~(1+a2+b2) 
EXERCISE 

1. Solve the following partial differential equations 
(a) y2p - xyq = x (z-2y) 
Ans. cI> (X2_y2, zy_y2) = 0 

(b) xzp + yzq = xy 
Ans. cI> (x/y, xy-z2) = 0 

(c) (y:z ) p + xz q = y2 

Ans. cI> (x3 - y3, x2 - y2) = 0 
(d) z (xp - yq) = y2_ x2 
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Ans. f(xy, x2 + y2 + Z2) = 0 

(e) p + 3q = 5z + tan (y - 3x) 

Ans. ~[y-3x, e-5x {5z + tan (y-3x)}] = 0 

(f) x (y+z) p - Y (x2 + z) q = Z (X2 _ y2) 

Ans. f (X2 + y2 - 2z, xyz) = 0 

(g) x2 (y - z) p + (z - x) y2 q = Z2 (x - y) 

Ans. [ 1 1 1) f xyz, - + - + - = 0 
x y z 

(h) (x+2z) P + (4zx - y)q = 2x2 + y (Roorkee 1976) 

Ans. ~(xy _Z2, x2 - Y - z) = 0 

(i) px (Z_2y2) = (z-qy) (z-yL2x3) 

( 'l Ans. z 2 Y Y 
~ - + x - -, - = 0 

x x z 

G) (X2 - yz) P + (y2 - xz) q = Z2 - xy 

Ans. [x-y y-z)_ ~ -,- -0 
y-z z-x 

2. Solve the following partial differential equations. 
(a) p = 2q2 + 1 

Ans. z = ax + ~'-(2-b-:-2-+-1-) y + c 

(b) X2p2+y2q2 = Z2 (Raj SLET 1997) 

Ans. log z = a log x + ~(1_a2) log y + c 

(c) (x2 + y2) (p2 +q2) = 1 

Ans. z = ~ log (x2 + y2) + ~(1_a2) tan-1 .r + c 
2 x 

(d) 9 (p2 z + q2) = 4 

Ans. (z+a)3 = (x + ay + b)2 

(e) z2(p2z2+q2)=1 

Ans. 9 (x + ay + b)2 = (z2 + a2)3 

(f) p (1 + q2) = q (z-a) 

Ans. 4 (bz - ab -1) = (x + by + C)2 

(g) p2 = Z2 (1 - pq) 

Ans. ]a log [z.Ja + ~a(l+az2) + ~(l+az2) ] = x + c 
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(h) P (1 + q2) = q(z-a) 

Ans. 4a (z-a) = 4 + (x+ay+b)2 

(i) q2y2 = z (z - px) 

2a2 /{-1±~(1+4a2)} 
Ans. z = bxya 

Ans. 

(k) 

P (1 + q2) = q (z - a) 

4a (z - a) = 4 + (x + ay + b)2 

Z2(p2+q2 + 1) = c2 

(1+a2) (c-z2) = (x + ay +b)2 Ans. 
3. Solve the following partial differential equations. 

(a) JP + Ft = 2x 

Ans. 
1 

z = - (a + 2X)3 + a2y + b 
6 

(b) yp = 2yx + log q 

Ans. az = ax2 + a2 x + eay + ab 

(c) Z2 (p2 + q2) = x2 + y2 

Ans. Z2 = x~(a+x2) + a log{x +~(a+x2)}+ y~(y2 - a) - a log {y+~(y2 - a) + c} 
(d) p2 - 2x2 = q2;- Y 

Ans. 

(e) 

Ans. 

(f) 
Ans. 

(g) 
Ans. 
(h) 
Ans. 

2 2 z = - x3 + ax ± - (y + a)3/2 + b 
3 3 

p2 + q2 = Z2 (x+y) 

logz = 3. (a+x)3/2 + 3. (y_a)3/2 + C 
3 3 

z = px + qy + 2pq 

z = ax + by + 2ab 

z = px + qy + p2 + q2 

Z = ax + by + a2 + b2 

z = px + qy + log pq 

z = ax + by + log ab 

355 

175



UNIT- V 
APPLICATIONS OF PARTIAL 
DIFFERENTIAL EQUATIONS 

176



Chapter 9 

Applications of Partial 
Differential Equations 

INTRODUCfION 
The problems related to fluid mechanics, solid state physics, heat h'ansfer, 
electromagnetic theory, Wave equation and other areas of physics and 
engineering are governed by partial differential equations subject to certain given 
conditions, called boundary conditions. The process to find all solutions of a 
partial differential equation under given conditions is known as a boundary 
value problem. The method of solution of such equations differ from that used in 
the case of ordinary differential equations. Method of separation of variables is a 
powerful tool to solve such boundary value problem when partial differential 
equation is linear with homogenous boundary conditions. Most of the problems 
involving linear partial differential equations Can be solved by the method of 
separation of variables discussed below. 
METHOD OF SEPARATION OF VARIABLES 
It involves a solution which breaks up into a product of functions each of which 
contains only one of the variables. The following example explain this method. 

Example 1 Apply the method of separation of variables to solve 

a2z a2z az 
-2 -2-+-=0 (U.P.T.U.2005,09) 
ax ax ax 

Solution Assume the trial solution z = X(x) Y(y) (i) 

where X is a function of x alone and Y that of y alone, substituting this value of z 
in the given equation we have 

dX 
X". Y - 2X'.Y + XY' = 0 where X' =-, 

dx 

separating the variables, we get 

X"-2X'· Y' 
=--

X Y 

dY 
Y'=-.etc 

dy 

(ii) 

since x and y are independent variables, therefore, (ii) can only be true if each 
. side is equal to the same constant, K(say), so we have 

X"-2X' Y' 
---=--=K 

X Y 
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X"-2X' 
Therefore, = K i.e X"-2X' - kX =0 

X 
yl 

and -- = k i.e. yl + kY =0 
Y 

To solve the ordinary linear equation (iii) the auxiliary equation is 

m2 -2m -k=O 

=> m = l±~(1+k) 

(iii) 

(iv) 

:. The solution of (iii) is X = Cle{l+~(l+k)}X + c2e{1-~(1+k)}X and the solution of (iv) is 

Y = C2 e-ky 

Substituting these values of X and Y in (i), we get 

{ 
{1+~(1+k)}x {1-~(I+k)}X} -ky 

Z = cle + c2e .c3e 

i.e. Z = {ae{I+~(1+k)}x + be{I-~(I+k)}X }e-kY 

where a = C1 C3 and b = C2 C3 

which is the required complete solution. 

au au 
Example 2 Vsing the method of separation of variables, solve - = 2- + u, ax at 
where u(x, 0) = 6 e-3x 

Solution Assume the solution u(x, t) = X(x) T(t) 

Substituting in the given equation, we have 

X'T = 2XT' + XT 
or (XI - X) T = 2 XT' 

XI_X T' 
or 2X = T = k(say) 

:. XI - X - 2kX =0 
XI 

or -=1+2k 
X 

T' 
and -=k 

T 

solving (ii), log X = (1 +2k)x + log c 
or X = ce(1 +2k)x 

From (iii), log T = kt + log c l 

or T = c'ekt 
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(ii) 

(iii) 
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Thus u(x,t) = XT 
= ee'e (l+2k)x ekt 

Applications of Partial Diiferential Equations 

Now 6e-3x = u(x, 0) = ee' e(l+2k)x 

:. ee' = 6 and 1 +2k = -3 or k = -2 

Substituting these values in (iv) we get 
u = 6e-3x e-2t i.e. u = 6e-(3x + 2t) which is the required solution 

(iv) 

Example 3 Solve by the method of separation of variables, au = 2 au + u, where 
ax ay 

u(x, 0) = 3e-5x -2e-3x 

Solution Assume the trial solution u = X(x) Y(y) (i) 

where X is the function of x alone and Y that of y alone. 

substituting this value of u in the given equation we have 
X' Y = 2XY' + XY 

X' 2Y" 
- =-+1 = k(say) (ii) 
X Y 

X' 1 dX 
Now -=k~--=k 

X X dx 
dX 

~-=kdx 
X 

on integrating, we get 

loge X = kx + loge Cl 

=> X = elekx 

And taking last two terms of equation (ii), we have 

~ dY +l=k 
Y dy 

2 dY 
~--=K-1 

Y dy 

~ dY = (k -1) dy 
Y 2 

(k-1) 
on integrating, loge Y = --Y + log e2 

2 

(k-1)-r 
~ Y =e2e 2 

From (i), we get 
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u = CI C2 ekx e(k-l)yj2 

From (i), we get 
u = CI C2 ekx e(k-l)yj2 

n=l 

bn = CIC2 and k = Kn 

(iii) 

which is the most general solution of given equation, putting y =0 and u = 3e-5x -
2e-3x in equation (iii) we get 

comparing the terms on both sides, we get 
bl = 3, kl = - 5, h2 = -2, k2 = -3 
Hence the required solution of given equation is from (iii), we have 
u = 3e-5x - e-3y + (-2)e-3x e-2y 
~ u = 3e-(5x + 3y) - 2e-(3x+2y) 

Example 4. 
Use the method of separation of variables to solve the equation. 

"(iv av 
-;-2 = - given that v =0 when t ~ co , as well as v =0 at x =0 and x = l. 
ux at 
Solution. Assume the trial solution v = XT 
where X is a function of x alone and Y that of y given 

av dT a2v d 2X 
=:}-=X- and-=T-

at dt ax2 dx2 

Substituting these values in the given differential equation, we get 

d 2X dT 1 dT 1 d 2X 2 

T dx2 =Xdt"0r T dt"=Xdx2 =-p (say) 

1 dT 2 dT 2 
=:) T dt = -p or dt + p T = 0 

1 d2X 2 d2x 2 
and ---=-p or--+p X=O 

X dx2 dx2 

Solving (ii) and (iii) we get 

T = CI e-p2
t and X = C2 cos px + C3 sin px 

Substituting these values of X and T in (i) we get 

v = CI e-p2
t (C2 cos pt + C3 sin pt) 
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putting x =0, v =0 in (ii), we get 

o = C1 e-p2
t C2 => C2 =0 since C1 "# 0 

2t . => v = C1 e-P C3 sm px (v) 

putting x = I, v = 0 in (v), we get 

C1 C3 e--p2
t sin pI =0 

sin pI =0 = sin n n 

p = nn/I, n is any integer 
_(n2x21)/12 sin(nxx) 

v=cce I 1 3 

_ b _n2,,21/12 • (nnx) - ne sm--
I 

where bn = C1 C3 

•• ~ _ 2 21/12 • (nnx) The most general solution IS v = £oJ bne n" sm--
n=1 I 

PARTIAL DIFFERENTIAL EQUATIONS OF ENGINEERING 
A number of problems in engineering give rise to the following well known 
partial differential equations. 

ii a2 

(i) Wave equation r = c2 ~ at ax 
(ii) 

(iii) 

On di . al h fl . au 2 a2u e menslOn eat ow equation - = c -2 at ax 
Two dimensional heat flow equation which in steady state becomes the two 

d · . al L I I • a2
u a2

u 0 lIDenslOn ap ace s equation -2 + -2 = ax ay 
(iv) Transmission line equations 
(v) Vibrating membrane. Two dimensional wave equation. 
(vi) Laplace's equation in three dimensions. 
Besides these, the partial differential equations frequently occur in the theory of 
Elasticity and Hydraulics. 
Starting with the method of separation of variables, we find their solutions 
subject to specific boundary conditions and the combination of such solution 
gives the desired solution. Quite often a certain condition is not applicable. In 
such cases, the most general solution is written as the sum of the particular 
solutions already found and the constants are determined using Fourier series so 
as to satisfy the remaining conditions. 
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Vibrations of a stretched string (one dimensional wave Equation) 

Consider a tightly stretched elastic string of length I and fixed ends A and Band 
subjected to constant tension T as shown in figure. The tension T will be 
considered to be large as compared to the weight of the string so that the effects 
of gravity are negligible. 
Let the string be released from rest and allowed to vibrate. We shall study the 
subsequent motion of the string, with no external forces acting on it, assuming 
that each point of the string makes small vibrations at right angles to the 
equilibrium position AB, of the string entirely in one plane. 

y 

--~~--~~------------~----+X 
B 

Taking the end A as the origin, AB as the x-axis and AY perpendicular to it as the 
y-axis, so that the motion takes place entirely in the xy -plane. Above figure 
shown the string in the position APB at times t. Consider the motion of the 
element PQ of the string between its points P(x, y) and Q (x + Ox, Y + oy), where 
the tangents make angles 'V and 'V + 0'V with the x axis. Clearly the element is 

moving upwards with the acceleration a
2

;r. Also the vertical component of the at 
force.acting on this element 

= T sin ('V + 0'V) - T sin 'V 

-= T ('V + 0'V - 'V) .: sin 'V = 'V, as 'V is very small 

= T 0'V (approximately) 

The acceleration of the elements in the QY direction is a
2

;r . If the length of PQ is at 
os, then the mass of PQ is m.os. 

Hence, by Newton's second law, the equation of motion becomes 

a2 

mos--.r = To'V ae 

406 

182



Applications of Partial Differential Equations 

iiy T O\jl 
or-=--ae m os 

As Q ~P, 8s ~O. Therefore, taking limit as 8s ~O, the above equation becomes 

a2y T O\jl 
ae = m'B; 

Where O\jl = Curvature at P of the deflection curve os 

using formula for the radius of curvature 

= a2~ , approximately, since (ay )2 is negligible because ay is small 
ax ax ax 

. a2y _ T a2y 
.. ae - m ax2 

Putting~ = C2 (positive), the displacement y(x, t) is given by the equation 
m 

'(iy =C2 a
2
y 

ae ax2 

This partial differential equation is known as one dimensional wave equation. 
Solution of the one dimensional wave Equation 
The one dimensional wave equation is 

a2y 2 a2y 
ae = C ax2 (i) 

Assume that a solution of (i) is of the form y = X(x) T(t). where X is a function of x 
alone and T is a function of t only. 

a2y d2T a2y d2X 
Then -=X- and -=T-ae de ax2 dx2 

putting these values in (i), we get 

1 d
2
X 1 d

2
T (ii) 

X dx2 = C2T de = k(say) 

The (ii) leads to the ordinary differential equations. 

d2X d2T 
--kX=O and --kC2T=0 
dx2 de 

(iii) 
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solving (iii) we get 
(1) when K is negative say _p2, then 

X = Cl cos px + C2 sin px 

T = C3 cos cpt + C4 sin cpt 

(2) when k =0, then 

X=CSX+C6 

T = C7t+ C8 

(3) when k is positive say p2, then 

(iv) 

(v) 

X = C9 ePX + ClO e-PX } 

T = Cn ecpt + C12 e-cpt (vi) 

of these three solutions we have to choose that solution which is consistent with 
the physical nature of the problem. As we are dealing with problems on vibration 
y must be a periodic function of x and t. Hence, the solution must involve 
trigonometric terms. . 

Accordingly the solution given by (iv) i.e. of the form 

y = (Cl cos px + C2 sin px) (C3 cos cpt + ~ sin cpt) 
is the only suitable solution of the wave equation. 

Example 5. A string of length L is stretched and fastened to two fixed points. 
Find the solution of the wave equation ytt = a2 yxx, when initial displacement is 

y (x, 0) = f(x) = b sin (~) where symbols have usual meaning. 

(U.P.T.U.2oo9) 

Solution. Consider an elastic string tightly stretched between two points 0 and A. 
Let 0 be the origin and OA as x-axis on giving a small transverse displacement 
i.e. the displacement perpendicular to its length. 

y 

--L---~--------------~----+X o 
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let y be the displacement at the point P (x, y) at any time, the wave equation 

ytt = a2yxx 

cfy 2 ciy 
or-=a -ae ax2 

As the end points of the string are fixed, for all time, 
y(O, t) =0 
y(L, t) =0 

(ii) 

(iii) 
Since, the initial transverse velocity of any point of the string is zero, therefore 

(ay) -0 (iv) 
at 1=0 

Also Y (x, 0) = b sin 7 
The general solution of (i) is 

Y = (Cl cos px + C2 sin px) (C3 cos apt + C4 sin apt) 
Applying the boundary condition 

y =0 atx =0 

o = Cl (C3 cos apt + C4 sin apt) 

:. Cl = 0 

Therefore, 

y = C2 sin px (C3 cos apt + C4 sin apt) 

Again applying ay = 0 , at t = 0 on (vii) 
at 

~ = C2 sin px ap. (- C3 sin apt + C4 cos apt) 

o = C2 sin px. ap. C4 => C4 =0 
Then (vii) becomes y = C2 C3 sin px cos atp 
Applying y = 0 at x = L 

o = C2 C3 sin pL cos atp 

:. sin pL = 0 = sin n7t, n = 0,1,2,3 ................ .. 

:. pL = n7t 

n7t 
orp=­

L 

putting p = n7t in (viii), we have 
L 
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(vii) 

(viii) 

185



A Textbook ofEn~ineerin~ Mathematics Volume - II 

. n1tx n1tat 
y = C2 C3 sm--cos--

L L 

A tt = 0 Y = b sin 1tX , L 

b · 1tX C C . n1tx sm - = 2 3 SIn --
L L 

:. C2 C3 = b, n =1 

putting C2 C3 = b, n =1 in (ix) we get 

y = bSin( ~ )cos( 1t~t) 
which is our required solution. 

(ix) 

Example 6. A string is stretched and fastened to two points I apart. Motion is 

started by displacing the string the form y = a sin 1tX from which it is released at 
I 

a time t =0. Show that the displacement of any point at a distance x from one end 
at time t is given by 

y(x, t) = aSin( ~x )cos( 1t~t) 
(U.P.T.U. 2004, S.V.T.U. 2007) 

Solution: Solving exactly just like as example 5. 

Example 7 : A tightly stretched string with fixed end points x =0 and x =[ is 

initially in a position given by y = yo sin3 1tX . 
I 

If it is released from the rest from this position find the displacement y (x, t). 
Solution The equation to the vibrating string be 

cPy 2 cfy 
ae =C ax2 (i) 

Here the initial conditions are 
y(O, t) =0, y(l, t) =0 

ay = 0 att =0, y (x, 0) = yo sin3 1tX 
at I 

The general solution of (i) is of the form 
y = (C1 cos px + C2 sin px) (C3 cos cpt + C4 sin cpt) 

Now y =0 at x =0 gives Cl =0 
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:. y = C2 sin px (C3 cos cpt + C4 sin cpt) 

Again ay = 0 at t = 0 gives C =0 
at 

y = C2C3 sin px cost cpt 
At x = 1, Y =0 

o = C2 C3 sin pI cos cpt 

=> sin pI = 0 = sin nn, n = 0,1,2 ......... . 

nn 
:·P=-I 

. nnx nnct 
:. y = C2C3 sm-I-cos-

I
-

Let C2 C3 = bn, As bn is arbitrary constants 
Therefore general solution is 

~ . nnx nnct 
y(x, t) = L.i bn sm-cos--

n=l 1 1 

At t = 0, Y = Yo sin3 nx , so from equation (vi) we have 
1 

• 3 (nx) ~b . nnx yosm - = L.i n sm -
1 n=l 1 

(iii) 

(iv) 

(v) 

(vi) 

Yo (3 . nx . 3nx) b . nx b . 2nx b . 3nx => 4 sm -1- - sm -1- = 1 Sln-
I
- + 2 sm-

I
- + 3 sm -1- + ....... .. 

. b - 3yo b -0 b - Yo b - b - b - - 0 .. 1 -""4" 2-, 3 --4' 4- 5- 6- .. ·· .. · .... -

Hence (vi) becomes 

( ) Yo ( . nx nct . 3nx 3nct) y x,t =4 3sm-I-cos-I--sm-I-cos-
I
-

Example 8: A string is stretched and fastened to two points 1 apart. Motion is 
started by displacing the string into the form y =k (Ix _X2) from which it is 
released at time t =0. Find the displacement of any point on the string at a 
distance of x from one end at time t. 

(U.P.T.U. 2002) 

Solution 
The vibration of the string is given by the equation 

a2y 2 a2y 
-=C-
ae ax2 

(i) 
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As the end points of the string are fixed for all time, 

y(O, t) =0 
y(l, t) =0 

(ii) 

(iii) 

Since the initial transverse velocity of any point of the string is zero, therefore 

(Oy) =0 
Ut t=O 

and y(x, 0) = k (I x - X2) 

solution of (i) is 

Y = (C1 cos px + C2 sinpx) (C3 cos cpt + C4 sin cpt) 
At x = 0, y = 0 gives C1 =0 

Y = C2 sin px (C3 cos cpt + C4 sin cpt) 

Att= 0 Oy =0 , at 
o = C2 sin px. cpo C4 

:. C4 = 0 

Y = C2 C3 sin px cos cpt 

Atx = I, Y =0 

o = C2 C3 sin pI cos cpt 

:. sin pI = 0 = sin nn; n = 0,1,2,3 ............ . 

nn 
:'P=-l 

. nnx nnct 
y = C2C3 sm-cos--

I I 

p(x, y) 

~--L---------"---""'X 
B(I,O) 

. nnx nnct 
y = bn sm-cos--

I I 

(iv) 

(v) 

(vi) 

(vii) 

(viii) 

As bn is arbitrary constants and a differential equation satisfy solution for all 
constants. Then we can write 
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~ . nnt mtct 
y = L" bn sm-cos--

n=l I I 
At t = 0, Y = k (Ix - X2) 

~ nnx 
k(lx-x2 }= Lbnsin-

n=l I 
Applying half range Fourier sine series 

21' . nnx bn =- f{x)sm-dx 
1 0 1 

2k 1'( 2} . nnx b =- lx-x sm-dx 
n 1 0 1 

b = 2k [{-1r+
1 ~+~] 

n 1 n 3n3 n 3n3 

{
8kf 

bn = ~,whennisodd 
nn 

0, when n is even 

~ 8kf . nnx nnct . 
y = L" ~sm-cos--, when n IS odd 

n=l n nil 

~ 8k12 
• (2n -1)nx (2n -1)nct 

or y = L" 3 sm cos 
nZl{2n-1) n3 1 I 

Which is required solution. 
Example 9 Solve the boundary value problem 

a2 a2 

at; = 4 J ' given that y(O, t) =0 

y(S, t) =0, Y (x, 0) =0 and (ay) = S sin nx 
at x=o 

(ix) 

Solution: Applying the method of separation of variables to the wave equation 
a2y 2 a2y 
ae=2 ax2 ' 

The suitable solution is 
y = (Cl cos px + C2 sin px) (C3 cos 2pt + C4 sin 2pt) 

Applying the initial'condition 
y(x, 0) =0 we have 
o = C3 (Cl cos px + C2 sin px) 
~ C3=0 
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:. y = C4(Cl cos px + C2 sin px) sin 2pt 
Now using y(O, t) = 0, we get 

o = Cl ~ sin 2pt :::::> Cl =0 

:. y = Cz sin 2pt sin px 
Further y(S, t) =0 we have C2 sin 2pt sin Sp =0 

Therefore, 

sin S P =0 = sin n1t 
mt 

p = 5 ' n = 1,2,3, .......... . 

. (n1t2t) . (n1tX) y=c2sm -S- sm s-
Also the boundary condition (ay

) = S sin 1tX 
at x=o 

:. c2 n~2 cos( n~2t )sin ( ~x) = Ssin 1tX 

:::::> n =S and 21tC2 =S 
Therefore, we have 

5. . 2 Y = -sm1txsm 1tt 
21t 

Example 10: A string of length 1 is fastened of both ends A and C. At a distance 'a' 
from the end A, the string is transversely displaced to a distance 'd' and is 
released from rest when it is in this position. find the equation of the subsequent 
motion. 
OR 

Find the half period sine series for f(x) given in the range (l, 0) by the graph ABC 
as shown in figure. 

(V.P.T.V.2oo9) 
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y 

B(a, d) 

:d 
.~ ____ --'-____ ->o...._---+ X 

A(O, 0) ql,O) 

1< ~ 
Solution let y(x, t) is the displacement of the string Now, by the one dimensional 
wave equation we have 

fiy 2 cPy 
ae = C ax2 (i) 

The solution of equation (i) is given by 

y(x, t) = (Cl cos px + C2 sin px) (C3 cos cpt + ~ sin cpt) (ii) 
Now using the boundary conditions as follows 
The boundary conditions are 

At x =0 (at A), y =0 

and At x =I (at C), y =0 
From (ii), we have 

y(O, t) =0 

y(I, t) =0 

o = Cl (C3 cos cpt + C4 sin cpt) ~ Cl =0 
using Cl = 0 in equation (ii), we get 

y(x,t) = C2 sin px (C3 cos cpt + ~ sin cpt) 

. using second boundary condition, from (iii), we have 

o = C2 sin pI (C3 cos cpt + ~ sin cpt) 

~ sin pI = 0 ~ sin pI = sin nn 
nn 

=> p=-
I 

using the value of p in (iii) we have 

. nnx ( nnct . nnct) y(x, t) = C2 sm-
I
- C3 cos-

I
- + C4 sm-

I
-

Next, the initial conditions are as follows: 

velocity ay = 0 at t =0 
at 

and displacement at t =0 is 
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(iii) 

(iv) 
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.: Equation of AB is y = d.x and 
a 

d(x-Z) 
equation of Be is y = I 

a-
From (iv) 

ay . mtx ( n1tcc3 ·• n1tct n1tCc4 n1tct) at = c2 sln-
I
- --Z-sm-I-+-1-cos-

l
-

using initial condition we get 
n1tC . n1tx 

0=c2c4-1-.sm-I-~c4 =0 

using C4 =0 in equation (iv), we get 
. n1tx n1tct 

y(x,t) = C2C3 sm-I-.cos-
l
-

:. The general solution of the given problem is 

~ . n1tx n1tCt 
y(x, t) = ~ bn sm-Z-'cos-

Z
- (v) 

Using initial condition in equation (v), we get 

- n1tx 
y(x,O) = ~ bn sin-

Z
-

which is half range Fourier sine series, so we have 

2I1 ( . n1tx bn = - y x,O).sm-dx 
1 0 1 

= ~fa d .x.Sin(n1tx)dX +~_d_JI (x -I)sin n1tx dx 
Z 0 a 1 I (a-I) a I 

2d [ (-Z ) n1tx (_Z2). n1tx]1 
+ l(a -I) (x -I) n1t cos-I- - n21t2 s~n-I- a 

b 
2d nTta 2dl2 

• nTta 2d n1ta 2dz2 . n1ta 
~ =--cos-+ sm-+-coa-- sm-

n n1t 1 aZn2 1t2 Z n1t Z Z{a-Z}n21t2 Z 

b 
2df . nTta 

~ = sm-
n a(Z-a)n2 1t2 

Z 

:. From (v), we get 

2dZ2 ~ 1 . nTta . n1tX n1tCt 
y(x,t) = ( ) 2 L.J-2 sm-.sm-Z-·cos-

a Z - a 1t n=1 n Z 1 
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Example 11: A lightly stretched string of length I with fixed ends is initially in 

equilibrium position. it is set vibrating by giving each point a velocity Vo sin3 nx . 
I 

Find the displacement y(x, t). 
(LA.S. 2004, U.P.T.U. 2003) 

a2y _ 2 a2y 
Solution The equation of the vibrating string is - - C -ae ax2 

The boundary condition are y(O, t) = 0, Y (I, t) = 0 
Also the initial conditions are y(x, 0) = 0 

and (aya) = Vo sin3 nx 
t 1=0 I 

(i) 

(ii) 
(iii) 

(iv) 

Since the vibration of the string is periodic, therefore, the solution of (i) is of the 
form 

y(x, t) = (Cl cos px + C2 sin px) (C3 cos cpt + C4 sin cpt) 
by (ii) y(O, t) = Cl(C3 cos cpt + C4 sin cpt) =0 
For this to be true for all time Cl =0 

:. y (x, t) = C2 sin px (C3 cos cpt + C4 sin cpt) 
Also Y (I, t) = C2 sin pI (C3 cos cpt + C4 sin cpt) =0 for all t. 

Thi' I nn be' . s glves p = nn or p = -1- , n mg an mteger 

() nnx ( cnn . cnn ) Thus y x,t =C2 - C3 cos-t+C4 sm-t 
. I 1 I 

() b .nnx.cnnt h b CC :.y x,t = nsm-sm-- were n= 2 4 
1 1 

Adding all such solutions the general solution of (i) is 

( ) 
~b . nnx . cn7tt 

y x,t =£.... nsm-Z-sm-I-

N 
ay ~ b . nnx cnn cnnt 

ow -= £.... sm-.-cos--at nil 1 

B (. ) v. . 3 nx (ay) ~ cnnb . nnx 
y lV, 0 sm -I = at = £....-1- n sln-

I
-

1=0 

v ( . nx . 3nx) ~ cnn . nnx or - 3sm--sm- = £....-b sm-
4 1 lin 1 

cn . nx 2cn . 2nx 3cx . 3nx = -I bI sm-
I
- + -1- b2 sm-

I
- + -I- b3 sm-

Z
- + ............ .. 
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Equating Coefficients from both sides, we get 

3 Vo = cn b 2cn Vo 3cn 
4 I I' 0 =-I- b2 ' -"4 =-I- b3 ........... . 

. - 3No b - _ No b b b 0 .. - 4cn' 3 - 12cn ' 2 = 4 = 3 = ............. = 

Substituting in (v), the desired solution is 

No (9 . nx . cnt . 3nx . 3cnt) y=-- sm-sm--sm-Sln--
12m I I I I 

Example 12: A lightly stretched string with fixed end points x =0 and x = Z is 
initially at rest in its equilibrium position. If it is vibrating by giving to each of its 
points a velocity 'Ax(l - x). find the displacement of the string at any distance x 
from one end at any time t. 

Solution. The equation of the vibrating string is 

a2y 2 a2y 
-=C-ae ax2 

The boundary condition are y(O, t) =0, y (I, t) =0 
Also the initial conditions are y (x, 0) =0 

and (Oy) = h(l- x) 
at \:0 

(D.P.T.D.2002) 

(i) 

(ii) 
(iii) 

(iv) 

As in example 11, the general solution of (i) satisfying the conditions (ii) and (iii) 
is 

( ) 
~b . nnx . nnct 

y x,t = L.J nSln-Z-·sm--
n:1 Z 

ay ~ b . nnx nnct (nnc) - = L.J n Sln-.COS-- --
at n:1 1 1 1 

By (iv), h(l- x) = (Oy) = 1tC inbn sin nnx 
at \:0 Z n:1 1 

ncn 2 JI . n1tX :.-bn =- Ix(l-x}sm-dx 
1 1 0 1 

(v) 

= 2'A[(IX _ x2)( __ 1 cos nnx)_(1_ 2X}( __ I2_Sin nnx)+ (-2)(_e-Cos nnx)]l 
1 nn I n2n2 1 n3n3 I o 

4'AZZ 4).ZZ 
= -(1- cosnn) = -[1- (-I)"J 

n3n3 n 3n3 
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or b = 4Af [1- (-l)"J 
n cn4n4 

8A.z3 
= taking n = 2m-I 

cn4(2m-l)4 . 

Hence, from (v) the desired solution is 

8A.z2 ~ 1 . (2m-l)nx . (2m-l)nct 
y = -- L.J sm sm 

cn4 m=1(2m-l)4 I I 

a2y 2 a2y 
Example 13. Solve completely the equation ae = C ax2 ' representing the 

vibrations of a string of length I, fixed at both ends, given that y(O, t) =0, y (I, t)= 0 
a 

y(x, 0) = f(x), and at y (x,O) = 0, O<x<I 

Solution Here the given equation is 

a2y _ 2 a2y 
--C-ae ax2 

The solution of equation (i) is given by 
. Y = (Cl cos px + C2 sin px) (C3 cos cpt + C4 sin cpt) 

Now, applying the boundary conditions y =0 when x =0, we get 
0= Cl(C3 cos cpt + C4 sin cpt) 

=> Cl =0 

Therefore, equation (ii) becomes 

y = C2 sin px (C3 cos cpt + C4 sin cpt) 
Now putting x =1 and y =0 in equation (iii), we get 

0= C2 sin pI (C3 cos cpt + C4 sin cpt) 

=> sin pi =0 = sin nn 
nn 

or pI = nn => p = -Z-

Thus, equation (iii) becomes 

. nn ( nnct . nnct) y=C2 sm-x C3 cOS--+C4sm--
I I I 

Differentiating equation (iv) with respect to t, we get 

ay C . nnx ( C nnc . nnct C nnc nnct) -= sm- - -sm--+ -cos--
at 2 I 3 I Z 4 I Z 
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(i) 

(ii) 

(iii) 

(iv) 
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Vsing given boundary condition 0}' = 0, t =0 we get 
at 

o = C sin nnc (0 + C nnc) 
2 1 4 1 

~ C4=0 

Thus, equation (iv) becomes 
. nnx nnct 

y = C2C3 sm-cos--
I I 

Now applying the last boundary condition given, we get 

f(x) = bn sin n7
x 

, bn = C2 C3 

Where 

b = 3. r' f(x)sin nnx dx 
n 1 Jo 1 

Thus, the required solution is 
. nnx nnct 

Y = b sm-cos-­
nIl 

Solution of wave Equation By 0' Almbert's Method 

Transform the equation a
2r = C2 a2~ to its normal form using the transformation 

at ax 
u = x + ct, v = x - ct and hence solve it. Show that the solution may be put in the 

form y=.!.[f(x+ct)+f(x-ct)]. Assume initial condition y = f(x) and 0}' =0 at 
2 at 

t=O 
(V.P.T.V.2003) 

Proof. Consider one dimensional wave equation 

a2y 2 a2y 
-=C-
ae ax2 

Let u =x + ct ahd v = x - ct, be a transformation of x and t into u and v. 
then 

0}' =O}'au+O}'av =0}' +0}' .. au=1 
ax auax avax au av . ax 

av =1 
ax 
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or 

au dv 
:.-=c -=-c 

at ' at 

or ~=c(.i.-~) 
at au av 

:. a
2

y = ~(dy) = c(~ _ ~)(c ay _ c dy) 
ae at at ou av au av 

_ 2 ( a
2
y a

2
y a2y ) 

-c ou2 -2 auav + av2 

~ a2
y = c2 (a2y 

_ 2 a2
y + a2y

) 
ae au 2 auOY av2 

marking use of equation (ii) and (iii) in equation (i), we get 

c2 (a2y 
_ 2 o2y + a2y

) = c2 (a2y 
+ 2 a

2
y + a

2y
) 

au2 auOY av2 au2 auOY av2 

a2 
~4C2_y_=O 

auav 

a2y 
~--=O 

auav 
Integrating equation (iv) w.r.t 'v' we get 

dy = <\>(u) au 
where <\>(u) is a constant in respect to v 
Again integrate equation (v), we get 

y = f <\>(u)du + <\>2 (v) 

y = <\>l(U) + <\>2{V) => 
=> y(x, t) = <\>1 (x + ct).+ <\>2 (x - ct) 

421 

(ii) 

(iii) 

(iv) 
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The solution (vi) is D' Alembert's solution of wave equation. 

Now, we applying initial conditions y = f(t) and ay = 0 at t =0 
at 

From (vi), we get at t =0 

f(x) = <I>t(x) + <l>2(X) (vii) 

and dy = c<l>'(x + ct) - c<l>~ (x - ct) 
at 

~ (a
y

) = 0 = c<l>~ (x+O)-c<l>~ (x-a) 
at t=O 

~<I>~(x)-<I>~(x)=O 

~ <I>~ (x) = <I>~(x) 

on integrating, we get 

<l>l(X) = <l>2(X) + Cl 

using equation (viii) in equation (vii), we get 

f(x) = <I>2(x) +Cl + <l>2(X) = 2 <l>2(X) + Cl 

~ <1>2 (x) = ~[f(X)- c1] ~ <1>2 (x - ct) = ~[f(X - ct) - c1] 

and <1>1 (x) = ~[f(x)+ c1] ~ <1>1 (x+ ct) = %[f(X + ct)+ c1] 

putting the values of <l>l(X + ct) and <l>2(X- ct) in eqn(vi) we get 

1 
y(x, t) = - [f(x + ct) + f(x-ct)] 

. 2 

(viii) 

VIBRATING MEMBRANE -1WO DIMENSIONAL WV AE EQUATION 
Consider a lightly stretched uniform membrane (such as the membrane of a 
drum) with tension T per unit length is the same in all directions at every point. 

Consider the forces on an element ox oy of the membranes. Due to its 
displacement u perpendicular to the xy plane, the forces Tox and Toy act on the 
edges along the tangent to the membrane 
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T8x 

y 

-,.!= / T8y 

?J.~ ....... . 
u 

.B 

y+8y 

y .......................... . 

o x x 
x+ 8x 

The forces T8y (tangential to the membrane) on its opposite edges of length 8y act 
at angles a and B to the horizontal. So; their vertical component 

= (T8y) sin B - (T8y) sina 

= T8y (tanB -tana), .,' a and B are very small i.e. sin a ~ tana etc. 

_ T8y{(au) _ {au} } 
ax x+ox ax x 

= TsyJ(iH ... -{~U 
8x 

= T8y8x a2~ ,upto a first order of approximation ax 
similarly, the forces T8x (the vertical component of the force) acting on the edges 

a2u 
of length 8x have the vertical component = T8x8y ay2 

If m be the mass per unit area of the membrane, then the equation of motion of 
the element ABeD is 

a2u (a2u aZu) 
m8x 8y ae == T ax2 + ay2 8x8y 

or a2

u =.1:..( a2

u + a2u) 
ae m ax2 ay2 

423 

199



A Textbook of Engineering Mathematics Volume - II 

2 T wherec =-
m 

This in the wave equation in two dimensions. 

Solution of the Two-Dim~nsiona1 wave Equation 
The two dimensional wave equation is given by 

a
2
u = c2 (a

2
u + a

2
u) 

ae ax2 ay2 

Letu=XYT 

(i) 

(ii) 

be the solution of (i), where X is a function of x only, Y is a function of y only and 
T is a function of t only. 

=> a
2
u = X"YT, a

2
u = XY"Tand ifu =XYT" 

ax2 ay2 at2 

substituting these values in (i), we get 

J.. XYT"=X"YT + XY"T 
c2 

Dividing by XYT throughout, we get 

1 T" X" Y" 
--=-+-
c2 T X· Y 

(iii) 

since each variable is independent, hence this will be true only when each 
member is a constant. Suitably choosing the constants, we have 

d2~ +k2X=0, d
2
; +i2y=0 

dx dy 

d2T 
and _+(k2 +e)c2T =0 de 
Hence, the solution of these equations are given by 

X = Cl cos kx + C2 sinkx 

Y = C3 cos Iy + C4 sin iy 

and T = Cs COS~(k2 +e)ct+c6 Sin~(k2 +e)ct 

Hence form (ii), the solution of (i) is given by 

u(x, y, t) = (Cl cos kx + C2 sin kx) (C3 cos iy + C4 sin iy) 

[c5cos~(k~ +e)ct+c6sin~(k2 +z2)ctJ (iv) 

Let is consider that the membrane is rectangular and stretched between the lines 

x =0, x =a, y =0, y = b 
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Now the boundary condition are 
(1) u =0, when x =0, for all t 
(2) u =0, when x =a, for all t 
(3) u =0, when y =0, for all t 
(4) u =0, when y =b, for all t 

y 

y=b B 
c ~--------------~ 

-:O:-+--------------A.l---~' X 
y=O 

Now using condition (1) in (iv), we get 

0= C1 (c3 cos ly + c4 sin ly)[ Cs cos ~"'(k-2-+-12--:-)ct + c6 sin ~(k2 + z2 )ctJ 

~Cl =0 
substituting Cl =0 in (iv) and using condition (ii), we get 

sinka = 0 k m1t h . . or = -, were m IS an mteger 
a 

Hence solution of (iii) becomes 

( ) . m1tx . n7ty ( .) u x,y,t =c2c4 sm---sm- cscospt+c6 smpt 
a b 

m2 n 2 

where p=1tC -+­
a2 b2 

• 
Now replacing the arbitrary constants, we can write the general solution as 

u(x,y,t) = t tsin m1tx sin n7ty (Amn cospt+ Bmn sinpt) 
m~ln=l a . b 

Equation (v) is the solution of the wave equation (i) which is zero 
boundary of the rectangular membrane. 
Suppose the membrane starts from rest from the initial position. 

u = f(x, y) i.e. u(x, y, 0) = f(x, y) 

Then using the condition au = 0 , when t =0, we get Bmn =0 at 
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Further using the condition u = f(x,y) when t =0, we get 

f(x,y) = ~~Amn sin m:x sin n: (vi) 

This is a double Fourier series. multiplying both sides by sin mnx sin nny and 
a b 

integrating from x =0 to x =a and y =0 to Y =b, every term on the right except one 
become zero. Thus, we have 

J
afb mnx nny ab f(x, y)sin--sin-dydx=-Amn o 0 a b 4 

4 Jafb mnx nny or Amn =- f(x,y)sin--sin-dydx 
ab 0 0 a b 

(vii) 

Therefore from (v) required solution is 

u(x, y, t) = i iAmn sin mnx sin nny cospt 
m=l n=l a b 

where Amn is given by (vii) and p = nc (~2 + ~: ) 
Example 14: Find the deflection u(x, y, t) of a square membrane with a = b = 1 
and c =1, If the initial velocity is zero and the initial deflection is f(x,y) = A sin nx 
sin 2ny 

Solution : The deflection of the square membrane is given by the two 
dimensional wave equation. 

a
2
u = c2 (a

2
u + a

2
u) ae ax2 ay2 

The boundary conditions are 
u(x, 0, t) = 0 = u(x, 1, t) and u(O, y, t) =0 = u(l, y, t) 

The initial conditions are u(x, y, 0) = f(x, y) = A sin nx sin 2xy, (a aU ) = 0 
t 1=0 

:. Deflection 

u (x, y, t) = L LAmn cos kmm tsinmnx.sinnny 
m=l n=l 

(i) 

where Amn = 4J01 J: f(x, y)sinmnx.sinnnydxdy .,' a = b = l,c = l,k~n = n2 (m2 +n2) 

= 4fo1 J: (sin nx)(sin 2ny) (sin mnx) sin nny dx dy 
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y 

(1, 1) 
(0,1) 

~o~--------------~----~x 

(1,0) 

on integration, we find that Aml = Am3 = Am4 = ............ =0 
But 

Am2 = 4A f: f: (sin nx) (sin mnx)sin2 2nydxdy 

= 2A f: f: (sin nx)(sinmnx)(l- cos4ny )dxdy 

=2Af:sinnxsinmnx(y- 41nSin4ny): dx 

= 2A f: sin nx sin mnx dx 

on integration we find that A22 = AJ2 = ............... =0 

Also we find A12 = 2A f: sin nxsin nxdx 

= A f: 2sin2nxdx 

= A f: (1- cos2nx)dx 

=A(x-~Sin2nx)1 =A 
2n 0 

Thus, from (1), we have 

u(x, y, t) = A12 (cos k12t) (sin nx) sin 2ny 

= A cos J5 nt sin nx sin 2ny 

.,' k~2 = n2 (12 + 22 )i.e.k12 = nJ5 
since c = 1, m = 1, n =2 

ONE - DIMENSIONAL HEAT FLOW 
Consider a homogeneous bar of uniform cross section A. Here we assume that 
the sides of the bar are insulated and the loss of heat from the sides by 
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conduction or radiation is negligible. Take one end of the bar as the origin and 
the direction of flow as the positive direction of x axis. Take k be the thermal 
conductivity's' the specific heat and p be the density of the bar. The temperature 
u at any point of the bar depends on the distance x of the point from one end and 
the time t. The amount of heat crossing any section of the bar per second depends 
on the area A of the cross section, the rate of change of t~mperature with respect 
to :x' (distance) normal to the area. 

~~----------~-

A 

V x 8x 
~----------~'~'----------~"---------+ X o 

One dimensional heat flow 

Therefore Ql, the quantity of heat flowing into section at a distance 

x = _kA(au) per second. (The negative sign indicates that as x increases, 
ax x 

u decreases). Q2, the quantity of heat flowing out of the section at a distance 

x + Ox = -kA (au) per second. 
ax x+/ix 

Hence, the rate of increase of heat in the slab with thickness Ox is 

Q1 -Q2 =kA[(au) _(au)] per second 
ax x+/ix ax x 

au 
But the rate of increase of heat of the slab = spAox­

at 
From (i) and (ii), we get 

spAox au = kA [( au) _ (au) ] 
at ax x+/ix ax x 

au k[(~l+/iX -(~ll or sPa; = Ox 
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Taking limit as Ox -70, we have 

au a2u 
sP-at=k ax2 

au k a2 u 
or-=-­

at sp ax2 

au 2 a
2
u (1'1'1') or-=c -

at ax2 

where c2 = ~ is called the diffusivity of the material. 
sp 

Equation (iii) is called the one-dimensional heat flow equation, 

Solution of one-dimensional heat Equation 

Th 'f d' 'al h fl ,au 2 a
2
u e equation 0 one lffienslon eat ow IS - = C -2 

at ax 

Assume that a solution of (i) is 
u = X (x), T(t) 

where X is a function of x alone and T is a function t alone, 

au au a2u 
Then -=XT',-=X'Tand-=X"T 

at ax ax2 

Putting these values in (i), we get 

(i) 

XII T' 
XT'=C2X"T~-=- (ii) 

X c2I 
Now L.H,S expression is a function of x only while R.H.S is a function of t only, 
so the two can be equal only when these are equal to a constant, say k. 

X" 
~-=k 

X 
d2X 

or ---kX=O 
dx2 

i.e, X" = kX 

and dT _ c2kT = 0 
dt 

There are arise following cases: 

Case I. when k > 0, let k=p2 

Then X = C1 ePX + C2 e-PX and T= C3 e ~2t 

Therefore u(x, t) = (clepx + C2 e-px) C3 e c~2t 
Case II. when k<O, let k= _p2 
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Then X = C4 cos px + Cs sin px and T = C6e -c2p
2t 

Therefore, u (x, t) = (C4 cos px + Cs sin px) C6e -c~2t 
Case III when k =0, then 

X=c7x+csandT=c9 

Therefore u(x, t) = (C7X + es) c
9 

Here we are dealing with the heat conduction problem so the temperature u 
decreases with the increase of time t and hence solution given by case II is 
appropriate. 

i.e. u(x, t) = (C1COSpX + C2 sinpx) C3 e~2t is the only suitable solution of the heat 
equation. 

Fourier series solution of one-dimensional heat equation 
Applying the boundary conditions and the initial condition, we get 

00 _n27t2c2 t 

u(x,t)= Lbnsin~-I-
n=l I 

2fl . mtx where bn =- f(x)sm-dx 
1 0 1 

au au2 

Remark: In steady state - = 0, so - = 0 
at ax2 

Example 15 An insulated rod of length I has its end A and B maintained OOC and 
1000e respectively until steady state condition Prevail. If B is suddenly reduced 
to ooe and maintained at OOC find the temperature at a distance x from A at time 
t. 

. Solution: The equation of one dimensional heat flow be 

au 2 a2u 
-=c-
at ax2 

The boundary conditions are 

(a) u(O, t) = (JOe and (b) u(l, t) = 1000C 

In steady state condition au = Q., here fro~ (i) we get 
at 

a2,u 
-=0 
ax2 

on integration, we get u(x) = C1X + C2 
where Cl and C2 are constants to be determined. 
At x =0, from equation (ii), we have 
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100 
and at x = I, 100 = C1 I + 0 =* c1 =­

I 

:. form (ii) 

100 
u{x)=-x 

I 
(iii) 

Now the temperature at B is suddenly changed we have again transient state. if 
u(x, t) is the subsequent temperature function, the boundary conditions are (a') 

u(O, t) = OOC (b') u(I, t) = QOC and the initial condition (c') u(x,O) = 100 x 
I 

since the subsequent steady state function us(x) satisfies the equation 

ifu, = 0 
ax2 

d 2u 
or --2' = 0 =* u, (x) = c3x + c4 dx 

at x = 0, wet get 0 = C4 

and at x = I, we get 

o = c3I + 0 => C3 =0 

Thus us(x) =0 (iv) 
If uT (x, t) is the temperature in transient state then the temperature distribution 

in the rod u(x, t) can be expressed in the form u(x, t) = Us (x) + u
T 

(x, t) 

=* u(x, t) = uT (x, t) since us (x) = 0 (v) 

Again from heat equation we have 

aUT 2 a
2
u T -=c--at ax2 

The solution of equation (6) is 

u
T 

(x, t) = (C4 cos px + C2Sin px) c3e~2t 

At x =0, u(O, t) =0 

=> 0 = C1 e-c~2t => C1 =0 

From (vii), we get 

u(x, t) = C2 sin px c3e~2t 
Again at x = I, u(I, t) =0 

=> 0 = C1C2 sin pI .e-c,,2t 

=> sin pI = 0 = sin nn 
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nn 
=>P=-l 

From (viii), we get 

n2e2,,>! - nnx ---
=> u(x, t) = L bn sin-.e /2 

n=l 1 

. "ti I d" . tt 0 100 t usmg lID a con ltion l.e. a =, u = -1-x, we ge 

100 ~ . nnx 
u(x,O)=-x= .L.Jbnsln-

1 n=l 1 

:. b = ~ r1100 x sin nnx dx 
n 1 Jo 1 1 

200 / . nnx 200 [Xl nnx f . nnx]/ =_r xsm-dx=- --cos-+--sm-
12 Jo 1 f nn 1 n2n2 1 o 

200 [12 ] 200 ( )n+1 => bn =- --cosnn =--1 e nn nn 

Hence from equation (ix) we get 
_ ( )n+ 1 n2e2,,>! 

U(x,t)= 200 L -1 sinnnx.e--I'-
n n=l n' 1 ' 

(ix) 

Example 16: Determine the solution of one dimensional heat equation 

au = c2 a2~ subjected to the boundary conditions u(O, t) =0, u(I, t) =0 (t >0) and 
at ax 

the initial condition u(x, 0) =x,1 being the length of the bar. 

Solution: We have 

au 2 a2u -=c-
at ax2 

we know that the solution of equation (i) is given by 

u(x, t) =(CICOS px + C2 sin px) C3 e-p~~ 
Atx =0, u =0 

=> 0 =Cl c3e-p2~t 

=> Cl =0 
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From (ii) we get 

u(x, t) = C2C3 sin pxe _p2
c
2

t 

Again at x =1, u =0 

=> 0 = C2 C3 sin pl. e-p2
c
2
t 

=> sin pI = 0 = sin nn 

nn 
~ p=-

1 
From (iii) the general solution of equation (i) is 

Att= 0, u =x 

~b . nnx 
~X= L.J sm-

n=l n 1 

2 rl . n7tX 2 [ 1 ( nnx) (_1 2 
• nnx)]1 

:.bn =TJoxsm~x=T x· nn -cos-
l
- - n2n2s1n-l- 0 

= ~ [(1. _1 (_ cos nn) + _12_ sin nn) _ 0]1 
1 nn n2n2 

o 

~ bn =~[-~(-lr]=(-ltl ~ 1 nn nn 

putting the value of bn in equation (iv), we get 

( )
n+ 1 n2c2n2t 21 - -1 nnx ---

u(x,t)=-L sin-.e 12 
n n=l n 1 

(iii) 

(iv) 

Example 17: The ends A and B a rod 20 cm long have the temperature at 300C 
and 800c until steady state prevails. The temperature of the ends are changed to 

. 400c and 600c respectively. Find the temperature distribution in the rod at time 
t. (LA.S. 2005) 
Solution: The heat equation in one dimensional is 

au 2 a2u 
-=c­
at ax2 

The boundary conditions are 
(a) u(O, t) =300c (b) u(20, t) =800C 

In steady condition au = 0 
at 
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F (') a2u 0' , :, rom 1 we get -2 = , on mtegration, we get ax 
u(x) = C1 X + C2 

at x= 0, u = 30 so 30 =0 + C2 => C2 = 30 

5 
and at x =20, u = 80 so 80 = C1 20 + 30 => c1 =-

2 

From equation (ii) we get 

5x 
u(x) =-+30 

2 

(ii) 

(iii) 

Now the temperature at A and B are suddenly changed we have again gain 
transient state, 

If u1(x, t) is subsequent temperature function then the boundary conditions are 

u1 (a, t) = 400c and u1 (20, t) = 600c 

and the initial condition i.e, at t =0, is given by (iii) 
Since the subsequent steady state function us(x) satisfies the equation 

or 

The solution of above equation is 

us(x) = C3X + C4 

At x =0, us = 40 => 40 = a + C4 => C4 = 40 ',' Us (0) = 400c 

us (20) = 600c 

and at x= 20, Us = 60 => 60 = 20 C3 + 40 => C3 =1 
:, form (iv), we get 

us(x) = x + 40 
Thus the temperature distribution in the rod at time t is given by 

u(x, t) = Us (x) + 1tr (x,t) 

=> U (x, t) = (x + 40) + 1tr (x, t) 

where UT (x, t) is the transient state function which satisfying the conditions 

uT (0, t) = U1 (0, t) - us(O) = 40 - 40 =0 

uT (20, t) = U1 (20, t) - us(20) = 60 - 60 =0 

and 1tr (x, 0) = Ul (x, 0) - us(x) 

5x 3x 
= -+30-x-40=--10 

2 2 
The general solution for 1tr (x, t) is given by 
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_ n2c21t2 t 
n1tx --­

ur (x, t) = ~>n sin-.e P 
n=l 20 

At t=0, from (vii) we get 

3x -10 = i> sin n1tx 
2 n=l n 20 

:. b = 2f20(3X -10)Sin n1tx dx 
n 20 ° 2 20 

=~[(3X -10)(- 20 cosn1tx)_~(_~cosn1tx)]20 
10 2 n1t 20 2 n21t2 20 ° 

= 1~[ -20(~~}-lr -(-10)(~~)] 
=-~~[2(-lr+1J 

putting the value of bn in equation (vii), we get 

( ) 
20 ~ 2(-lr + 1 . n1tx -n:~c2t 

u r x,t = --LJ Stn-.e 
1t n=l n 20 

(viii) 

From (vi) and (viii), we get 

( ) 
_ ( 40) 20 ~ 2 ( -1 r + 1 . n1tx -n:~c2t 

ur x,t - x+ --LJ stn-.e 
1t n=l n 20 

TWO - DIMENSIONAL HEAT FLOW 

(vii) 

Consider the flow of heat in a metal plate of inform thickness a (cm), density p 
(gr / cm3), specific heat s( call gr de g) and thermal conductivity k (cal/ em sec-deg) 
Let XOY plane be taken in one face of the plates as shown in figure. If the 
temperature at any point is independent of the z coordinate and depends only on 
x, y and time t, then the flow is said to be two-dimensional. In this case, the heat 
flow is in the XY plane only and is zero along the normal to the XY -plane. 

Y 

o (x,y+8y) 
C (x+8x,y+8y) 

A 4--___ .----___ ---= 
(x,y) B(x+8x,y) 

~o~------------------------------~ X 
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Consider a rectangular element ABCD of the plane with sides ox and By. 
The amount of heat entering the element in 1 sec. from the side AB 

= -kaox( ~~ ) (see one dimensional heat flow) 
y 

and the amount of heat entering the element in 1 second from the side AD 

= _kaOy(au) ax x 

The quantity of heat flowing out through the side CD per sec 

= -kaox(~u) 
y y+8y 

and the quantity of heat flowing out through the side BC per second 

= _kaOy(au) 
ax x+8x 

Hence the total gain of heat by the rectangular element ABCD per second 

=_kaOX(au) _kaOy(au) +kaOX(au) +kaOy(au) ay ax x ay, ax x+8x 
y y+uy 

=kaOX[(au) _(au) ]+kaOy[(dU) _(au)] ay ,ay ax x+8x ax x y+oy y 

= kaOxoy _( a_a~_)=X+=8X_--'-(_~~-'-)-"-x + _( ~_~_)-,-y+-=-8Y_-_(_~~_)....:...y 
Ox oy 

Also the rate of gain of heat by the element 
au 

=poxoyas-
at 

Thus from equation (i) and (ii) 

(
au) (au) (au) _(au) 

k 
s;: 0 ax x+8x - ax x ay y+8y ay y 

aux y ox + oy 
au 

=poxoyasa; 

Dividing both sides by a ox oy and taking limits as ox ~o, oy ~ 0, we get 
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(
a2u a2u) au 

k ax2 + ay2 = pSat 
. au 2(a2u a2u) 
I.e. at = c ax2 + ay2 (iii) 

where c2 = ~ is the diffusivity 
ps 

Equation (iii) gives the temperature distribution of the plate in the transient state. 

Cor. In the steady state, u is independent of t, so that au = 0 and the above at 
equation reduces to, 

a2u a2u 
-+-=0 ax2 ay2 

and this is called Laplace's equation in two dimensions. 
Solution of Laplace Equation in Two Dimensions 

Laplace equation in two dimensions is given by 

a2u a2u 
-+-=0 ax2 ay2 
Let u = XY be a solution of (i) 

where X is a function of x alone and Y is the function of y alone. 

Then a
2

u = X"Y and a
2

u = XY" ax2 ay2 
Substituting these values in (i), we get 

X"Y+ XY" =0 

X" Y" 
or -=--

X Y 

(i) 

(ii) 

Now in equation (ii) variables are separable since x and y are independent 
variable, this equation can hold only when both sides reduce to a constant, say k 

X" Y" 
i.e. -=--=k 

X Y 
d2X 

~--KX=O 
dx2 

Solving equation (iii), we get 

and 

(a) when k is positive say p2, then we have 

Y = C3COS py + C4 sin py 
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(b) when k is negative say _p2, then we have 

X = Cs cospx + C6 sin px, Y = C7 epy + cse-PY 

(c) when k = 0, then 

X= C9 x + ClO, Y = Cll Y + C12 

Thus the various possible solution of (i) are 

u = (Cl ePX + C2 e-px) (C3 cos py + C4 sin py) (iv) 

u = (cs cos py + C6 sin py) (C7 ePY + Cs e-PY) (v) 

u = (C9X +ClO) (Cll y + C12) (vi) 

of these we take that solution which is consistent with the given boundary 
conditions, i.e., physical nature of the problem. 

Example 18: Solve the Laplace equation a2~ + a2~ :::: 0 subjected to the conditions 
ox oy 

u(o, y) :::: U (I, y) :::: U (x, 0) = 0 and u (x, a ) = sin n7
x 

(U.P.T.U 2004) 

Solution. The three possible solution of 

y 

02U 02U 
-+-=0 
ox2 ay2 

y=a, u= sin(rntx/ I) 

D(X,y+oy) 

x =0 

u=O 

c (x+ox,y+oy) 

x=1 
u=O 

A (x,y) B(x+ox,y) 
~o~------------------------------~ X 

y=O 
u=O 

are 

u = (Cl ePX + C2 e-px) (C3 cos py + C4 sin py) 

u = (C5 cos px + C6 sin px) (C7 ePY + Cs e-PY) 

u = (C9 x +CIO) (Cll y + C12) 
we have to solve (i) satisfying the following boundary conditions 

u(O, y) =0 
u(I, y) =0 
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u(x, 0) =0 
u(x, a) = sin n1tx/1 
using (v) and (vi) in (ii), we get 
C1 + C2 =0, and C1 ePt +C2 e-pt =0 

(vii) 
(viii) 

Solving these equations, we get C1= C2 =0, which lead to trivial solution. similarly 
we get a trivial solution by using (v) and (vi) in (iv). Hence the suitable for the 
present problem is solution (iii), using (v) in (iii), 

we have C5 (C7 ePY + C8 e-PY) =0 i.e. C5 =0 

:. (iii) becomes u = C6 sin px (C7 epy + C8 e-PY) 

using (vi), we have C6 sin pI (C7 ePY + C8 e-PY) =0 

:. either C6 =0 or sinpl =0 

If we take C6 =0, we get trivial solution 

Thus sin pI =0 => pI = n1t 

n1t 
=> p = -1-' where n= 0,1,2 .......... . 

:. (ix) becomes u = c6 sin ( n;x)( c7enny
/
1 + cse-nny

/
I

) 

Using (vii), we have 0 = c6 sin( n~x}( c7 + cs ) i.e. C8 = -C7 

Thus the solution suitable for this problem is 

u(x, y) = bn sin n;x (enny
/

I 
- e-nny

/
I

) where bn = C6 C7 

Now using the condition (viii), we have 

u (x,a) = sin n;x = b
n 

sin n;x (e n7ta
/

1 
_ e-nlta

/
I

) 

1 
we get bn = (en7ta/1 _e-nlta / I ) 

Hence the required solution is 

enny/ I _e-nny / I • n1tX 
u(x, y) = nita/I -nita/I sm-

I
-

e -e 

( ) 
sinh(nny / 1) . n1tx 

=>u x,y = sm--
sinh(n1ta/l) 1 

(ix) 

(x) 

Example 19: A thin rectangular plate whose surface is impervious to heat flow, 
has at t =0 an arbitrary distribute of temperature f(x, y), if four edges x =0, x =a, y 

439 

215



A Textbook of Engineerinlf Mathematics Volume - II 

=0, y =b are kept at zero temperature. determine the temperature at a point of the 
plate as t increases. 

(U.P.T.U.2002) 
Solution The two dimensional heat equation is 

au =c2 (a
2

u + a
2

u) 
at ax2 ay2 

(1) 

where c2 =~ 
crp 

The initial temperature of the plate is f(x, y) and the temperature of the four 
edges of the plate are kept at zero temperature. 
Now the function u(x, y, t) is required to satisfy (i) and the boundary and initial 
conditions given below: 
The boundary conditions are 

y 

Temp (zero) 
C) ~--~-------------, .... 
~ --0... 

y=b Temp (zero) 

S 
~ 

x=O 

o 
u(o, y, t) =0 (i) 
u(a, y, t) =0 (ii) 
u(x, 0, t) =0 (iii) 
u(x, b, t) =0 (iv) 
and the initial condition is 
u(x, y, 0) = f(x, y) 

x=a 

y=O Temp(zero) 

Let the solution of the heat equation (1) be of the form 
u(x, y, t) = X(x) Y(y) T(t) = XYT(say) 

x 

where X is a function of x only, Y is that of y only and T is that of t only. 

using (3) in (1) we get 

1 dT 1 d2X 1 d2y 
--=----+--
c2T dt X dx2 Y dy2 

Hence in order that (3) may satisfy (1) we have of these three possibilities: 
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(A) .! d2
X =0 .! d

2
y =0, _1_dT =0 

X dX2 'y dy2 c2T dt 

(B) .! d2
X = 2 1 d

2
y 2 1 dT 2 

X dX2 Pl' Y dy2 = P2' c2T dt = P 

C .! d2
X _ _ 2 .! d

2y = _ 2 1 dT 2 
( ) X dX2 - P1' Y dy2 P2' c2T dt = -P 

where p2 = pi + pi 

It can be easily observed that differential equation (C) only gives the solution for 
this situation, and the general of the differential equation in this case is 

X = Al cos PI X + BI sin PIX 

Y = A2 cos P2 Y + B2 sin P2Y and T = A3 e ~2t 

( 
, ') c2 

21 u(x, y, t) = (AI cos PI X + BI sin pIX) A2 cos P2 Y + B2 sin P2Y e- P (4) 

where A~ = A2A3 , B~ = B2 B3 

Under boundary condition (i) we get 

u( 0, y, t) = A1 (A~ cos P2 Y + B~ sin P2y)e-c2p2t = 0 

=> Al =0 

Again using (ii) 

u(a,y,t)=B1sinp1a(A~ COSP2 y+B~ sinp2y)e-c'r'l =0 

sin PI a =0 => PI a = mn => 
mn 

P1 =- wherem=I,2,3 ......... . 

similarly, making use of (iii) and (iv), we obtain 

nn 
A~ = 0 and P2 = b (n= 1, 2, 3 ............ ) 

Thus we have 

u (x y t) = A e-c2p2mnt sin mnx sin nny 
mn" mn a b 

(
2 2) 2 22 m n where P =P =n -+-mn a2 b2 

- - 2 2 mnx nny 
=>u(x,y,t) = L LAmne-c Pmn

t sin--sin--
m=l n=l a b 

This solution satisfies the boundary conditions. 
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Now to derive the solution which satisfies the initial condition also, we proceed 
as follows: 

( ) 
~ ~ 2 2 • m1tx . nny ( ) =>u x,y,O == L.JL.JAmne-cPmnlsln--sln--==f x,y 
m=l n=l a b 

Hence, the L.H.5 is the double Fourier sine series of f(x,y) 

2 2 fa fb m1tx nny =>Amn ==-.- f(x,y)sin--sin-dxdy 
a b x=O y=O a b 

(6) 

Hence the required solution of heat equation (1) is given by (5) with coefficients 
given by (6) 

Example 20 Solve the P.D.E by separation of variables method U xx = uy+ 2u, 
u(O, y) =0 

~u(o,Y)==1+e-3Y 
ax 

X" Y'+2Y 
Solution Hint. - = == K(say) 

X Y 
=> X = c

1
e,Jkx + c2e-,Jkx, Y = c3e(k-2)y 

U=XY 

Therefore u (x, y) = ~. sinh.J2x + sin.e -3y 

EXERCISE 

(U.P.T.U.2009) 

Solve the following P.D.E. by the method of separation of variables. 

1. 3 au + 2 au = 0 given u(x, 0) = 4e-x 
ax ay 

( ) 
.!(3y-2x) 

Ans. u x, y == 4e2 

2. 
a2z a2z 
ax2 +4 ay2 == 0 

Ans. z==(c1e,Jkx +c2e-,JkX)(c3sin~.Jky+c4cos~.Jky) 
au au 
-+2-+u u(x 0) == 6e-3x 
ax at " , 

3. 

(U.P.T.U.2006) 

Ans. u(x, t) == 6e(-3x + 2t) 
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au au 
2--3-=0 u(x 0) = 5e3x 

ax ay , , 

u(x, y) = 5e3x + 2y 

3
au 

+2
au 

=0 
ax ay 

( ) 
!k(2x-3Y) 

Ans. u x, y = ce6 

(U.P.T.V. 2009) 

6. The vibrations of an elastic string is governed by the P.D.E. a2~ = a2~ . The 
at ax 

length of the string is 1t and the ends are fixed. The initial velocity is zero and the 
initial deflection is u(x, 0) = 2 (sin x + sin 3x). Find the deflection u(x, t) of the 
vibrating string for t > o. 
Ans. u(x, t) = 4 cos x cos 2t sin 2x 
7. find the displacement of a string stretched between the fixed points (0, 0) 
and (1, 0) and released from rest from position a sin 1tx + cos 21tx. 

Ans. u(x, t) = a sin 1tX cos 1tCt + bsin 21tx cos 21tct 

8. 

(i) 

(ii) 

(iii) 

S I th . a
2
u 2 a

2
u b· d th d· . o ve e wave equation -2 = C -2 su Jecte to e con ltions 

at ax 

u(O, t) = u(l, t) = 0 t ~ 0 

{

2X O<x< II 
l' - - 12 

u(x,O) = 1 
~(I-x),-~x~1 
1 2 

( au) = 0, 0 ~ x ~ 1 
at t~O 

(LA.S 2006) 

8 ~ 1 . n1t . n1tx n1tCt 
Ans. u(x,t)=2" LJ-2 sm-sm-cos--

1t n~1 n 2 1 I 

9. A tant string of length 21 is fastended at both ends. The mid point of the 
string is taken to a height b and then released from the rest in that position. Find 
the displacement of the string. 

8b - 1 1t (2n - 1) 1tX (2n - 1) 1tct 
Ans. Y(X,t)=-2 L 2 sin(2n-l)-sin cos..!.---'---

1t n~1(2n-l) 2 21 21 
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10. find the temperature u(x, t) in a homogeneous bar of heat conduction 
material of length I cm with its ends kept at zero temperature and initial 
temperature is dx(1-x)/12 

( ) 
8d~ 1 . (2n-l)nx (2m_1)2,,2c2t/12 

Ans. u x, t = -3 L..J 3 sIn e 
n n=1(2m-l) 21 

11. Solve the following Laplace equation 

(iu + cfu = 0 
ax2 dy2 

in a rectangle with u(O, y) =0, u(a, y) = 0, u(x, b) =0 and u(x, 0) = f(x) along x axis. 

(U.P.T.D. 2008) 

- nnx {n7ty -~(Y-2b)} 
Ans. u(x,y)= Lbnsin- e a -e a 

n=1 a 

2 ra • nnx 
where bn = ( 2nltb)Jo f(x)sm--;-dx 

a 1-e a 

12. Find the temperature in a bar of length 2 whose end are kept at zero and 

1 t I f .. I d ·f th . .. I . . nx 3· 5nx a era sur ace IS msu ate 1 e mitia temperature IS sm- + sm-
2 2 

Solution 

H " H . au 2 a
2
u 

tnt. eat equation at = c ax2 

u(x,t) = (C1 cos px + C2 sin px) (C3 e_c2p
2t) 

u(O, t) =0 ~ C1 =0 

u(l, t) =0 ~ 
mt 

p=­
I 

h b f2(. mt 3· 5nx) . nnxd were n = Sln-+ sm- sm-- x 
o 2 2 2 

Choose the correct answer from the following: 

1. O d · . I . rlz 2 iiz . ne ImenSlOna wave equation -2 = C -2 IS: at ax 
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(U.P.T.LJ.2009) 
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t\pplic-ations of Partial Differential Equations 

(a) elliptic (b) parabolic (c) hyperbolic (d) circular. 

Ans. (c) 

2. O d· . I h fl . au 2 ciu . ne ImenslOna eat ow equation - = c -2 IS: 
at ax 

(a) circular (b) hyperbolic (c) parabolic (d) elliptic. 

Ans. (c) 

3. 'rh tw d' . 1 h fl .. d a2

u a2
u O· e 0 ImenslOna eat ow equation In stea y state -2 + -2 = IS: 

ax fJy 

(a) elliptic (b) circular (c) parabolic (d) hyperbolic. 

Ans. (a) 

4 Th d 'ff 'al . 4 a
2
u 4 a

2
u a

2
u O· . e 1 erenti equation -2 + -- + -2 = IS: 

ax axfJy fJy 

(a) parabolic (b) elliptic (c) hyperbolic (d) circular 

5. The general solution of a
2

u = 0 is: 
ax By 

(a) u = ji (x + y) + /2 (1) 

(c) u=/(xy) 
(b) u = ji (x) + /2 (1) 

(d) u = ji (xy) + /2 (1). 

6. Th ti'al d'ff . I . a2
u iiu. e par 1 erentia equation -2 = -2 IS: 

ax fJy 

Ans. (a) 

Ans. (a) 

(a) hyperbolic (b) parabolic (c) elliptic ( d) circular. 

Ans. (a) 

7. Th ti I d 'fe 'al . 9 ifu 6 ifu cfu O· e par a 1 lerenti equation -2 - --+ -2 = IS; 
oX oxoy oy 

(a) hyperbolic (b) elliptic (c) circular (d) parabolic 

Ans. (d) 

8. The two dimensional heat equation in the transient state is: 

au = c2 (a
2
u + a

2
u) a

2
u = c2 (a

2
u + a

2
u) 

(a) at ax2 fJy2 (b) ae ax2 fJy2 
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(c) (d) 

Ans. (a) 

9 Th d · . I . ciu 2 (ciu au ) . . e two ImenSlOna wave equation -2 = C -2 + -2 IS: 
ot ox Oy 

(a) circular (b) elliptic (c) parabolic (d) hyperbolic. 

10. 

(a) 

(c) 

11. 

(a) 

(c) 

12. 

(a) 

(c) 

13. 

(a) 

(c) 

Ans. (d) 

The Laplace's equation in polar coordinates is: 

02U au 1 02U 02U 1 au 1 02U 
&2 + & + ~ O(}2 = 0 (b) &2 - -;: & + ~ O(}2 = 0 

(d) 

Ans. (c) 

The radio equations are: 

02y = LC 02y and o2t = LC Oi (b) 
ox2 ot2 ox2 ot 

!'l2 !'l2 !'l2· !'l2· 
~ = LC ~ and _u_l = LC _u_l 

ox2 ot2 ox2 ot2 (d) none of these. 

Ans. (c) 

The telegraph equations are: 

02y = RC Oy and o2i = RC Oi (b) 
ox2 ot ox2 ot 

Oy Oy Oi Oi - = RC - and - = RC -
ox at ax ot 

!'l2 !'l2 !'l2· !'l2· 
~ = RC ~ and _u_l = RC _u_l 

ax2 ot2 ox2 ot2 (d) none of these. 

Ans. (a) 

The equations for submarine cable are: 

Oy = RGy and Oi = RGi 
ox ox 

02y o2i. 
(b) - =RGy and - =RGI 

ox2 ax2 

(d) 

Ans. (a) 
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Applications of Partial Differential Equations 

Fill in the blanks in the following problems: 

1. The partial differential equation au = c2 a2~ is of.. .... type. 
at ax 

2. 

3. 

4. 

Ans. Parabolic 

When a vibrating string has an initial velocity, its initial conditions are ...... 

The solution of a
2

u = 0 is of the form. 
axOy 

Th . a2
u 2 a2

u. l'fi d e equation -2 = C -2 IS ca SSI e as ....... 
at ax 

(
Ot) '\ 

Ans. at J = 0 = v 

Ans. u = /1 (y) + 12 (x) 

Ans. Elliptic partial differential equation 

5. In two dimensional heat flow, the temperature along he normal to the xy­
plane is ..... 

Ans. Zero 

6. D' Alembert's solution of the wave equation a
2
; = c2 a2~ is ...... 

at ax 

1 
Ans. y (x, t) = 2' [f (x + ct) + I (x - ct)] 

Select True 'or' False answers in the following: 

7. The solution of a2~ = sin (xy) is - y2 sin (xy) + x 11 (x) + 12 (y). 
ax 

8. 

9. 

(False) 

a2u a2u 
The general solution of the equation -2 - -2 = 0 is (Cl cos px + C2 sin 

ax at 
px) (C3 cos pt + C4 sin pt). 

(True) 

The two dimensional heat flow in transient state is au = C2 [a2u + a2u) 
at ax2 01/' 

(True) 
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10. 

11. 

12. 
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02V OV 02i 8i 
The telegraph equations are -2 = RC - and -2 = RC -

ox at ox at 

Th d· . OV LC 02V d 8i LC 02j e ra 10 equations are -2 = -2 an - = -2 
ox at ox at 

Th L I I •• thr d' . . 02U 02U aU 0 e ap ace s equation In ee nnenSlOns IS -2 + -2 + - = 
ox 8y oz. 

448 

(True) 

(False) 

(False) 
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